i X DS DERRFAFEICOWVT

AEURERRAE £ 3N —V AR O 7 O8& Y X MMlld. HRAESHEH - OV X7 4 7 AT —EXD
BET S IN=YHYR—bRY b AND) VI ZEDAIAATHI LT,

HRIVAOBMBESEZI Vv I T5E T2 —TIH—YHYR—bXxy bOZEEBMOEED
MAEEY., WE77ELAFEOT 4 VEEIRRINET,)

HRDEBELHZIHEIF. AVCBEINSHEITEHIEHTETT,

BRIV R ON—Y

BmBESZI)VYvI95LE,
IN—YHR— b2y P DZHER
mDEEHHEET,

1
e e e ———— -4
1 1
Leccmcce e === 4
] 1
|
I i
1 1
| A
1 1
e ———————— -
1 1
becccccccceaa 4
1 1
| IRy - 4
] i
1 1
r=-=========< hl
1 1
Fe=====—————— L]
1 1
Femmm e ————— -
1 1
bemcrcc e e m - -
] 1
S
i i
1 1
| i ]
1 1
P ——————— -
1 1
e eee— e ——— -4
1 1
| S - 4
] 1
1 1
r--TTTTEssmms a
1 1
| A

¥IN—YHR— Xy FOFIBICIEEFTEROILETT,
FHrEDFFMIE http//www.sls-net.cojp/e-site/ ZHESE L TL EELY,

E0-1804 421-14172

am.sega.jp



am.sega.jp



maimai T5->< ¢ [EAF
iR EHBAE / 420-7651
BUREREBZE (IR DB Y E LTz, UTDXKSICETEWZLET,
& 5 & [ARHG OMIEBRRICT —REEEN
BERBaS
W% HRES HEAE /7 & B

il

— AR
600-6972-2500

<10EBHE>

® 16-4 BR. 7—ADEH OEEXZHIR

EEI— FREOT7 — G TEM LSS, ACIZ Y D7 —REBFICEHIE

BETOHEVTLREEW, ACIZ Y FDT —RAFAER LTl Ligals.
FE | EE1—- FRABD7—AETEMLEVTRETL., BIEREREEEDORREE
HUET,

U

v 6 I F | HEAE
Im 2R L TEt LIaa.
=L, FERRVPEREMFDRE L

i s
EE,/ﬁj I*Ij\]iﬁd)/ —

® "MOEFSITINVa—FTaVT1 DFSTIVYa—FT 14 TRICLLTFTZEN

WESTIWoa—TFTaV IR

FSIIVARE [RE R Uy P 3
2y FE VY OBRIEDR | 7 —XEMH TN MBD7 —AR T, #EZIToOT
bLLKGL IZEW, <BhEIR>

E0-1906 ©SEGA 420-7651-T1



®0E FSITIVYVa—FTa2T1 DS TIVVa—TFT 14V IRDEAIC TT7—RiF
lc & B &8

77— ARRIC K B

2y FEUYDBENBDO LLGWEEIR. ACIZY b7 —RABRIET —AKEZNBDT —
ARRCHERI L. BHILTLEEL,

VAR BRI ACIZ Y b7 —RBXYZ—BA L. 77— ARONERF @ L CHE
OFFTLEEN, RIS, N\RES, FEEZBLTIREL,

© ©
;1
.[EJ
N—x/
7 — RO Yoo

€ "M-122yFEVHREEEBRE=2—READFIR OFIE3 ZEE

BUN=TI—TXI5@ENL, 7Y PAN—FRUNLET, CDEE FrEXY
MMEIOD LED . LED 7—7, BERAEE DI EVELSITEELTLETL,

RO ZIE. 2IN—TIV—T7 I 5 @%EETRIES LTH S, TEAFFERL TAKE
HLTLIETL,

BUN—TI—T%Y 2@
M4 X 20, F. \REST

70OV khHIN—

BUIN—=TI—T%T 3@
M4 X 20, F. \REST
MRBITEEG & E A

420-7651-T1

am.sega.jp



® "M15AY FRYIv v I R—FDRH DFIES5 #EE

RYN=TIV—=T% I 5@T. 707 bAN—ZRIMIFTET, TDEE 2V/IN\—=T)b—
T2V 5EIFFETRED L THS TEZER L TAMO LTLILEY, Tl FrExRy
NMAIOD LED EAR, LED 7—7 EBRZE DT HEVKSITERLTIEELY,

BUN=TI)—T7 %I 2{@
M4 X 20, F. NFRESH

7O khHIN—

AVN=TI—=T7%Y 3@
M4 X 20, F. /\REEH
KRBT RS % R

® 21-1FvERY b ITUATOEMEEE
« [(1)MMT-0000 (D-2-2)J | TEREES 1408 ZEMLE LT
- T(13)MMT-1400 (D-2-2)1 @ TBEEE 7] ORPIBEEELTELE LT

(1) MMT-0000 (D-2/2)
TOP ASSY MMT
BEBS HAES HAE Bz
408 600-6972-2500 WIRE HARN EARTH ID5 2500MM
(13) MMT-1400 (D-2/2)
ASSY CENTER TOWER
BABES HABS Ha% i
7 MMT-1401X CENTER TOWER BOX
420-7651-T1

am.sega.jp

3



am.sega.jp



W
(m

s>cGalewlew

@ ERATSAIIC.AEZARL. AR ZEBLTHSEALTILEL,
OFGALHLEL AEMDELICEREL.LVDOTHLEETESLSICL
TKIEEW,




{FEEICDWNT

AEMOFRIEHAEIFEAHFR LY 3H0ATY,

MBOHRAEE EIHR S LEBLGERAKRA T, MREBABRICEELNEE LGSR, BN EET
BIELET, BESRELLEER. BRAC Y F%Z OFF L. BRHBAOEIRI— FZEY 5
LCABRHD BEVELER] FTERLTILEL,

TH. FERDOEFICOVWTIXHMRIDERRN (EERETIZETCHLEME) TY.

(1) #E. &K R BAEEORARAICLZES

(2) HBOETHIELG L, ROFBVEWICLZESE

(3) HESIRMFELORYICKBEE

(4) XEDIEET SREFRMN. EAXKMGICRLTERALLZLICLZES
(5) BHHMEEL TORWVMEREE (REDENM, K& ICXLBES
(6) fEREOHE. BKRICLBESE

(7) wEGERRRZR >l itk bEE

(8) AHEBUNDMDHEERICLBEE
DI D SRET 2T, BT HEEICLSRIE (EERDENG L)

(9) HEREHGEINZBEDLBILICKLBEE
7) wmAT. TV THE
1) RAYvF. K258
) LIN—, YaA AT7qvV%E
I) ba1—X%E
) R, Ry 7. /RUEE
7)) FITERERE LTAZITIEEDH 51

(10) ®HELANCELBRY FNT—UBE
7) IEEOR Y b T—08E (IANT—TIbe A4V FTINTRE)
1) Ei&. TONAEZ—REDA >V Z2—% vy MNRIB
) Y= N\—EERERLE

F—=IN=R—=Jby EBEAVTF VR REEWOBE., BREIIRIDERRN T,
BFEEDRIFRY @M (7Y 3Y) 13 AEREREBRBLREL S50 B &7,
e, AERDERAREIC L ZFIFIRKR. BEOEEICH LTET—EEZEVEEA.
TH. BEDOBOBGIIEICHE D T —2DHEKICOVTIIRIE L E A,

19A1




ALL Net RIFIF#E & BEEAHEIIONT

ALL.Net FIRBFHrE

A&, ALLNet DFIBHAARELERB T,

ALLNet DF|FICIE. BHRIICFAEDFHRENNE T,

FHExE LTOEVEEIE. TROEREE THHAVEDECIEETL,

BH. RAUGBEF—Fv 7 TESYHTT., MRRIEERICEEIEEENELSDT. VK
WTIEEELTLETL,

=R B AR AT

AE@II. EXEAFEEAZNONREMEL Y T, ARMZERT Silc. Bt & OBTH
fEEnTc MEXERFHEEAZNE ICREHOERFMZHEL TIEL,
BHEDBETRNEINTOEWEERAERZFERTEL LA, ERTETERERT 255G,
TEEDEEFTE CER L. BIEEAKl Y ERERICET H5FZIE L TEL,

EXERFFFAERNEDOERSFMHIE. TEDEY T,

B

- ARRIIBRERICSEWTOHESEXRERT 200D L, BATEALEVWT &
- AR BNAITICERT 5174, XITBATERERLE L JIEBANETT 278N DH
BEZENDORTTE LITWNT &,
c ARMEFR=EICHTI BB, BRCHZE AT BAICBM LA ZR/S L, TD
Ba. SRR klic LT, AV T b Z2EXEFERT SIcBEAN 5D TEXERHE i
BRERANMET 5 &
- ARRZERET H55E. BAICTOEEMICBHT 5 EHIC, BUNEFLILBEIE. B
RIARZRHT BT &,
CFEE TV N—BHBICGEE NV TIVF Y IN-EREDZ YU T IV IN-DMENE
K CREBT 2%EIE. HfclcEraRREZ I 5 &,
- BHHABEKRT 258, ELICARROERRRZ BAITHRE L, KSR ERRRZRT
DIEEEBLDHT L,
c AERICERT HENTEHKYRTT 50— FEOERLH5HBEIE. BHNEETSH
Z (REGEUREGAERUARLEEY Z 17 IVEFICGER) OHTHERATH EDEL. TN
DADBERICER LY. BEANDFETCEB LY LTV &,

Mk

(ERRST) MR H - 1> 250 747

HEsARoTH
T 141-0033 HR#@) IXBER/II—TE1H 1 5 ERFHERGH—T 2T —
TEL : 03-6864-6974

BTk E

T 532-0004 KIRIFABRTE/XFEZR 1-4-13 FGEX $TAMRE)L 3 &
TEL : 06-6150-5230

(D)



IZ a7 VDB

I =217 VDB
AEIXRET
<A
maimai T52K ¢
DRIE. EE. RF. =ik, B8, P, EORICETZEREZRL. BHRHLIEEDTY,

FEF. XEROFEE. BEEE. EEZFZNRELTVET, AEEAG L. TOICERLIcE
TAMEMZEFERALTLEY, &l REZFARLHED. ZERDELITREL. WO THLER
TEBHLDICLTLIEEL,

VI b IT7ICEATRERIEV—EARZ 27 IV ESRBLTIREL,

REDRHBEY ITMERZTD TEHNTERN TRIFERGHENFONGVHEIE. BKilTEUN
DHIFABPY A7 LITHENICFZAN Y. REBALTIIAZRHD [BEVEbEE] $TE
BLTLIEEL,

HHOEE RROBAKBEDRICIT AZERD IFABMEREKES] iy T —EXEmEXE]
EELHL - REERERES) ICWEFEZICALTFAX TEELTIEEL,
FEZMRLIHGED. [T —ECAB@INE] TEINITBDEAFTELT,

AR ZEBE. Htd 25AIE. FESIUEABRICEAET S 27 IV ERMILTIEEL,

* EBNBIRBOLS, FERCEET 2HA5BY £,




iv

=27 VDB

ERRICTOVLT DA

FELFVYERY MERRL TV B ESRTROEKRPIEFEZ TDICERL. AERZELLZ
FIEALTIEEL,
FIOIRZEY 28R BREDEEICKY ek MEE) DR 9800 BHLTVET,

A f5 g | CORTERALTHRSARLET B, ADRCEERIBERS BRI
E PR | pimpcEomssERLT0ES,

& e | CORTEERL ROV BV ET B L. ADRTEIFESZR S AlREN
B | AHERNBEERLTVET,

CORT2ER LU CROCBMIVRWZT DL ADESZE S EJREES K UHHY

iR

A E & x
x B | mronensssnasn LTS,

FEMEREICERT Bcdlc. TEENDKLSBHESZERALTVET,

MREIRIZRLTCVET, HEDRKICEWC REBDAREEEZRLTVET,

MBEAR] ZRLTCVET, BEDRKEICEWT., BRICLZBEDARELZ
mLTWET,

fi MEEAHER] ZRLTVEY, F7LGETEPFNFENZ ZLICK O TR

HEEDRRMZETRLTVET,

M2k ZRLTVEY, HEOWMYFZWNMEWNT, LTEWNWFGEWT LZRL
TVET,

REBHT) (T—ABT) ERLTVET, BEERETSMITETT—X
BERLTCREL,

FETRASSEHROMNBEESRICELEGVEZLGBERIE. TEOKESZEAL. BHE LTV
3

AEmZERE, EE. RIRKRT S LTCERGZATZRLTVET,

O

£

el

19A2



IZ a7 VDB

[ESHAVTFHFVAR Y, &g (W—EXAIY) DESR

A &

AELZHDIERRADGED T EHA VT F VARV L THifiE (T—EAIV)1 H
EET 2L S IHETHHBERDP. FAETIFHAL TOEWMERIE, HFEPEMHEL
BIRITOEVWTLIEEY, BRE, BEOREEAZYET, MEPRMZFIOAHVEN
ZER. REDLHICHBBAXTIIEZLHD TBRVELEER] ETERZKE
LTLEEEL,

N\ J

ERELASHE, [RFEIR. BEEEBONNL. [EEHA VT H VARV ERIGEME (T—EXY) BT
TLETY, AETIIEICEIEEIEEIIFEFIMNENBRET T 2EME (T—EXTY) HMT53L5
IFERLTWEY, REIFEFHA VT HF VARV ERME (T—EXTY) ZUTOLSICERL
ijo

[ERAVTFVARY

T7I2A—RAAY MEBCEBRTGHEGEDA Y TSV ADREZEE L, ARGORBEL LUEER
EDEEDL LT, 72 1—AA Y MERNEBERANTHENICHEDRE. RTFSKR. 1=
b ASTEFERRmRDATH G £ 728 U B DRTERICHE DS A,

[EHAY TV ARV DTHRE
7E 2= A MR EBIRHG CORE, RFMIR. 12y M OERBROIIR,

Bifig (F—EZXATY)

722XV MEBREEA —H—THBORET. BE BRE. AVT T VAT -ERITEDD A
TESFFIREXLAFULOER. EF MHITFICREITI2EMNAREEB L. AENICT I 21—
AR P HEBRORTEEPEERICEDD A,

Kifig (F—EXATY) OITEHRE
7I21—AXAY B CEPRTHE EORE. EX. BEF. BAEmOEBES KURE,

19A3

\"




Vi  =za7vosn

FEDREICDOWT

MRS

FETRRPICT 7 A= (RIF Y MESGE) PRI Z—DIFREZ FTEDL D ICEHLET,

REVEE 3B
BEH XV ICHEHIHPAENT
WBTEZEHKRLET,

coogy Y (B) 11E

________________

________________________________

M4 X 8 E. N\REER

________________________________________________

MR R %
RIOBES T BN
FRLET,

HAAETNTWVWBES

INXEE

AxTZ— 31E p
XA3P 7 [SATL] (2 1E). YL6P
Wil salls \\\\{

XV 2 —DEMFEIFEZ T OEBAS
¥ ARV 2—ICMFLHHHE. Tl
&2 T EDIZEDHEH

AXT2—DE
¥ ARV Z—%R>THERT HaTReM
D& BIHEDIHECHE

AR Z—DEVE

BRE I A—H—%

IN—2 3 KR5S

TARE—FRICRREINZ/N—Y 3 VREISKRETHREHLTWVWET, VIbDN=T 307y T
AT AERIEAI v —IN\N—TI 3 ERAF—NN—V a3 vDHFEHE LET, V)—X/NN—I 3
ISEHOBEBESTY, V) —AN—=IJ 3 VOBRHIBELGBEIIARELZHD HEVEDEE]

FTEE LT T,
(Ver)
VER. x. k. %%
AT v —\—T 3> RAF—N=Ya>y YU—RN\—=I3>v

QHDBELHYET.)

19A4X



<za7ILo@n Vi

ERTAIEICDOWNT
ARBTHEALTWER 77 A+ —8 (xI, Fv b)) I TBITEICDOWTIE. TEEOXREER
LTLIEEL,
W7 7 AFT—5EETEOHGER
77 AF—DiEHE Wisd3IE

SRR (M3) TZARZAN—1%

S XA%Y (M4, M5)

|

Mm%y (M3~ M5) M | 7ZRRSAN—2%

*Y (M3~ M5)

(L

N
BUN—=TIV—=T %Y @)))))))))))\ BYN=TIV—TLVF
=

AETUSRIL b CED
v a AN 0)
AATEEERRL | (0D | ~BiEL YT
A G P2 )
bz D
AERIL ()
AT b

Vi LT

Ry & 2RS4 13-)
*0wTFy b -
7539F v b S

MANABLYFEVT Y MLYF (RYTARSA/N—) ORIGT 2F4& & HAEREE. REDOX
HERESRBLTLEEL,

19A5



viii

=27 VDB

WSAIEL Y FONEER
T EoxhDrExEE

RIE | NETUTEE | ABTTEER | ABRERE Y .

INBTARIL B FILk FIU K FILk ESHRY
M3 2.5 mm 2mm 1.5mm 2mm 1.5mm
M4 3mm 2.5 mm 2mm 2.5 mm 2mm
M5 4 mm 3mm 3mm 3mm 25 mm
Mé 5mm 4 mm 3mm 4 mm 3mm
M8 6 mm 5mm 4 mm 5mm 4 mm

BV Ty bLYF (RyIARFFA41N—) ORHR
s T Eox:nREsEE
’ AAER NAETF b FrwTF b TS5V IFw b
M3 55 mm
M4 7 mm
M5 8 mm
M6 10 mm
M8 13 mm 12 mm
M10 17 mm -
M12 19 mm -
M16 24 mm -
papvliErs o
‘ ‘E!!’ ( C:b

19A6



RZa7 VDB

HBmJ XA FDRE

XmEEpERD RS

HMEBmEEIE. 12y b @eiESEIEDENLD) TEDBRERLIBERTY.

i(1) XXX-0000

______________________________________________________________________________________

! TOPASSY XXX

(2) XXX-1000
ASSY CABINET

3)
— (8) XXX-1100
ASSY GLASS DOOR L

— (9) XXX-1110
ASSY GLASS DOOR R

= (10)XXX-1330
: ASSY BILLBOARD LIGHT |

— (11) XXX-1340
ASSY SUB LIGHT L

— (12)XXX-1350
ASSY SUB LIGHT R

L (13)XXX-1400
ASSY XFMR

COEEDIZ Y biE
[XXX-0000] |(CHEFIAFE
NTWs1=Zvy FETY,

___________

___________

_________________________________________________________

=]
O
U
2>
0p)
0p)
_<
X
X

_________________________________________________________

XXX-1001
ASSY SUB CABINET

XXX-1060
ASSY SERVICE DOOR

XXX-1300
ASSY CASH DOOR

XXX-1310

ASSY GLASS DOOR LOCK L

XXX-1320

ASSY GLASS DOOR LOCK R

COFmMBOIZ Y X
IXXX-1000) |THE+IAE

ncwasiz=yv rE#TY,

19A7

fl\

ix



X

=27 VDB

2=y FOEIIKDRA

(13) XXX-1400
ASSY XFMR

/201101

M
T

TR TREES 1] O
ez T8 ERLTL
5LEVSTEERLTOY

e
A
AW

6/
VAYVALYA!

W

AN
\

£7.
BEEs BaBS GRS "%
1 XXX-1401 WOODEN BASE XFMR
101 560-5523-V XFMR 100-120V 100V7.5A WB V
201 000-P00516-W M SCR PH W/FS M5x16

19A8



<za7oEn  Xi

F—Fv 7oV T

F—FvTDIIT IV IN—

F—F v 7Icld. ALL.Net ICEBT 2 BRBWVEDOEDORICHEELEED V) T IVF Y IN—%E&H LTV
7,

PART NO.
/
E@mES | SERIAL NO.
/
SYTIVF V=

F—F v TDRT Y H—

F—F v TOWMYMIHIE

F—F v TORYMIFIEIFTRO®@EY) TY,

F—F v TR RIS AE

ALLSHX2 (A—IVRA A FIT VI RAY—)

am.sega.jp



Xii 8%

B R

REEICDWLT i
ALL.Net FIFIFHEE & BEERFEIIOVT i
R =217 IV iii
EERTITDUDTDERIA ..ooovvvvvrrsssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssss iv
A TF YRRV, FlliE (F—ERARY) DEB s v
FREDRETITDUN Trrrrcrrrrrrrrsssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssss vi
FEFT B TEITDUNT o vii
EBER ) R R D BT ctissssissssisssssisssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssns i
F T U TIEDUNTseeererrecessesssessssesssssssssssssasssssssessasssssssessasssssssessasssssasessassssasessases Xi
BR xii
B wndi 1
1-1 FEER oottt s s s s s R R n s R 1
12 BRI st 3
13 BGBEES LGRS oot 4
B) mvmetoizs 5
REBFOEE 8
3-1 BFBEREE ot 8
3-2  EEETRDFUBR..ccoorieereeeeireieiceseiseiserstistisssssesssesssessessesssessstassssssssssssssssessssssssssssssssses 9
B E=mons 10
B FEEEDER oo 10
4-2 BBEIRNAND IEE .ot sssssssssssssssssssssssssssssssssassssssssssssssssssssssssssassssssssssssass 13
B «=xns 16
B == 19
6-T  FHERY FOIFILT cricrictisicsissssssssssssssssssssssssssssssssssssssssssssssssssss 21
6-1-1  FrERYMIPEFVYERY B 2P DEEE cooorrsisesssiannee 21
6-1-2 TL AT —HASTDELY (T erererrerrerrssisssisssssssssssissssssssssssssssssssssssssees 26
6-1-3 ETVR = FDEU fFT oeeeeeeeereieeresiseisessssesssssssssssssssssssssssssssssssssssssssens 28
6-1-4 YA FAN—EEIVR—FRY TDEDFT eerrssssnssssenens 30
6-1-5  F—F Y TOEUI T cctctcticssssssssissssssssssssssssssssssssinss 33
6-1-6  JV—F =2y FDEU T cocscsstsieiessesssessensennes 34
6-2  ERBIBFINANDEITE ....cocvrerrernsiresssesseissesssssssesssssssssssssssssssssssssssssssssssssssasssssssssssssssssssess 36
6-3 LAN 7= T U DR oo eeeeereeeeersensecssetssesssesssesssstsssesssssssssssssesssesssssssssssssessssssssessssssssens 39

E0-1905 420-7651



631 1 B CIR BT BB oo seeeeseeesssssssessssssssssssessssssssesssssssssss s 39

6-3-2 2 B O B T DI E ceeeeeeeeeeeeeeeeees st et s st s s s s s s s s sas s aenanans 45

LT L 45

N N B AN 47

RN 3 )Y -2 49

R & 2 NP 5 O N 53

R B G = 3 54

6-5-2 2 B I B T DI E ceeeeeeeeeeeeeeeeeeessseesssssessase s e s ees st ses s sas s nenanans 57

LT N L 57

6-5-2-B T T A T Moo ssssnsseee e sssnnnneeeee 60
ty b7y T 62

7-1 BB IBIEIB D AT Y B 770 T eeeeeeeeseeresesesessssssssssssasassssssssssssnsasassssssssssssnsasasassssssssssssssasasae 62

y 2R IRt 62

YA TR Ly BN T2 = 62

AR TR = 63

T-1d BBBIDEE oo eesessse e 63

7-2 R DAY R 770 T eeeeeeeeeesrsessssesssssssssssssssssssssssssssssssssssssssssasssassssssssssssssssssssasassssssssssens 64
B samons 65
B =i 67
10 IEPEES P2 69
B zat=s— 2vF€o9. AvFEIYry Y 72

TR T T 73

R R R R Y &3[5O 73

11-1-2 Ry FLEUHERERBEZZ—REDIBR coeveereereeeneeeesesesssessenns 74

112 FREE T B DTHEE oo eessssssesesssssssssseessssssssseeessssssssseesssssses e 79

R R [0 TN Y2 o7 S 79

1122 FBEETTTE e eessosseseeessssssesssessssssssseesssssssessesessssseesesssssssssssessssssseeee 82

113 FRBE S B DB eeeeoeeeseeessssssssseeesssssssssessssssssssesssssssssssessssssss s 86

114 B T T LT P ORI caeeeeeeeeeeeeeeeeeeseessessssssssasssssssssssssssasassssssssssssssnsnsasssssses 89

RN S ST E R & S X)L v - S 92
(12 R 94

12571 BT e eeeeeseeseesessessessessssssssesssssassassessassnsesssnsenseasensenssnsensessenssaseassnsssssassssssssssssssssnns 94

P I XTI &L b S 97
(13 JEESZA LS 100

TR T PR 2. 5 X b 3 101

13-2 JA4VELTZ=DEII AL tissississsssississssssissssssssssssssees 102

B

Xiii




Xiv

B
133 TA VHLY B DB o 104
13-4 A VFET ) DXFWcereserrriresersesessessessesssssssssssssssssssssssssssssssssssssssssssssssssssses 105
B o-ru—5-nx5 106
141 D= RV =H=ARXTIZY FDIH i eeerrrrssissssssennnsssssssssssssssssssssssssssssssses 106
14-2 AR TR = FDIEIR cooveeerererrrnesessessssssssssesssssssssssssssssssssssssssssssssssssssssssssssssssses 112
BB »-rzvrv-oER 114
B svrv—nxs 17
16-1 T s 117
16-2  BTHETTIE oo sssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssses 118
k21— X D%k 122
) Ausuxe A—pz2 17Ty 52Y-) 126
181 ALLSHX2 22 FOELY T Lo 127
182 ALLS HX2 DR oo 130
183 ALLS HX2 ODZTHE oo 132
m ZEMIT ST b 134
) 7o ma 135
B sauxt 136
211 F R Y P o 136
212 JUmBmF Y P oo 191
HARSE 193
B=HETIRE 197
ShESRKIRSE
Y —ERBBmAENE

FELHL - HpigE K8@E
HHAVEDEL



wedg 1

B &Eatix

W R
N TiE 2,021 mm (f18) X 1,342 mm (817) X 2,199 (8%)
XETET Vv AZ—EBFBMETEEREHS 5mm EH >4
HE 322kg
HBEH. RAEH | 406 W, 45A (AC100V. 50/60 Hz)
BMEIRIR SRR 1 5°C~30°C. BB 35 %RH ~ 70 %RH (EEHEET &)

AEmITIE. BREROEBREHEICES LIcERBEHRSZRHE L CVET., BERENTIXER
TEEHA

N BRER)

2,021 1,342

2,199




2  mRiE

WEREMNI=y FEETE BHE

&M f& (mm) | BT (mm) | && (mm) | EE (kg)
FrEXY 1P 1,038 714 1,940 153
FrvEXRYF2P 899 714 1,940 130
EIWR—F 1,850 574 273 24
NTE (GRERD)

1,038

1,940

FrExvy h1P

899

1,940

= 7= ) = 8
FrEXY M2P BT [mm]



T (h

1-2 ZEBDA

AE—#H—1P EIVR—FRy 7 EILR—F AE—H—2P
— N
\‘\\ /
—_ — \
FLAY—HAS -

/\\ ‘\
= / ‘ HYIEZ2—
. i \ 5 8 —H—
= N A EDN—T 95— 2P
LT hRZ1P /“\N N o =
4 }(//77 ‘ \\\\

/ LB

LU FR& 2P

2y F2Y

Ty I

d4 AN

By FRH—FY—5—

AV FET
AL VEZR—
(FEEZZ2—)
N A2

N H—FIvk)—
o—77—2P

YA RAN=TD2—1P

Ny 7 K77 2P

LT

N, %
Y4 ] e

Ny K77 1P




4 wmaui

1-3 HaREES LERMIERT

BAREIE. HRREES (VU7IVFYN-) BLUBRAKRZREELTVWET, HalEES
IHRMOERESZR L. BUHECOLEERMCERSRIRESHEELHYET, BHAVLED
ORI HREHEERS EMERZHRO L AZEHD [BRVEDLER] FTERLTILEL,

=i

=
g/@

o]

=

A il

BERAERET




O HO EDFR

2 DR RN )b

-

N

@ AEDHETEY ITERPHRZTOTLLTL, 5@V IiThiLheE, BREGE
DEHR. BN GWHEOREREGYET, Tk EERICEERDNEETSEEH
HYVEY,
ERIIRTERZT>THSITo>TLIEEL, BRE, B KKDREERELGVET,
BRZ ANTRETHERZTSHE. FFRTHALTWVET,

BRI TBRAIKREELLEVWTLREEL, RE HEOREEEVET,
WNEFTERTSTZREELLEVTLRE WL, BRE, HEORRELGVET,
Ptz @R EICEBH LGV TLIREL, BOVT RE BB AKKDERELZY T,
PRI L I EeiR7Z T 9 BIFRIC IS EHRIREE A N\ —Z AL T EEL,

RO EICIIZEBE WY, B Y LEVLWTLREL, BRE. B, KXDE
HEBWET,

REREIRERICERI—FZ3| 2RSS GVTCREL, I-FMEDC &L
RE. ER. AXDRHEEBTVET,

ERI— FHMEOVEIEEIE. RaBAXTRIAERED BEAVEHLEE] <
RPEEBELTCEEY, ZOEEFEAT S L RE. KE. AKDODRERREGVET,

7 —ABOEMIIATIToTLETL, BEYICEM L TOEWEREDRRA LKW
9,

ARV Z—KFZRHFo>C REELLTLLREEY, ORI Z—FEUNDERS ZHF
THERTBE T—71EQART 2—FEEZBOF. BRE. FEik. KXDEFEH
EBVET,

ARV Z2—ZEHETHEEIF. IRV Z—DEBECHAEZREL. BERICERELT
CEEV, ORI E2—Z2HEHEIBHRAERE>TVET, FHERICERZNMTS L.
37\79'—'\6ﬁ#‘ﬁ¥$§&£%6&$ l./-z-\ E:.Z'%E\ %E'%g\ k%@ﬁ&&b) i-d_o
BSEEOH LSS ICERL TR, MR, 8. AKORALEYET,
fefRERCofcY, B2/ W LEVLWTLRREL, BRNMBETHE. S X
KDER LTV ET,
BEUNDEFRICIFMNGO T IREW, BRE, EiR. KKXOREEGTYVET,
T77RAF— (RI. Ty bl BeEE) ZHMRLGEVESITERLTLEETL, &
BEOT7 7 AF—H@ERIcHND L. RE. BB KXDREELGVET,
B, WRLIT 7 A5~ (3T, Fv b B8) GEACT. FBIEEDT 7 2 F—
CRBLTREED, Efe, 77 AF—EHELIBAR. ABIEEDT 7 ZF—
ZERALTCREEY, BEUNDT 7 AT —%2FERAT 5L, BRFEEREEDEHRD
FEREGVET,
@ EERMEMYMSBARTROMCTEL T LEL, B, BRET. BEEK
DEEEEDET.
- BYICEBROABZHIZ T REWL, —ADEEEHZZSHEEIFN 15 kg ZH
RICLTLEEL,
« BofeY, DETUVEY LGWEKSICRTICERELTLIEE WL,

5




6

DR EDEE

T

][4

@ H#HEE L TVEWMIREE EFEEDEM. B8E) B IToEWLTLEEN,
- RBRE. KKODRERRAELBVET,
- HEOERAPICERECABRDANMMARRZECIREREGVET,
© BHARTHEORRTERDHRE LGS, BHRBE=ZE\ORESELSH—
TnERZEVEEA.

@ AZICRHEH L VERPEmMXBIE. FRORELLGY T, ABITRHEHELME
RZT >0 ENECTIBEIR. RaBALTLIEIFELHD TBRVEDEE] I
EREEBELTLLLEL, eld. EROFHZRVEDETIREL,

@ AERHDOEHRRZELTToTLLEL,

® VFD ZRRY RSB EIE. BT EEFEZYI>T1 BF>THLSMEEZITOTLEEL,
RE. E&. KXDREEBTVET,

A xEE

@ Z2IFRIBEHBIERICELIRETHERLTLLEET L, BT AHZCT
Blc. FR BREHOERZHELET,

@ MmO, B, WA LEICFEPIEEREGOLSISERELTILEL,

@ FvEXY FRDEREZITSIHBEE. BEZLDIIFY. 5lo0FkY) LTEIS
TRENDHEDTEELTLRLEL,

® AR, T5RAFy VRO BWITERELTLLEW, B@EHOBIEL. KA.
EEIRK>TRIBEIBEEHHYET.

® H5R. TFIAFYyIHBRDEED L ER., XI. T v MEOKDHFFBEITE
BLTCREEL, BRHSBEL, WA, EEICK>TEETSHEHHYVET,

@ G5 ARMBRISERDEEFICEHIREHVLETY, BEICIITHITY. REWMH
HHEPNAGENELETVBEICEVYTSE. BETINT, BROWAE
ETRIBETRHZEDHIVET,

® VFD ZEW /S HEIE. FREFEALTLLETL, FHPTHDRRLLGVET,

N\
@ EHRR PR ERIREITIHEIE. FEDZIEBAZEMICBRL, K#EGT
BEVvEEZ#EmLTHOSERZITOTLEEL,

BE | @Ic f— FOBEBRERTHENT TV, BRAOHUEEEDPEEAEFER LS
Wl K FERIET BBNABY ST

O AMEDBHESUC LY ICH— K LOBFEBRAWIET BENABY T, ICHK—
REEYIES (ELFICE T NELREICAN S 5 EDMBETL. SN
BREMELTEEL,

@ ARRDFEABRDPICIT. FRAEFBITHET. BETNTVEVERRELHY
¥9, INSOFWEDB A —H—DEEICEK > TEREPLUEX IR EEICE S
Iimald. ARMOFRIHEAEAR TEH, EEPTIMKEICH LG TERWZELDH
DEY,




T OF (AN=0Y: 5= S

@ EEFEICEIRRA A FD ON/OFF Z# V) REGWLTLIEL, KPR, BRamikiE
DEREBVET,

BE | @4LhTrzF— (Y. Fv b, BEHEE) EXrERy FRICEE THL
ESICEELTLEE L, S BEREOREL Y £7.

[ Zlii'zlﬁ':ti BREZZ2—%ZEH LTL\iTO B@REZZ—EEIFEDEPTL
DT, FRIITFELTLLEL, <11-12828>

BEERTOEFENTDONT

Fv t‘\?\“/ Ml BERDBHELEDT S, ETcld AV TV RIERICED S ERZ R 5128
DEHERTZE LTVET,

@ﬂ: TOENTCY . BERGE LT Fofamald. LLWEERROBmMmET LT
‘SL\O

° GEEZEE °

BERELEHT R PFLES— ALY
mq;{»aﬂm

DA Y3 EEN, - ® -
e iy - SEGA -
~ g JRi LISk 71
MMT-1030
. J
= 440-WS0002YJP
° ° ~N
. = H
. ——n
\\E
4 BETamRrnyET
E & o, 1’F¥ﬁuk(i£?’
\L ERaG-oT<EE,




8

REHADIE

B SREISFRDEE

e

H€H
[=]

A

]34

AURGBRATT., BANGREBLELTIREL,

£fe. BATHTROBFHCIRELELTREL, BB AKX 75, BEORE
EBVET.

TRY. KT BEF. BRI L. Vv T— TA—2—T Iy b (BEKKRE)
DRDs EBEDE A

- EHBXOURBET P, BEREDE GE, BEORER

L ARAABTRT HIF. BIAME. BREOBVESE LR BRIOETD

- R DB

ERE. B, FREGH

- fRENODH L LR

CIEROL HABR EPKRHORD

- BYFRBEREOREE B 50

3-1 fERS&H

e

~

g€
[ ]

A

34

@ EXMUHRZLITHBLTLILETL, AERHREBFADER. EE. FARBICER
LTV BHLHEEE LT LTV, RalcldBRMARZR LIc#RZMYMIFITVET,
REZEX[MMRTHEAT S L BRE . AKDEREGTVET,

REBAAAOREE LTARBADTL—H—ET7—ARIBHBETT, BHTHE
ALGLE, BE. AKDRRELGVET,

REEMBREZRALCERZERTERALTLLTV., FEEHBOLGWVWERZER
T3 RERERICKKDEREGZY T,

RAREMRILGEVTLIEEY, BEFEICKSHHA, AKDEREETVET,

ERAERANRRIUTOERSETHH LT, RGESERIMAKRTERT S
& BRE. KKDFERELGY T,

- ACHE 100V (50/60Hz) 7ALLLE

ERI— FZEATSEER. UTOERUEDI—FZEFERALTLEETL, BE
ERISHGVERDI— FZERT 5 L. BRE. KXDFRERLELEVET,

- 7ALE




REGRADIE

3-2 EEEHDHIE
§
AN & &
£\, ABIEEE

@ AHRDEEEHEIZ. REW23 m. BIT1.7ImZRERLTLEEL
A, BHR3E=ZENORETELEH—])

DRWEBECEZ LTERDRELLS
DEFZEVE A,
@ XEGLDREZFORETIIRIE23 mBETY, EERETLIVEWSGE. BH. X

I

-

e, MROREHIGEVTLRREL,

KDEREBY) ET
@ KREEEDBREAN—RAZRITTLEEW
FHE, AKDERETVET,
O NEZEE. EXT 5|3, WaOmMEER. BRAERUMIT LA/ Y—HOm
BOBETT, TLAV—1TADERETEHE 07T mESDOEBEEZRRL TLLLEY
T LA RIERE LI BRICEERRZ 53D % L EEEHDREREGV E T,
J

S
0.15

Ef

K

0.15

0.3

1.79

BAfYT [m]

0.15
23

1/100 XImE
17100 M@ 2~ > a— R4+ b (http://am.sega.jp/) ICBELTWET, 4o >0O— KL THIA

LTLLIREL,


http://am.sega.jp/

A\ EB&

Q@ BERDNEERTZHRGI LD TESIRAT CAEMZRE. EELTLILEL,

BEERTZHROLEVEE. SRORREGVET,
@ VIV ARZ—DETEMLTVSIHERELTLILEL, BHLTOEWE, FrE
v FOBBLTERORRELEVET,

T v A2 —EM

@ AHEMDLEICEEYZEHLHEVTLLEEY, BT LTEHPHBRBIEOFER LY
Y,

@ FAERDLEICESTWVWTLIEEL, BT, G LTERORRA LG T, SFAER
NERBEER. BHBEZRAELTIEEL,

® 7. AN—ERmIchEE. BRI GVLHHEEELTREL, BREDRRAELEVET,

@ XEGBDEPEADICUTDESGLEDEZEIHZVTLLETL, BRE, ER. XD
R DRRET Y ET,
el KEAREK, v 7. K. (bkEm. BERPKGEEDA- AR

@ FEMIIBAXENTOHMEALTLLEWL., BREANTERAT 5L, FHPOHED
REEGTVET,




ez 11

A x &

@ EHMIEDfHIC, REZFADEMEZZRE L CEYGTBAEBRERLTILEEL,
IBRADIRLN & BERSMUDA L, GRLTEHP IS TIVORRELGDET,

@ HEFHDNEZMNSEFRIIERFRKL. ARICREICFAPLEGLEREVLA R
BRLTLKIEEW, FAGELDB L. BERDVABTIHELHYET,

@ FvEXY MESMRICREAPAZ DERGLD. K<CHEELTIEEY, BREPAH
ROEDHBESBRDFPIEZERH;. BIETEHEDHYET,

@ 2TDF7HHERICHEETET. AZD2ERGVHLERELTLLEY, F7OREE
DPARFELTHB. FT7ICREPHZOELHBE. TLA V- DBFRIEERTGER
PEEEFRITIERLELY T,

@ I FAO—UNRIVERDFRERIC, REIICEPEING EZGWVD. BERY DEH
BREVWHARBRLTLEETL, BPEN. XVDBHDHBZEETLATEHE BF
BOBIETBHEEHHVET.

@ F—DBBIREAT. [AFHEL GO cBFRD. MBETEBRFEERITTLLLEL,

@ BRERE-_Z2—IIENGRHRBZITOTCLIEEY, BEADFSVF, EHLHEZREL
FEEBELGVWTLREEY, FEVGRZEDEEIR. SEXLOETVPEELE
DFEARRZRITEREGZWET,

@ BSERDTIHFERLTLATES LS I TEFHE) GEEZAELTGEELT
CIEL,

BR | @ 7L v—HaibE TLATEBESIT. TLA T —HEERMNSHHD
SERERTL T T,

@ I VBRAOIKEMZANSONBGEREEZINTVWE LT LADTELRLEL
BDT. ARLTLEEL,

@ THIMICH—N—XA VT F U RAETVET, AT+ AEBRO—ERREH
SAVTFVARRT—LTLAICHRID DV ET, TLAV—¢DFST
IWOBNDBBDT, FELTLETW, Y —IN\N—AVFFVADST—=LTL
ADEIPRICDOWVWTIE. Y—ERARZa7IV M7 H—=N\—=AVFF VR &L
BLTLETWY,

O FAERET 5 &, RE LIFABERRIICETDT —LZRT LTV e fedblc,
BRAGNBRENBEEL T, WEKESB LTIy E—IRTLETH,
TLAY—LD S TIVDERNDHBDT. FAENEROEEEIC DV T
BRELGEETSESICLTLREEL, BELEICOVWTR, Y—EXRZ2
7V -8 BAIERLIE ] ZBBBLTLIEEL,

@ FAERELGZVWCTEET 3HEIE. BRZYSLEI. TLAV—RBULELD
THICHEELTLIREL,

@ AM7:.00 ICTFENR THNITEETHEHLE T, TDEFE. BRLTNEBEED
BEETT, WMEBEENBTICAYE—IRRLETH., TLAV¥—LDF
STIVDBNDHZD T, BHBERLEHUIBEFOMEEIC DODVWT+RICEREL TE
BIBEIICLTLETY, BEEEHLEICOVTIE. Y—EXRZ217Ib
M-9 BENERENLIE] #8BLTLETL,

@ EXEBRERNICH —N\—BDAAL VERAAL Y F%& OFF LT BIH5EIE. DI S
ATV MEICTL—V—DOEWT EEREELTHSITo>TLREETWN, X1
BRAAYFHEOFFICT B E, RV FT—V@EDTELGLRYET,




12

BEROIE

@ —\—H U547 MODIBICERZANTL EEL, 5T —/\—
DEFEEAND E. ERZRY FT—IHELLEHELGWMEERBY T T,

@ 2y FL U HRAEEDFEWVESHIC. 2y FE U YRAIICEVED DR
fets, NUikE) ZHTRY, B LGEVLWTLEEWY,

@ ZYyFL U YRAICAT Y H—HEEXBYMFIEVTLIEETL,

@ TLADIEIENY FRV Vv v 7IdIREEZLEIN, ELB2ICHRDNY.,. Ef
TNRYIBRENDBYET, EENIICAY RRVIv v IDHBADTAMER
L., SRLTLETY, <Y—ERIZ27Ib 41 RE—H—FA P &
> . y

Y RRVI vy




Eamorz 13

4-2 BEEFENDIE

A\ =&
@ THEHUEETLATREVTLREL, BHPAHTIEEPBYET,
 HOBERTICRT BITART B
CREELTWBR
@ AWED LICERMVRINGLEEBIEOL S IIEELTCRTL, BTMICE
BERRCENAIMEEIC L ZREOREE GV ET.
@ FWROMOMBY K7 DMIICERIE, BMEANGLES IEELTREL,
BE. k. AKOREEGYET,
@ ALRICHUHD D, BEEEDTARLESDSESIIBLTLEEL, &E. &
TOREEGYET.
@ TETSUERIELESIEELTREL, BE. ER AXOBREEEYET.
@ JL A V—OFETAR. REDEHICEHSESITRELTREEL, FHOR
EEEYET.
k1. BREEPER. BEFR. BRGNS TLOBRNSBYET.
- ALRAIRIERITA
- 2 \TERIUS DIBFRICE 172
BROEECTA
FrERy MRBMEE T4
- ENEREEETA
C FLARITT LA Y — U DB MRIEEBI AN 5155
DB EROE TR BENEEL T4
v PRy MEMETBTA
CRBESZ—WITLINBGE, ERATEENSTA

A EE
SABEL G RAICREROBRERII B &> ICHHTFEEL,




14 ==mons

Oy FRVRT LAY —DEHEEETERAWVLIEKEZBAR L TDEEZHE
LTWEY, BRIEPEHGED S TIVHRETHENDHIET,

@Y RFRYIV vy ZITiE3NY FRVUNDERZERLEVTLEEL. Ay
FRVUNDHEBZZGE LGS, R— FZBIET 3B/NHHYET,

Ll /

YRRy

N

Aime XGA— FE K UHEFEFEICDOLT

REGDT LA Aime SIS — FEISEHEFDILE T,

Aime WIGH— FELIFEFERZZERA TSI LT T —LOETRAZRET DI EHNTEXT,

ARG TIELUTD Aime i — FE S UCIEFEFEEFER TSI ENTEET,

s TZa1—RAAVMICA—FRBICA—F

« Aime A—F (77XZa2—XAVMICH—FHIG/FERRDELSEHFEZET,)
+ MJ MEMBER'S CARD

« #1E X 7 Project DIVA Arcade Access Card

¢ RFIRE— b H—F (FZ2—XAY b ICH— FRIS /BRSO E B 58
2ET.)

© BYA T — R AHISOREEE

WUTDRET LA ¥ —ITBR L TBE LT L

© Aime HiSH— FEITVEFTY . B5 LY. BEISESHEL TR,

© Aime HISH— FEEER. SRIEZHFTRE KELELTIREL,

+ Aime HISH— FIEEAICRE, BELEVTREL,

© Aime HISH— KB L USHBED 7 — 2 HHMY BIL, BRICF ¥ EXY b
D5y FRH— KU —F—(TRRELTIREL,

. Aime {iSH— FELUMBBEORA. MK, KK BN FERM. 7—
2 DRIV T—YIDRIEHN TEE A,




[Aime (71 3—) &iF]
1D Aime XIS AH— REfld 1 EDEFEFET [Aimel I— IV HKRRENTWVWS Y — Lkdaa
E?ﬁ&%ﬂ_t\\xva—o

[722—XAVFICH—FER]
[7Za—ZXAVMICA—F] EE 7—T7—F5—LBICH— FOH—FIETY,
[7Z22—AAYMICAH— R ISR LTT —Lkkes - Y—EXATHBL CHATELT,

Amusement IC
FZIa—XXvhrICad

[Aime Y—EZXH# 4 M2 T]

FAime —E XA b (https://my-aime.net/) | |CEERT B L. EHBADIEEZE L Aime XIH/1—
FOMK-BEZED b T TIVHREFBRIC. T — 2 &EBE) (7 —28B17) TEEHTEHEZALGY—
EREZIFTRENTEEY, T—2BITBIE. 772AD— RHBRETY, BEIFENTT,
fAime U—EXH A b IKERLESTE. T—LTLAIEAIEETT,

% TAime] BM$XERCHR—IVT « VT RE 3T DOBESH DB FEIRE IFFIE T,
[INFISAR= b1 i MRS\ ZAF LTI 21— A2 FOEIETY,
(B A77—241 13 %RRAKHENTT FIEDEFEEFE T,
72a—XX>hICOd] B At - A >250 707 RSN\ ZAF L7
S1—AAVM HRASHIAFTIT I 2 —AAY MDD 3 HHHEITEEZ1T S BEAE L UZ DAt
DEEHIFICH T B REFEIEIR T,




16

FEER R

B E&Rm

TROM@IFTE, ANT 8@ EERRICEO>TEALEVWERTY., AV T+ VARG ETHER

THEDTARYNARELTLLEL,

TABGE] DIIT" ANT " EHBZEBMIETEFERTY ., TRUNDBEFERIIERD MRIECDOWNT

EBRBLTLIEEY,

HEBESOZRHN TR, BAZRELINTERTTE

TWTERBHBDT, AIRELT

feEWw,
X TFRORBISFEERTICE >TIEFrER Y MCEWHIFEBEDHY T,
BfiEEmET
et / BBmES HEE / B@hk & S 3
ZBEWT >y FOFIBICEELT
421-14274
1
<19EBE>
RAZ—F—
220-5793-2-A001 Pl 5
;‘:_
1
FryaRy s ZARTH
HEEIE LY 2— RTREICH I E T,
Ea1—X
514-5176-10000
2

10A (A7)
<177EBE>

LAN 7—2)L 10 m
600-7269-1000

< 6-388>

FA Y=
610-0880

|8

2yFEYTANA
<H—ERIRZa7)V 3-52yFLUHTX b BB>




IEER R

Bt / B ES

SEAE / Bgh L

3
beln

ZENT ST b
MMT-0010

<19

{1t
W
04
V

25

n

FSAZRY
(B, M4 X 8)
000-T00408-0B

S

<19EHE>

W—Z—Fv b

B+ &S : XKT-2293 [ROUTER KIT MMT]

ot / BaES

SRR / g E

3
beln

B iaiiAE
420-7651

<

#&
ALLSHX2 F—ERX =27
420-7653
1
IW—2—1=v
MMT-4300
1
< 6-1-6 B>
A7 73— [SERVER]
421-11708
1
<61 88>
RYN=TIW=TLVTF N\
540-0006-01 : M4 F3 )
1
I8
IRRTEL LTROLYFHAASTVETH RS54 TD
TELHYET,

BAZHRLEINDHREZHEHD [BEVEDLEL] T TER
LTLIEEL,
540-0069 : M4 F

am.sega.jp

17




18 Ezms

#Banth / BB S

SR / Bgh L

S
beln

LAN 7 —ZU 1 m
600-7269-0100

< 6-35M>

LAN 7—7)L 50 m
600-7269-5000

< 6-358>

KBRS
(2 16 mm. REE 4.4 mm)
068-441616-0C

< 6-1-6 BER>

(M4 X 35, /\ZREE(T)
000-P00435-S

—

< 6-1-6 B>

V7 hFw b

B+ F&S : XKT-2303 [SOFT KIT MMT]

#Banth / BBanES

SR / BgG L

S
beln

HY—ERX=Za7)b
420-7652

A2VAR—=IVAUSB XE)—
MDA-U0083

©ﬂii ()

KBRBESD [+ (5 —LTOTSLON=T 3 VICKVEEE
NBEREEDH Y E T,

KIZRDRGZ > TV BHBELHY E T,

< 6-5 58>




[@:%E

R

-

N

ERIEERHA Y TF VAR VDEMEMT O TCLIEE WL, BREGEDFER LGV ET,

BHOERECEARIFRZESHSHEIE. ARICERLTLLEL, BEITGL
TEREEZRITITLREEN, FEEZRS L EMPERFRDERETVET., Tk,
ERIERZEH THHIULTDIEEZRD L. BENDERDRHEGTVET,

ABRMPIC EBTIEE) DTN S BIEERRBIEET 5AMU L THEL
TRV, BRICE VAR TIHEEDRRG 5, BRORREGY T,
EERS. BRITSRBHIL, tOLRELRERER BHILEMABL TR
TV, FREGHHIE TIHER. ZTOREEEYET.
BHATOMEETIE, BE. BFSLURAPF L ERy HCEPE RO EL &
SICERLTCRED, BEERORRLGYFT,

RRAMEETS BT, THEBRERIFTRTL, KOBFH, BORHATE
(FEFDEROREL Y 5T,

7YvRR—EF 0 AE— IRV O RBL TR, RELEEERT
3L, BEORELEYET.

7Y AB—RTERIERL TR, FvEXy MBEHLTEROREL
UES S

B, B2 BEEOBIBRTRIEELEVTRTN, FrEXy FOGEG
EEAFBORREGY ST, Sl FREBRITS TENTEE AL

THRGRAZEELTERLTLLETL, FEVGRIETOEREIERDREL G
‘) ij-o

7 AREBRICEMLTLEETL, LTV EVWE REDRERELGYVET,
e, REEPIEAR. BRBBEOREEZVET,

AR 2 —DEFISHERICTOTLREL, ZLAHFDRTALERE. Bk X
KOFERHETVET,

BRZEHE O EVESITERLTLLEYL, BRE, Eig. KXKDEREEWET,

F v EXy FADERREGRFRETIR. EREBEGEHLGZWVSEHHYET, EPRE
Nz EMMBAREZRARLTILTL, THEICRRERZITS &0 BRE. T,
AKKDERETVE T,

[of

19




20

]

-
A xE

@ MmO, YU, RUALKIIEZHENGEOESITERLTLEEWL,

@ H3R, TIRFy VHBRDEIBNMIERLTLILEL, BaASWIEL. KA.
EEICK>TRIETBIEEHHVET.

@ AR TI3AFYIVHBADEEDLEERF. XTI v MEOHEDHMFBEITE
BLTLEEL, BmbiiEL. WA, EEICK>TRIBETBHZEHHYET,

@ BMHETIBE. FEROFERELNET, BRELOMAYZRL., XIPRIVE
TEELTLLEY, Tl BaziFT 2ERELEET 2FRETIEELT
CEEW,

@ EELTWBET7RF— (BRI, Fv b, BEEE) Z2THAT L. B@HETL.
EHOEREGVET, BRZELODVYUZFRLEDLS, BELTVWSE I 7R —%
ALTLEEL,

@ 2RI BEHBIERICELIRETHERLTLLEET L, BT AHZRCT
Blc, FR. REHDEREHRELET,

N\

BERICHELGTIR, ERHE

AN
ﬂ ) T
=
RAZ—F— BUIN=TIV—=TLVF TSARSA N~ Ry T ZARZA /N~
NI (M4 A, TE&) (M4 ) e EERE 7 mm [M4 BB 1))
\ —_ 0O

& 08 D
Vv bL>F
(ﬁiﬂﬁﬁ%”éwmm[MS%])_ L>F Bhs 24 FL£5
% 150 mmBBEDT Y X7 | (DR 24 mm) I =

VY3 VDRE




R

6-1 ¥ v EXRY FDMHIIT

AIEBIE. 2 AU EOEEETIELELTL T, T, BIHEEFEALTREETL,
6-1-1 FvEXY FIP EF v EXRY b 2P D&

FrEXRY MP EFYERY | 2P DERIF. FS5TREDNGWIGATITO TS
TEWL,
EE

1 FrEXRY MIPORZRAXT4@ZNL. /Ny T 7 1P (LA TA) ZERUALET,

FSRXY () 418
M4 X 25
XAETES (B) ZEH

Ny K77 1P
P o - N N

2 FrEXY P 2PDISARY2EENLET, YRZ—F—THEEL. /\v 7 F7 2P (F
) ZERINLET,

R

FSRZY (B) 218 \ \\
M4 X 25
MARITES () %ﬁ%\,_\ SN\ , \‘w
{7 \\ dll

Ao fﬂ; /

‘ & 2 p

INy G BT 2P N : '

X

]




22 =E

FrEXY F22POEVZEFYERY M IPORICELAHE T, CDEE, BFERER
WEDISTERLTLEEL,

Frexy hIP Frixy k2P

EY 2HFR

LI EZ—F7

LI Z—RFR7RAHICHBDF— (Frvarv IR
K7A) THRiEL., FvvyaRv I ART7EBEEE
EP

am.sega.jp



6 NARIVET7ET, FrERY MIPEFYERY M 2PZEAELET, CDEE. RNAR
W (B) 1EF150mmBEDI VATV 3 v FERLTIREN,

SNARIVE 1@
M8 X 50, /\REE&AT
ST IS (5

ANARIVE (B) 118
M8 X 35, F. /\FRESRAT

o
s
: ’

,
4.
S

\
S

SARIVE 41E
M8 X 50, /\REE&AT
MABUFER A EH

FrExy MEER

M8 X 50, /\RERAT

RARBIF S %

am.sega.jp



24

% USB2.03AFID_EH S [P CAMERA]
n [USB HUB][I/O BD] %Z{&F. USB3.0

ﬁg
of

7 Ax7Z2— 14 @E=&ERLET,

Ix74%— 81&
SM3P. SM11P. SM12P. XA12P. XAD26P. YL2P. YL4P. YL6P

Ix7%2— 618
VL2P, VL6P, USB2.0 (3f@). USB3.0

O [INSTALL] (&35! % 558

FreEXY PR EmEA)

8 FreExy MPAILSFrERY b 2PAICHDMI 7 —T )L ZFIEH L. FrvERY b 2P
flcdd D ALLS HX2 NEfe LK T,

axy4%2— 118 N_ O

o0 @
o0 S
690 D >
R0
o e)® O o E Jxv 42— 1@
Og0 i)
%! /
238 L HDMI
080! - . - - L
030 - -
osse o ef=go |
o208 [
2 —
08 >
3060 0088660608886 7,0
0800 0-0-0-0-0-0-0-0-04.0,
060 QO O0O0O00O0O0CAOO®
“OG)O il]
Sc8o
9680
4 [c8e8
3680
oOp0
(@
e S
339 5080
(&)
0808 pCLisos
208 felelele)
0 SBO00
Q52 0880,
080 fSeeryc]
303 S5
o863 000
80| T
ReQ 00000
9588 S5O
0!
ien000s. 0
000000090
COOESTEEES
§sassencte
AAGRRRS
IC000000000
sresmooeol | @
000000000000 s %)
208 SEETOSTEEEE0
603 SEEEEEEBEEE0
G
/ 4 i 080
; s K
080 C00000000C00
t.\\? W I\ kv el I ©3000@a ]
FrEXR 1P &R (HmEfAl)
e e e e e g e e e
O SRR RRaRRRee
OBOBOE OROSOEOSOR
d SOBOEEERR0EERESOE0R
BOROROBOROROROBIROR
OFOROHOES, 10RO
ROROBORAROK 08808c
SO8080E0E0E0E0CE0R
BE3835030

OSOBX
OBOBAH (@
@ @ 3886806

Fo T I oW oo Wa e
330368033033
OROROBOROROROEORNS
acasaasdeacicss
O XRER526528RE2508%

ALLS HX2

am.sega.jp



J—Fo5>7 1@
KR fleiRz EE

FrEXY 2P HE (EmEAD

1 0 Flg4 & 5%288BL. FOFIETFvvYa1RvIART7ELLIZ2—FT7ZBACTLE
T

am.sega.jp



26 ==

6-1-2 7L AV —hASDORY fFiF

1 FrEXRY bDT7 IV v AR — 8 FIZKREICEHELE T,

T ¥ AE— 8HF

£ = ————— - -/ = ————— 3
f T/ ™

=T @R T T&
] [ ]
l- ] 9P (%

n 5N,
: \
Il '
v .
B2

[EmEX

TLAY—=AASDIART 2= 2{@%#FHE L. TLAV—AASERIMTIET, TDEE
TLAV—AASORZFvEXY FDY X oDIFTLREN, T, BRERER
WESITERLTLIEL,

v =]
ERI 5P Ox7%2— 2{@
USB. XA3P

\Z
s 2ZV
N1
v,

am.sega.jp



27

:3 BUN=TIV=TRI2ET, TLAYV—HASZEELET,

2 &

BUIN=TIW—T 2D

M4 X 10, F. N\NRERA

TLAY—HhA>

am.sega.jp



6-1-3 EIVR— FORY {317

.1 BHhE28%. FrEXY FOBICRELET,

BHEDME FrEXYHIP BHEDME

FrEXY FOTER

EEE 2 NUETEIVAR—FZZHFL. FrERY MIRYRMITET, TOEE EILR—
FDRNZEF v EX Y DY AT oMNFTLEEL,

fERY S Ekam

JN_2 DR
MERICH B E T,

VA 2D
XA EBY FT,

am.sega.jp



3 NARIVEN 4ETEIVR—FZEELE T,

4 R
ANARNVE (B) 418
M8 X 35, F. /\REERAY

4 a7 22— 1 {E%Z#ERLET,

Ve

X7 2— 118
YL21P

EIVR— FRE (RR)

D7TL—brZ2)7T7L— T35y MMcELRAIK FSAXV6ETEELET, <D
EETRIOEDPARTY ) L TNcBEBEOEZARRAICLTIREL,

fERY 5 Ekm

% DEHHETT. ol ’“ﬁ\&
77—+
g J
FS23Y (B) 618
M4 X 25

XRETES (B) ZEA

V77L—=bT37v b 218

am.sega.jp



30

B

6-1-4 A KhIN—EEIVR— KKy TOIY {3

1 YA RAN—AR—Z 1P DREF+ ERy hOYXITEohF. %Y 4ETEELET,

1P R fER T S ERan 2P I fER Y 5 5Ram

-

YA FAHN—=X—X 1P

-

YA RFHR—AR—Z 1P

M4 X 16, F. \REET

2 a7 2— 1 E%Z#ERLET,

Ix72— 118

YL3P

am.sega.jp



R
[of
w
-

3 72209 Fy b 1TET, YA FAN—A2VF— 1P ZERYUMITE T,

2P RII<fEA Y S AR

1P lIC{ER 9 % ERm

AY N
Ay \\
3

\\ \\~

\

PURE R
\
\

YA FhHN—1>F—1P

7509F vk 118
M4

YA RAN—AVF—1P

am.sega.jp



B

4 PSRRI IM@T. YA RAN=T7T2— 1P ZERYMIFTET,

1P RIICfER Y B ERan

2P RII<fEA Y S ERm

Y Y RE

- J

L
Yo RAN—T 82— 1P l/(

T

c

Z
N
6"

\ \

B DR \\
7\ &
\'./.«(%\\\,»'
o))

FSARY (B) 3@
M4 X 16
XARETES (B) ZEH

FIE1 55 4ZBRB L. AROFIBETY A FAN—X—=R 2P, YA FH/N—12F— 2P,
YA RAN=70%2—2P ZEYIFFTIEEL,

6 FSXXD2MET. EIWR— Ry TZRUMITET,

ERY % ERm EILR— RRy 7

EIVR—FRy 7

FoAXRY (B) 2@
M4 x 8

am.sega.jp



6-1-5 ¥—F v TOEY {3+

@ *—F v TEBEPRTT. B HE BERELICE> THIAT ST EHBY
7. MYBNCETELTREL,
ER

F—F v T ALLSHX2 ICRUMITET, CDEE F—F v TDAAZELSHELOHT, B
FTHRRICE LAATLEEL,

fERY 5 E8m

O
]
0
o
®
38
]
@

O
00

3o
5
[
E
173
[ 3
[
O
)
@
)

F—F v TRYMIFIE

Qs
(o)
()
0

OACAPAO,
30803680
08026303

0002000
RORORORS)
ﬁﬁ 7o)

L e]
FHE =0 [EE
T
Lo |

958

06cS

OS]

R
|

==

OO
3636
0303

090
SKOR)
D

a8

o)
(o)
(o)
(9
o)

o
(o)
(o)
(o}
(s}
(o}
(o}
(o}
(o}
(o}

©)

o8
(o)
()
(o),
(o)
(o)
(o
(o)
(o
(o)
(o)
(o)
()
(o)
30
S0,

0303030
0903990
ORORO,
0303030,
(O)O)®)
09050050
63090
0303030
65090
03939AC,
03030
ORORORO;
03030
080:30R0,
9368080
696960

O
(%
(o
(o
(o
(o5
(o
(o
(o
(o

_______ SOSTESEESE
BEESERD
B8 | Esiecene
— v (o]
F—Fv7 g | Sesuen
Q63 CO00000CA00
S 88 000000000000
Ogsss ©
Botoboss el
& —,88800 ORaQ
LeRele8e0e808680860
SB0E0800GE0EEEEEA0
oRABE8ABEEAREEEN
poseatseneaeteneced
» R ROROBEROROROR0RAS
H SOBOROXOH0 OROBOROBOROEOROROROROEORCY
= Q Q o e NI o e ) BORORAR086 080008000000008800080000000:
E0R0R0E0R0EaEOEOEOEAROEAEAROEEEAR0ECAN
== O ECE 0RO OR R 088 808 0E 8RR RERR”
ﬁ O eereReRs; CRORORERE! &R O

FreEXxYy b2PE ALLS HX2

2 FSRXDAET, Ny T F7 1P (EAL TE) ZE
DIFFET,

FSR2D () 418
M4 X 25
*RETES (B) Z&H

Ny K7 1P _—

s BRI A

am.sega.jp



6-1-6 Jb—%—1=v FOEY {FI+

RIEEDERIF. Y—/N\—RICTE2FrERY MMcDIHMTOTLEL,

=B —=Fv bDIV—R ==y b, FrERY F2PPICELRAHET, TDEE, BHR
EEEGOVESITERELTLIIEN,

v 2B

Frxy k2P

F v &R

fotd ARITES

2T 2@
M4 X 35, J\ZREES{T
MABIEES %R

am.sega.jp



3 A7 2= 1 {E%Z#ERLET,

Ix782— 118
VL2P

FrExy b 2P EE (RS

4 J—&—%v FDRF v H— [SERVER %&. FRAEBE LB ET,

SEGA

SERVER
27 71— TSERVER]

A7 v 73—TSERVER]

am.sega.jp



w
(=]
e
]

6-2 FREIZFRN\DEE

1 FrERy NEEIIKSHS 7 I v AZ2—8DFELEIF T Fv XZ2—8hAzEtEEE T,

7% AZ— 8HFR

N e

S [ oy | el
[ ] [ ]

Bl [ 1 Wl (%

EmEX

2 FrExy M ERESAICHBETLEY., <3-2. 8EBR>

0.15

=

0.3

1.79

0.15$

23

FrExy POKREF (B : m)



3 TLATIT7RY bOANZET Vv AZ2—DABICEDE. TLATVT7I Y b EBEL T,

fEMR Y B ERam

T O

TLA4ITITY b

N\

7&41U7?vb/

ECDT I v AZ—EHRICEHEL, FrvERY FHPKEZRDLSIT7I v AZ2—DF
CEPELET, KEEF v AZ—DBREZK S5 mm ZFTF v EXRY FHKFZRDK
DITHBLTICREY, TDEE TIVAREZ—HBTLATIT7IY bORNINEST
WB DR L TLIEEL,

7w AZ2— 8hHFR

'.'l\%_) — _c)_ — '.\%_J)

—
—T
—

e )|

R g

| Holl}

‘ p ! ‘ Olj
— Eer-gue-cl ——— —

AT Z 1
< (7L
l;i [ \&

am.sega.jp

o
28
195
(O}

Tl




38 ==

5 BEBIET Vv 28—DF v MELAIHOT, 7Yv24—0BEEERLET.

7

w ﬁt_;ﬁﬂ&)'ﬁ H’% / (c/
+v bEEHICHKE [ L} ]

6 TLATU 7Ry b 2EBHEORET — 7 OREEZ SO LTEELE T,

TLATIT7IY b

am.sega.jp



R
]

6-3 LAN 7 — 71L&

ARMIE HEBRY FT—2 (ALLNet) & DEFEHRETY,

[ESBICK I ARBR Y b T —URE HEBEPHERE L) IIRLBERRNMEEENET. NEbxy hT—
7 (ALLNet) &DEHUCELTIE, AZEZHD THHVEDLEE] ETHERLTILEL,

1 BTHRETZ5EI. 16-3-11 28 THEAI BHBEIE 16-3-21 ZEBLTILEL,

6-3-1 1 5 THEEI 3158

FrExXRY A
ALLS HX2
N—%5— .
WAN LAN4 LAN3 LAN2 LAN1 LANT =Zk1m

LAN4— 7' JL'50m

HERR Y b7 —% (ALL. Net) ~
xy 7= 70v VK

1 W—2—=FYy bOLAN =TIV 1 m DT Z— 1{8%. ALLSHX2 [T LE T,

Fv MR N %

0
0}
0
©
0
0
0
0
o]

\)O

S pe_—pa_pe—p

R
: 23448~ 18
ot AN
o ‘
\ oz
LAN =7V 1m @

ALLS HX2



B

FIE 1 TEELR LAN 5— )0 1 m ORMAOIZS 2— 1%, Jb—2—1=v kO
LT3 LAN — k (WAN K— RISV (ks LE T,

Jx72— 118

FrEXY F2PEE (WED)

3 I—RISV7 28T LANT—=TIV I mZEELET,

J—Fy>>7 218

PSRZY (F) 218
M4 X 16

am.sega.jp



5 LAN U RZ EICRZA4 KL, FIE4 TROC S AXD 2 {@ZAEDH LTCERELET,

LAN U w F

FSRAXY (B) 2@
M4 X 16

LAN 7—7)b 50 m

LAN

am.sega.jp



42 ==

FIE6 TruUGEBLIELANT—7)L50m DT 2 — 1A% )b—2—1=v D WAN R—

MTERLET,
WAN K— k
1 / [

vwvvel
I} ~— ’

IW—%2—12Zv t (FEE)

Jx72— 118

e
> \
I &S
I\

1 o
' qQ
' S
1 So
' S
1 ~
H I
! i
' R !
! i
K i
N i
N i
N i
SO i
N
Y
ol
. ‘\

J—Fo>>7 118

0
|
[r)
H (\
[ N
] Se
] Se
] &
3

] So
] So
] S
] ~
H 1
H ]
H ]
H ]

]

]

]

9 Jb—Z—=1=v D WAN R— MTEH LT LAN 77— 50 m ORSHAID xR T 2 —%
NERR Y kT —2 K28 (ALLNet) (CEHGLE T,

am.sega.jp



10 NS 2R 2 EREDHET.

FSRXY (B) 218
M4 X 16

1 1 LAN 7 =)V GOREIC LAN Uy FZBCE T, FIE10 TERD S AR I ZER
fEHL. LAN Uy RZEELET,

FSRXY (B) 218

am.sega.jp



44

B

12 Ny R7 2P (M ZERD T &E T XRAZ—F—Chege L. h S AR Y 2ETEEL T,

FSR2Y (B) 2{8 /
M4 X 25 N
KABEES (B) 2FH

Ny K77 2P
A

am.sega.jp



6-3-2 2 B CHEET S5E

AERIF Y—/N\—B1E8. 7247V M1 B CEETS5EDHAZ LET,
XY —N—H 18I, 753077 MEIE 1 BDHDERE L. 28U EER LEVWTIIZEL,

FrExv bt (V3477 M)

FrExv b (—"—H#)

ALLS HX2 [}

ALLS HX2 [}

—5—
WAN LAN4 LAN3 LAN2 LANT

I DOEE

[

LAN —Z)L1m

Fxv b7—=70vIH

6-3-2-A H—/\—1

LANZ —7JL10 m

LAN/r — 7 JL50 m

HERFR Y k7 —% (ALL.Net) ~

R

1 [6-3-11 FIE1H59%ZBRL. EHROFIETHEELTIILEL,

ABDLAN 77—/ 10 mDIXTZ—%, Jb—F2—1="v b EERYIIFcFrERY b

DOINITBLETY,
FHY 588w

LAN =710 m

am.sega.jp

[of




46 ==

FIE2 TELIELAN =)D Z2—%, Jb—F—1=v FDZEWVNTWLS LAN R— bk
[IEmELE T,

Jb—RZ—1"w b

Ir
- g
N | (&~
| ~
' s
' N
' o
' ~
1 SO
] \
1 1
' 1
' 1
' R 1
' '
I 1
0N !
N !
~o !
S !
~o !
hS
RN
S ‘\

dx7%2— 1@
LAN
XZEWNT WD LAN R— T
L J

O—FISYTTETLANT—=TI50m ELANT =TIV 10m ZBELE T, TDEE,
TRRAICEELTILEY,

- 10ecm BEDEICL T, LANT =TIV ZBEEL TLEEW,

c ROFLAN T—=T)UIE. FrERY bOACHLTLLZEL,

1—Fo5>7 1@

|
€/
\
1 S
1 S8
1 S~
1 ‘\\
] So
. ,
. .
. .
. .
. .
. .
{ > 1
L3 :
Ss
AN

- J

5 [6-3-11 FIE10 D05 12 22 L. ERROFIRTIERLTIEEL,

am.sega.jp



6-3-2-B 547 b

1 D247 MED NS RARD 2EERDET,

FSRXY (B) 218
M4 X 16

PSRAXY (F) 2@
M4 X 16

[6-3-2-A1 FJE 3 TH—/\—#cEFE LI LAN A — )0 10 m OREID IR T 22— 1 @4,
I5A4T 7 MEDRITBELE T,

aAxy%2— 118
LAN '

am.sega.jp



o oz |

oo
ee
ONe

0886666868600
OOOOOOOOOOOOOOOOOO°©O®

Nt = e =X v =X~ e =X s =3

0R0
8o
2080 © S
0858 500
forsies m 0000
0803 Q0000
6208 [elelele)
0868 SOO00
30, 0880
3680 [SlerelXe]
00 000
98¢ goggo
0868 OO0
6863 Q0000
080
9390 © O000
0962 G0000
3080 0000
| g
00 Q0000
SE550 @)
0000000000
SSSSIOBEES
5000000000
§ [ TEEESE600
B EESB000
SR :
5000000000 §)
QSETSATISETO Y
o 00000000000 g
98 | et
603 | gbamenumo
080
S58 b Soneion| @
083 @] ©OOP00000000
0%c° 2
O PR
d 6R0P0C0R0REEOROEEEAE000E00
9808080808 (o)
880R0R030A00R8R0K
8030300080R0RC30300K
QRRRRRAREAERAER
SheeReRac ey
000808800080 20203080,
BE0R0R0R0R0R0R0R0RCH
QEERA8ERAREEAREERAAA
0 OReaEOEEEOEA0REA00K
e
BeBeBoBB:R8:8:8000C08" 2E0E0S0E050!
(oS E O @ oo ORI OO OO SOOI OO
fenesesesecesesecetesacesesgesesatesere
@SExeE e e oNe oo sm s oo sosec e
o e

ALLS HX2

LAN

AR Z—

118

I—ko5>7 3@

\xz:z» 10 cm REQBEERE

LAN 7—Z)L10m Z 10 cm BBEDEIC LT, I—FI SV 73ETERELXT,

am.sega.jp

[6-3-11 FIE10H05 12 25 L. FERROFIETEERL TIEEL,



R

i 3
AN EE

FEFEI— FITTNBEPAZHIILGVHHERLTLLEEL, ERI—FAHAMEOLTL
L. BRE. FE. KKDOFERELGTVET,

@ FEEMBERALERZEBTERALTLLETV., FEEMHEFEOLZWVWERZER
TBHE. RERERICAKDEREREEZY T,

@ HERICEMINTVWEIERT —RinFl ZABELTIRLEL, FE@mIZT7 —RAisrF
ZRATWVWET, 7T—AGFEERAT —RinFe7 —ARTERELTILEWL, &
tcE L TGN E. BRE. BFRRDRRLELGVET,

BRI-FP7—ARIBHLGEWVWTLEEL, BHLULCRETIE. BEKRHOF
FTLGEEBERIFPITVRETY, HEELLBSIIRE. B, KXDORRLE
WET, BERDBITOXELELGSHWMIEBICEET 50, A/N\—ZIWHIFTL
EL,

@ ACIZvY D7 —RBRXIBELUT7 —RGFEFERT BESIE. 7T—RIGEHTH
LOFEFELEVWTLIEETYL, RE, B8, AKORREEVET, FrEXRY
MIZIZER 15A UL ET M4 BOARERF2FERA LT, BRICEBL T T,

IR

BRI— FRABD7 —ARTEMLIIZEIE. ACIZ Y FDT7 —RimFIHEHF

FEITOHEWVWTLIREW, ACIZ Y b7 —RigFER L THE LGS,
BE | S0 FREOT7 —ARTEMLEVTLEEL, BERRLBEIEOREL
TYVET,

[of




50 =

]

1 BIRAA VFHOFF CHBHZ EZMERLET, ACIZY MIAAVERRAAS Y FHHYE
¥, LU= 7RI, YTERRA v FHHIET,
KA VEBRAAVFHONDEE YTERAA Y FZ OFFICLTEH. Ib—2—ITIEE
BEOMHEENTVE T,

4 N\
/

HYITERAA Y F

YT EIRAA v F (OFF)

am.sega.jp



R
]

22 BRI—FOIRIZ2—ZACIZY bDAV Ly b, BRIA—-FDT7S 7222082k
ICLob W EELIAHET,

fERY 58k

BREI—F

(&

7 — Al F A TCWASERIV Y MERT 555

BRI— N7 —RAEERNBELTVEYT, ACIZ v MCERI—FEEHGEL T [7—XiEFA
ACWBRERIVEY M ICERI-FOT S 7 ZHERLE T,

S
I

7—RAnFEEATWAHERIV L FOF)

AR LT —AREERT 2155

7 =R FEREATCVWADERIVEY b BBEVESEIE. ACIZY D7 —RBARIEE7 —
RigF &7 —ARBZERRBE L7 —ARTHER L. 498t TIIEEL,
ACIZvy bD7—AAXIVZE—BHN L7 —AROAE G FIE L TRESDMIT TLRED, ZIIT,

NZBEE, FE2ZBELTILEL,

77— ARRDERT




52

HIRDOEMT 2T 2 —%ERAT 258

HIRDZEH T X T2 — %R L CERZMIGT 25813 72T 2—07 —RifF%z THERICTHEM
ETNTVB7—RtEF] IR LTEEN,

YT AR L T REWn

BT 5T 5 —
728

3 EBEI— FOERAEFREZITVE T, BERAH/N\—ZBRUIF. EBREI— FEFRELTIREEL,
AICAE LY — Az ER L TE LIBEIE. ERICT —ARDERNER. REZR
LT LIEEL,

am.sega.jp



R

6-5 VI AV AF—=Ib

~
A s
= A
AEHAUNDBEPLEEDNRE LIEEE. TCICERZY>TLEEWL, EFEEY]
S5GWE, BRE. KKDEREGTY T,
~/

® VT (VA ML T T B E T DI TN T FEE L,
@ FEDTHICHELRENMEIBAIE. ABRRO BHENEbEL] £ TEE
R LT REL,
@ VAT LT Y TF— FAEEEEYSANTEEL, BEEYSE. ALLS
HX2 DEE T BEEE Y £7.

[of

TAME—FOBREF. €LI7Z2—FT7RABICHEZTAMREZ2VES—ERAREVZFEALEY,
Flee REV A S5ET—LTAME—FRDH, TAMREZY P—ERXRZ 2 EE CREHL
BIREC I,

BREAVIFTHOMUEICH ) KT,

Y—EARZVERIFREZ> 10 4T, HEZERLET,

TANREVERIERZ > 5T #RLTWSEEDOERT, REMDEEZLET,
<H—ERAXRZa7IV RETANE— FOBIERZE B>

TAMREY T—ERRZY

| TEST GERVICE  SOUNDVOLUME |

AAyFI1Zy b




54

B

6-5-1 1 ETHEET 3158

AR (V7T b VX M—IVEEZEE) 138095 9 7TY,

VATLT YT T EOREGHE (REFS KU ALLS HX2 33#Es) (E. T HICREOD DB
EDBYET,

1 RRAZ—F—TCHEL., tL 72— FT7ZRELT,

LI EZ—F7

2 AVAb—IVAUSB XEY—%Z USB ARIZ—IHEHRLET,

I ERREET

AVAL—IVABAUSBXAE —

am.sega.jp



R
]
(S
(3]

3 A VERAAY FEYTERAANYFZONICLET,

RBEZRZ—ITALLSHX2 OegEEZR~LE T,

"

5 VT M VA M=V EBBICEIEL, (£ —LTO0S5LEA VA R—ILLTVES, O
/O00.00 %) ERRLET, V7 b YR F—IUhldF v E2y FOBEESHL
TLRE

(FrErsE (B%) 190 7]

6 VI VA b=V TINAAF Ty VEEZRRLET,

AvFLIH(1P) keksksk
2w FtIH(2P) kkskk
LED(1P) *kkkk
LED(2P) skokokok
J—-RU-49-(1P) kksksk
J—-RU=4—=(2P) kkskk
ZUAT-HDAS *kkkk
F=HFTVD k% %
ERRBIE %k
BEY-N—-DEEZFT VD N¥kXk
BEBHNORETHE keksksk

TINARAF T v VEMA

7 TNARFzvyERERRLIES, TAMREZVEHLT, Y—LTAMXZ1—EMEA
ERRLET,
<H—ERXRZa7IV BESF—LTAME—F] BEB>

8 H—EARZVEBLT I5F—LKRE] B3FRL. TAMRZVEH LTS — LREEE
ERLLET, <U—ERAIZa27)b 3-745—LE/E] B8B>

9 H—ERRZVEHLT ERRY F U IDHRE] ZERL. 7 AMRZ AL T [OFF)
ICLEd, <H—ERZa7IL 13-75—LEKRE] BE>

10# EARZVZRLT T ZERL. TAMREVERLCT—LTAMAZ2—
BEICRY &Y,

1 T—ERARZVZRLT VAT LTRA M 28R, TAMREZVZRLTYRTLT
A MBTERERALET, <U—EARZa7)V 3-15 VAT LT A M) BEB>

1 Y—ERARZVEBLT 8179 5] ZFRL. TAMREVERLTCYATLTAME—
FEEZXRRLET,
<ALLSHX2 DY —ERIRZa27)V 3B VAT LT AME—F] 8>

am.sega.jp



u
Xa

]

1 Y—ERARZVERLT VAT LRE] ZFRL. TAMREZVZEW LTV AT LRE
EEZRNLET, <U—EXAIZ27)V 142 VX7 LERE] BRB>

1 Y—ERARZVZBLT BEEY—/N\—RE] ZFRL. T AMREZVZRLT H—/\—]
ICLET, <U—EAXRZa7)b 142 Y RAT LERE] BR>

1 Y—ERARZVEBLT TRT] Z8RL. TRAMREVZRL TV RTLTAMAZ 21—
BEICRY &7,

16 Y—EARZ VLT 7] 28R, TAMREZVEZHRTLEIS—ZRRLET,

1 7 Error 0917 : USB A& —HMEiiENLE XTI | BRIREINE. YITEBRRAM Y F%&
OFFlcL. A~ Ab—JVAAUSBAE—%& USB ORI X—DLIRELT,

@ (X F—ILAUSB AT — 3B LSS RELT. BTCDE=ICER
LTAGNCRE LT FRE o,
BEE | @ A —ILAUSBAT—EBELEEERE. T5—BESERENG—
LA TLATEER s

1 8 YITERAAvFZONICL, 7 FN\Z2A4 X (BFL) BEZRRLET.

am.sega.jp



6-5-2 2 A CHEET S5E

AEEERE (VT b YA M- IVEREZEE) BERICE>TEHLET, 268 (T—/\—H 186,
72471 E) THI180DTT,

VATLT YT T EHRELGHE (REFS KU ALLS HX2 32#Es) (F. ESICEBNDHNS T
EDBYET,

6-5-2-A H—/\—1%

1 RRAZ—F—THEL. L7 2—FT7ZRELT,

TLIE2—F7

2 A VA R—IVAUSB X —%& USB Ox 7 2 —I|ciERLET,

fERY 5 E0m

i ¥
AR b —JVRUSB X E Y —

,
\§
TV

b EE'" o[=
7

A VA R—IVAUSBXEY— T |e

am.sega.jp



58

]

3 A VERAA Y FEFTERAA Y FZONICLET,

4 BREZZ—ICALLS HX2 DiefBEmZxR <L E T,

5 VI VA= IVEEBNICRERL. [5F—LT7075LZA VA M—ILLTVET, O
/O00.00%] ERRLET, VI MM VA—ILHEF v ERY FOERZTISGL
TLREW,

(FrEfRsE (B%) 90 73]

6 VIM VA=V TINMAF Ty 7EERZRRLET,

AvFLIH(1P) keksksk
2w FtIH(2P) kkskk
LED(1P) *kkkk
LED(2P) skokokok
J—-RU-49-(1P) kksksk
J—-RU=4—=(2P) kkskk
ZUAT-HDAS *kkkk
F=HFTVD k% %
ERRBIE %k
BEY-N—-DEEZFT VD N¥kXk
BEBHNORETHE keksksk

TINARAF T v JEE

7 TINAZAFzvIBEEAERTLIES. TAMNREVERLTC, ¥—LATAMNAZ21—EHE
HERRLET,
<HY—EARZa7IV BESY—LTAME—F] &8>

8 H—ERXARZVEHLT 5F—LERE] ZFEIRL. TAMRZVEH LT — LREEE
EHRRLET, <H—ERAIZ27) 3-7 45— LERE BEB>

9 Y—ERAREVERLT TERARY FUIDRE] ZFIRL. TAMRZZHLT TON]
ICLET, <U—ERIZ27)V [3-75—LE&EI] BR>

10 Y—EARZVERLT [TIV—TREERDRE] ZFIRL. TA MRV ZBLT TR
W ITLET, <U—EAIZa7)V [3-7 57— LKRE BEB>

1 Y—EARZ2VZRLT RT) Z#8RL. TAMREVZRLTT—LTAMAZ21—
BEHEICRY &7,

1 Y—ERARZVERLTC VAT LT AN 28R, TAMREZVZRLTYRT LT
AP BITEEHZRRLET, <U—EAIZa7)V 13-15VRTLTA M B8B>

1 Y—ERARZVEBRLT 81795] ZFERL. TAMREVERLTCVATLTAME—
FEEZXRRLET,
<ALLSHX2 DY —EARZa2 7V 3B VAT LTAME—F] 28>

am.sega.jp



R

1 Y—EARZVZRLT VAT LRE] ZFRL. TAMREZVZHLTY AT LRE
BEEEZRRLET, <U—EXAXZa17)V 142 VX7 LERE] BE>

1 H—EARZVERLT BEYV—/I\—RE] ZFRL. T AMRZZ LT [HH—/\—]
ICLET, <U—EXIRZa27)b 142 X7 LERE] &8>

1 Y—ERARZVEBLT TRT] ZFRL. TRAMREVZRL TV AT LT AMAZ21—
BEEICRY &7,

1 7 P—ERRZVEBLT T ZBIRL T AMRZ V2RI EIS—BERZRRLET,

18 [Error 0917 : USB X B —HERENIEET T T RTINS, YITEBRAAM Vv F &
OFFlcL. 1A F—=JVAHUSB X&) —% USB ORI Z2—H5kEZXT,

@ VAF—I)VAUSBAE) —RBEHRLETEIMELT. 4T TDEEICEW
LTKRENARELTLIEEL,

R @ VAF—IVAUSBXAE) —Z2#EHELILEELE, T —EBERIPRTENT —
LATLATEEEA,

1 9 YITERAAYFZONICL, 7 FN\2A4 X (BFL) BERZRTLET.

am.sega.jp

]




60

B

6-5-2-B 547 b

1

RRAZ—F—TCHEL. €LV 2—FT7ZRELT,

A VERAA Y FEYTEBRAA Y FZONICLET,

ALLSondEmZzHRRLIcS. TAMREZVERLT. YATLTAME— FEEZERTR
LEY, <ALLSHX2 DY —EAX =27V 3B VAT LTAME—F] BE>

AZ1-EBAETAXFTCRREINCS, U—ERARZVZEHLT VAT LRE] =
BIRL. TAMREZVERLCO AT LREEEZRTLET,
<U—EXARZa7)V 142 VX7 LEE] BR>

H—EXARZVAEBLT MEBEEY—/\—RE] ZFIRL. TAMRZVEBRLT 754
TR ICLET, <H—ERIZa27)b 42V RTLHE BB>

Y—ERARZVEBLT RT] ZFRL. TRAMREVZRL TV RTLTAMAZ 21—
BEEICRY &7,

T—ERARZ VLT T Z#RL, TANREZVZERLET,

QO N OO K~ WON

ALLS OOJEEZRTI 5L Y—/N\—HHSI7 5472 MEICBEITY 7 bV A b—
VDRI ENE T,

(FrEfsE (B%) : 80 73]

©

VI VA —IVEREYRTLT7 v TT— DT IBE. 7 ENE2 A XBEEZRT
L&,

10

TAMNREVEBRLT, F—LTAMAZ21—EERAEXRRLET,
<U—EARZa7IV BEBEYSY—LTAMAZ1—] B>

am.sega.jp



1 Y—ERARZVZRLT 15 —LRE] ZFRL. TAMREZVZRLTT — LREBEE
HEHRALET, <U—EXIZa7)V 13-7 57— LE&E] BE>

1 H—EARZVEBLT ERYFITDRE] ZFERL. TAMRZAEIBLT TONJ
lCLEd, <U—EARZ27)V B3-745—LEE] 88>

13 H—ERAREZVEBLT [JIV—THREEEDOFHTE HFIRL. TA MRV ERLT TH
HERICHES ] ITLET, <Y—ERXATZ27)V 3-75—LBE] BB>

1 Y—ERARZVZERLT T Z#RL. TAMREZVZRL T —LTAMAZ21—
BEEICRY &Y,

1 YT—ERARZVZRLT 1T ZFRL, TAMREZVERLTT FN\Z2A4 XEEICE
b) i_d_c

am.sega.jp



62

vy bT7vT

ty b7V

ey b7y 7] L3 BETESREICT BDITTIEETT,

7-1 SRBEEZDODLY F TV T

7-1-1 EFRA

Y ITEBRAA Y FDH% OFF I LTIZE. IW—2—RBBELTVLET,

EE

=N 751477 MEDIRICERZANTLEEL, TNLUNDIEE CERZ ANS EERN
Dxry hT=UDELSBELGWGERH Y KT,

BRZERATDHEEZZ—DEMEIC [step ~(BEES )] XK L. T ZROET,

Z0#%. ALLSOdZRRL. TNAMRBKURY bT—IDF v V%R TT FIN\2 14 XBEEZXK
RLET,

R & FEFICHONEZITVE Y., 7 FN\Z24 XEEHRRENS E TITHOUENTT LTV
WEEIE TRy T =70EBHRTY, LES<HE/FELRELN ] ERREINET, BETRERAD
583 D TRDUEHMRT L. T —LTLADREBEICEYE T,
DB T T HETORMIER Y T =T DRRGEICKVEILLE T, GH. MOUIEHH
TI2ETRT—LTLATEERBA, DM VBRAGERFTOEVTIIZEL,
IZ—EEHNRRENSHEF T —EARZ 27 IV B IS —RRIZSRBL UL TILEL,

BiEgaA

BFvEx v D ALLNet (AEBRY bT—7) EDFWECKRR LIHEE EERICHEREEZ1T5
BENHBHEIF. TOFvERy b Z2BEFHLTLLEL, EBRZT>THS 10 WZBRICE
REBIRALTLEEL,

BF v Exy MIMER)IC ALL.Net EDFEHERZTTVE T, TORRIFEFrERY D TRy k
T—07437] TRRLET, 7AAVICRHFDPAODTWSEEREREZRLTVET,

7-1-2 V7 FORIERTE

TRZSBL. LEISCTRES L UHABZTOTIEEL,
WEERE—&
RES S UHERE ERRBESUBRE {EXRIESH
PANEERAE EERRICH ST RAIEREZIT 2 TCLEEL, [EERIRTE
< SM T'1-8 FAIEALIE ) [3-10 FAIERE ] SR>
7= LRE EERTNCH 1T — LREZTOTCLEEL, [EEHIRTF
<SM 13-7 7= LE&E ] B>
1 V/E EEICELEREICEELTIREL, [EERIRTE
<SM MEYXTLTAME—FR] 28>

HRADSEBEICRRH LTS [SMI 1F. T—EAIZ 27V ZERLET,



ty b7V T 63

7-1-3 Eh{FHESR
TRZEBRL. BEICGC TR ZIT o> TLIEEL,

WENFHEEIRE—&

BErEERIRE BERABRESUBRE
ANTA BANZEENELSCEET 2R LTILEL,
<SM 132 ANTA b1 28>
HAT Rk BANEEDNELSEETZ2HOHERLTLLEW, LED IFTEEE

DOOAIE., BHARTENSDHERLTIEEL,

<SM 133 AT X k1 B>

2y FEUDNELSENET 20 MR L TLIEEL,

<SM 13-5 2y FEUH T BE>
TLAV—HASED—RF)—2—DELSEET 2D HERL T
KEEWL, <SM 13-6 HXS TR ] BER>

Aime H— FY—F—FRX b | 2y FHA—FU—Z—DELEMET H0HRL TLEEL,
< SM 3-9Aime A—F—2—FT X | B8B>

2YFEUYTAE

AASTAF

XYy I=UF7X Zv T =7 O ERERE LT LIEEL,
<SM I3-M Xy b= 7 X~ B>
AE—H—FX b BY OV RTNAREVELSEEDHBDHERLTIIEEL,
<SM 141 AE=H—T X b1 B8E>
HRERPOBBEICERHLTVS SM] 1 Y—EARZ 27V ZRELE T,

7-1-4 SERE

AAYyFAZy McHAY TV PR 1—LZFERBLT. BEZFBLTIRLEL,
Ay FRVENOBERBIE. 7 —LBWBHOT LI &EREE (N\v FKRVRY 12— LIEEEERIRE)
TIIDTEDNTELT, <SM 11-4-10 7L 1 #fi B>

.
N 21 N >
Py VERIN : A [l[<s
\ . A
e =, bl s
| TEST SERVICE  SOUND VOLUME | ﬂ @ ﬂ
% @ 2 e
AAyFI1Zwy b

am.sega.jp



64 +corrv7

7-2 8Bty b7 v T

FrvaRy 7 ADOA VER
[347%—9—@@%’&%3’&\ TLATEBRLHYET, ]
EE

1 F—THEEL. Frv iRy I A RTEBEEET.

M A =Z—FRAENE
100EEZEHY > FLET,

am.sega.jp



BEOIE

B 0=
)
N
@ KEHNHAT S B8 &3, ACERYADBENICOWVWTTYT, £ 5EEY.

I PIER. HERNADBEICOVTIE, BADIEH. ERBEAENDEH. EiRED
EEGERAGERDH S, FETIEHALEIEA, ELDEEYPERHNSE
I 251, HmBALTLIEEERHD TERVEHLER] FTERLTE

Ty,
TERBIESHA Y TF VAR VDEMEMTOTLIEEW, REGEDFEREBZVET,

AEDOBHTMEKETEEMHH 516, HAICET BERDIFH I, EHRIC
B BB ZHOENMEDLS LV E, BRORREHFEVET,

ERIZBREY S TH 5> TREL, BE, 8. AXORALEYET.
ABICHAL TOBOSREZETOAL T REL, BB, Ei5. KROFERL
BYET.

BEIT LT, BETSIBLULAN F—IILERV T REY, BHELEEE
BETEL. S—TILEED, BE AKOREEBYET,
TOTLEBBTBEER, TIrAE—ELFTH v RE— BRI TRE
Vo BEIRIEF ¢+ 22— HABRI— FEEORBEREENE S ITERL T RS
V. EHRESDIFBE. BE. B AROBRELEYET,

BENELHT 3B, TRHTIEFELCERL, RO FHPVEDEF> TS
REV, BENMELVBSER>TXHT 3L, BERNOAEILS Y BRPEAHH
WEL. &E. BIEF. BEEKORELEVET,

BHE, FREGEBPREDSZHMIF v ERy e ERBLEVTL
VW, EEPERORELEGY T,

frEERS, BRI LB, TOLBRELRENEROBFILERBELTILE
TV, FRELBHETIEER. FTORREEYET,
BHETOMERIE, BE, FFSEURHPF ¢ Ry MNIEBE R DB E
SICERLTLREL, BEEHORALEY T,

A xE

FrERy b EBHT B EER. BETIERUMNMIFE Y, HLEY LEWTLE
TV, FHEGERYHRWIRREZRIEL, BRICKVEETSHBEIHVET,

@ FrEXRY FEBEETEBHE. FKADEMICK>TRE2(BNDHY ET,

EE

BEBAOI Y FEEZRABLTLIREWL, e, BEBOBIFICEZHD (BF
PEFOLw SfcAE) FHFICHELTIREEL,

@ ik, DRELIERERHFERY . LTHFY LEVTLREEY, BED
BE. BEREORREGTVET, £, BERHPREVE, BERRPHEDRE
EBVET,

65




66 mIEoxE

MEMRICHIRD & 15 CIEENT 535 818.16-11 5 16-4] ZBRB L EDFIETHEL T IEL,
TROFBHREDET@IFI LY 5105k LBWLWTLEEL,

FLIY3I 0o LW FEBL B LIY3I 0B Y LW
777777777777777777777777777 7T T

s ) |

' ) Aé?} //r \ {' )
= 7= =Y 7=

BEHEL \?‘?LTC’)?ID?EDTCU LGEL




ek 67

Bl =%

REMOERZHIT L. DO TLRICERZIT OO, UTOEBEZERHICRKR. XTF
Y RAERBLTLEEN,
r 3\

A

@ FELDAMICMNBERIE. [EHAV T TV AIVHEMEN/ITOTILEL,
REGEDRHEBTVET,

@ 1 Fc—ERETERI— FITBEHDEVD. T5T7HBLoMYELRAENTWVSD, O
YEVFEBRTSTOBMICARIIDE>TVHELHLLGEZRELTLEEL,
RAVDE T EDRETERAT S L. BE. KKDFRRELGY ET,

® 1 FI—ERNBOFREHBBALILIIFERHD BEAVEDOER) ([TEEL
TLEEW, ABICRIVDLE2LEFFRZELLGWVE, KK EHROFERLEE
V&I, TH. NERRERIIBELGZYVET,

@ =7 ERBROBEFENL (HEH1L) GLE. ERE. ER. KKODRREGYVET,
RROBEGEREDNGULDRERLTILEL,

@ Uir—Z2—TJxv b (BEKERE PHKICES. XEMOBRIIBLETY., K
HREVA—2—T1y FOFEREVELLRATREHY ELA, RBKLTRE.
. AXDRRALELGVET, £fc. EIHR#BLGREZEITBNDHYET,

@ 1 FICT—ERFALLS HQ2 ZB/RLTLEEL, ALLS HQ2 RICKRAVDcE o & &
DRETERT 5 & RIFBDARESDERP. FEig. AXDFERETVET,

N\ g

][4

==}
=

N
ALLS HX2 {Bl 4 ICHEREBR P Y 7 b, BELEHRLYET, BHR%. MYNLE

FrExy MCALLS H2 ZERLTLREW, R FrExy B2 L, BIE
FE | FRLGEFESOFERLLGYET.




68 wmam

BERSRE
HARG SI&(ERR RE BHRE
R FreExy bEREA -tic E-yun
A—FRIh— -tic 15% (P.114)
TLAY—hAZ B 16-1 (P.117)
AATHRI—F B 14-2 (P.112)
BF. BREbG =Yg B EEX
2y FLHYRE 2y F Y REDER 11-1-1 (P.73)
£H FreEXRy b 7T v AR —DEHIFERR 4-1 (P.10)
2y Fr =¥ SM T3-5]
158 R ANEBDRIR SM T3-2]
AE—H— 9—T7— | AE=H—R 12— LD=E 7-1-4 (P.63)
AE—H—DE& SM T4-1]
mE G2 AV -tic 13-3 (P.104)
O14 AT A b 13-1 (P.101)
LED HH7 R b SM T3-3]
d—KRJ—4— FEEY 7 A b SM T3-6]
2y FRA—R)—42— | FRY T Xk SM T3-9
Ny RRYIvwy YOV REATA b SM T4-1)
3hA R TJYRT v T 12-2 (P.97)
145 ALLS HX2 =i 18-2 (P.130)
BRSSYT =V Nt ANREEX
BREZZ— A DHERR 11-2 (P.79)
FreERY PR -tic AR ES

HERPOBRBEICGGEHL TS SM] 1FY—ERAIYZ27)VZIELET,

F v ERy FREDBR

BANHVENEEIFR. REDWVAICKEIBKTEScFERFZSEE. HZER>TH 5.
BNEHEWM>TKREWN, YU F =RV IV 7)baA—)b. MFEZSEAGLER. KEDHLLE
TZBDHBEELBHYEITDT, FRALEVTIEEL,

Efe. —RDOEE. 6. REAFFIOHICIE. TIRXF v 7 HEBRPERL BRZRERTIZERS
THRADDVET, EAFICARIOIREETZ L Hid BULGWERTHEL O S EFHERE
BLTLIREL,



10 2l i

NSOy a—FaVT

-

N

B FTERLTILEL,

O FRIBEHAYTFT VAR VHEMEMTOTLIEEV, REGEDRRERZVET,
[ERA YT T VARV PEMEDPVLEVBERR. TCICERZYIY. HaBALE
FlEAZEREHD [BRVEDLET] FTEBLTILEL,

@ AELHUND LS TIVHRE LIIBEPEELHDOWISZRE L THHEHNRHS
nNEWEEIE. FRRICHRLEWTEEWL, EFREY, ER7S5 7201
YOSk, BRERZVE L. HRBAXERIAZEED EAVED

FRBLGHRIE. FATEGVWERDRER LTV T,

@ —Fv rT7O7 /2 -RBIEFHLEEEZBELTHSERETETILEL,
ICEREETERAZRITS EXKDEREBZ) ET,

s

EE

TEL,

@ IS5 XvE—IDRTENLBEEIE. TIKERZERAL, UL TLLEE
W, RELEEEEZRITS L. BMEBORRLELGVET, <H—EAIZa
7IV 58 IS—KRR BER>

O NMEDFHERICKLY ICKR— FEDBFH@MOBIRT 5B/NHH Y T, X
FIlcCE TN EREICMN ST EDNEZTTV. BHOHERZREL TS

@ KEIRBEDLGVIST—HBESPAVvE—IERTTSHERE. EHZHIEL.
JmEBALELIFAERTHD TSRVEDEE] FTERLTIELEEL,

FSTIVHRELISEIF. T IXTZ2—DHEHZESKRLTIEEN,

WSOV a—TFT4VT%

< N2EBEHE>

FSTIVAE [R& PoL Uy
BEREAAYyFZONIT | ERHEEEINTOEGEL BRI—FZELSHERLTIIEEL,
LTEIMELEL <6-4 (P49) BE>

* A VBRAA Y FOYT
BEAA v FOF 5 OFF

MADEIRAA Y FZONICLTLEEL,
<6-4 (P49) B>

TREELHEL < BL

<1-1 (P.1). 3-1 (P8) B>

BENTBRE CE1—X
HInfe

BEEOREZRFRER. ANT7DE1—
RICH L TLEEW,
<17%& (P122) &>

Ny FRVDSER%
HALEL

Ay AR BT ORIE

ANy BRI vy I R— RER#HLTL
£EL, <115 (P92) &8>

ALLS HX2, 77> 7 DtgkE

TANE-RTEEHATSD
CTEELN,

<SM T4-1 RE=H—FT X b1 BR>
KEDDHSHEIF. HEBALIIEE
FRHD [BREAVEDER] ETERKL

LT

TLEEL,

69

Q\ ANI=— p\'SWNIT H



70

QN ANI— p\'S\UNIT H

NSO a—FaVT

2 —CBMEH RS 50

F>TIVARE [RE AR5 E
AE=H— V=T 7— | EEFABHELIGL AAYyFIAZy bDY I PR 1 —L4
hPSEEEHALEL EIRBELTLIEEL,

<7-1-4 (P63) &E>

HEDRY) 7 EN2AX (BFE) POEEHAID
RE =R L TLIEEL,
<SM 13-7 57— LE&RE ) B>

ALLS HX2, 7> 7. AE— | TA M E— R TCERENT SR LT

H— D& T2,
<SM 141 AE—H—F7 X b1 B>
KEDDHSHEIF. HEBALIIEE
SEHD [BEVEDEER] TTERL
TLEEL,

BERIEHANTIHEZ | RERTEZZ2—ODHE BRREZZ—ZHLTLIEEL,

<11-3 (P.86) &E>

ALLS HX2 D#fE

ALLS HX2 Z3#a L T < 2Ly,
<18-3 (P.132) B>

F—DHmHMYFR

T =2 A ERICDIEFEFE
Z=1{EH

EEOBEPLEELE | EEARLSEYTEN WUGEAEZ LT<TIEEL,

b‘LL‘ <11-2 (P.79) %F"ﬂj\>

ZLED SV 7THRMTL | LED 5> 7DHkE TAME—FRTLED S 7HhRI9 %

L HEEEE LT EELY,
<SM I3-3 AT R ] BE>
HENHSHEEIE. BEBALEIEER
ZRHO [BEWEDLEEL) $TEEL
TLEEL,

REVDBREELBDL | 7)) AT TWS TJVRAT v 7LTLIEEW,

L<ib <12-2 (P97) &E>

R DHPE RV EZHLTLIEEL,

<12-1 (P94) =BE>

2yFRH—F)— RETEH— R, BYA7 | 7AME— R THRHEY D TESZHHER

LTLEEL, <SM 13-9 Aime #— K
)—HZ—F X ] BEB>

2y FRA—F)—H—D
M=

JmIBASLE I AEREHD [BEVE
HEFk] FTERLTILEL,

TLATEELN

2y FEVYHEEL | ZvTF LT OHE 2y FRIYEZRLTIIEEL,
s <114 (P89) B>
RYFEVYOBREDS | 2y FEVURELNBENT | ZyFEYREZBRLTILEL,
BbLlBw W3 <11-1 (P73) B8>
FREHEL) TH L TAME=FTHBLTIEEL,
<SM 1352y FEUYTR b SR>
BALLOACVHEE | BIERE CEER L cld | FERRIE lE T — N\ —RIED—ERH
Tha Y—IN=AVTFAHR NS, LYy REIBRL, ®RAETNT
A 2V 7%RALET,
< SM T3-10 BAfERE ) B>
FhfcfEH KHECEEICH LWEMD | Ry b T —7ERD SNIIRET, Fid

7o CLIEEL,
<7-1-1 (P62) &>




NSOy a—FaVT

FS7IVARE

[REE

o Uy p s

A e db P13
BEZZ -5

TLAY—hASDHE

TARE-FTHEELTLEEL,
<SM 13-6 hAS TR 1 BE>
RHEDDHIHEIE. TLAV—AXAT%
e LTLEEL,

<16-2 (P.118) B>

dA—FRY)—=4—=bh— | ["WEADH—RFREFERALT | ELWA—REFERLTLEETL,
FESRELEWL W3
H—REZLAGAETHRE | H— FOod— FEoHAREmEALCAICE
EO>TW5 5E2CLT A—RITV M)—=lChH—
FEFELIAATLIEEL,
AATHEHNIA—FHRAENT | AATHNI—REBFLTLLIEETL,
Y <14-2 (P.112) B>
A—FOO— REOHEIE | BELTWEWA—RFEFERLTED,
LTW3
H—FRICEHREA)—T% | A=A LTERLTLIEEL,
FFTWVB
O—FRJU—4A—DLEDZ Y | O—RFRJ—4E—D&H, B 2T LTWS
TOH[E DEEERL TLIEELY,
BEBALLCIIARERHD THHEVE
bkl FTEELTLLIETL,
O—R)—=E—DHASHE | TAME—RFTHESELTLLIEEL,
<SM [3-6 HAS TR ] &8>
BERAHZESIE. O— ) —4—hHX
ZAZy P EZBRLTLEELD,
< 14-1 (P.106) &>
BETLADTELRY | BREDRY ELLREEITOTLIEEL,

<SM 13-7 7— L&E] BR>

LAN 7 — 7 L D5 Rt

LAN 7—7)LZEL<EHRLEBEL T
TL, <6-3 (P39) &>

LAN %7 — 7 )L ODREIR

LAN 77— T )L &35 LT fEELN,
<6-3 (P39) &8>

Y—I\=A2TF VAR, B
B, Ry TV EE

FAIERSZ. T3 —IN\—X2V 7+ R
B ZFESR L C < f2ELy,
H—N\—KIE30 PRI AV TFH VR
BTET. BETLAIETELREA
<SM M-7H—=)\—A>F7F> X1 11-8
FAIEIE | SR>

JV—3 — D[S

HmBALLIIARERHD [BEVE
Lk FTEBLTILEL,

ALLS OSEmEOTEF7
FNN24 XE@ElcES
EW(IS5—%KRR)

ALLS HX2 DEREFRR. =

ALLSHX2 DY —ERXIZa 7))V T4 &
I5—Fn]) ZHBLTIIEEL,

HEEL TWBIFEIE. ALLS HX2 Z35#h
LTLEEL, <183 (P132) BE>

MERAODBBEICGGHL TS [SM] 1FY—ERXAIRZ27 )V ZEELET,

[4

Q\ ANI— SN H



72 #weT-4—. 2yFevHy. Ay RKYIrws

B ERtE=4—. 2vFEUsY. . AYEFKRYIvvy

REEDOHAIE. FrvExy M TPAITHREALET . AHROFET. FreExy b 2P AIGIEETE
ia—o

(¢ )
8 &
= H

® TROBE. EMEMITZLEE AKOFELEYET, TCKBRTS 5%
Yy D 5HE, BREAKEEFBRAD (SHLEDES] FTEELT
R0

- RIEPRRDT BI5E

- BELRSHWSE

* REBICKPEMB A > Feimd
< ZT. BHELSE

@ ZE, BE. PRI LLEVLTLEEY., RMICRBEEDTVEIHHY . EE. X
KOFEHEEBYVET, ARBOREPRABES LTEEIT. REBAKLIEIEERH
D IBEVEDEE] IEBELTIEEL,

@ Rz ANGWVWTLEEL, BREOGEDL S EREPHRE EDRZ LT LIHRER
ICASfIRE. BB, B, KKORERREGVET,

2 /)
(¢ 2
A i B
@ BKERE-Z—OEEEMVLY. BEEMZRY LEVWTIEEL., 52580

TaETIBanHYET,

@ RRAE=Z—DHSABHNTREFENIIFEIR. BECHAGLNTIREED,
SHIH< & AMEICEESZBBNIS Y ET. BARKIE RO L S ICHAL
LT,
cBPOICAS Y, BEICHVEY LIBER. ThOBKTECHENAEL, 3¢
ICEERICARRE L T FEEL,

REICRVEBEIR. TCIENLAEKTRNRL T T,
RBEZZ—LAOBEICHO LSS, RNCESMN GV TRER> TLEL,

@ EYLBEEEFOTCEEL. BADFS V. EFGLEERBELLEEEE LA
VT EEL, FEYEEEOE@EE. SEHHSEVCDERL EDFATRER
CTREEEYET,




WREZZ—. v FEvY. Ay ERYIrvs 13

11-1 &Ei#

@ LW ES5HVE (RIVE) EEALTENEREN->TLLETL, BOHEL
H—EHEERERLEVTLREEL,

FE BENHVENE FE, ESNVRICKEIENZERESTE, B<KK>TH
SENERERS>TLEETL, Z0%, EWVHTARERER>TLEEL,
(EEABIPERITER LEVTL T,

@ ISP ETVEEDEVLDTREZE Y. Flob W) LEWTL K
TN

11-1-1 2y FE Y REDFF
BERICHELGTIR, EEHE

E5H0E (RIVE)

BEBR L TLIEEL,

am.sega.jp



74

BREZZ—, By FEoH AV RKRYI vy o

11-1-2 2y FE Y REEBRBEZ 2 —REDFR
BERICHELGTIR, EEH

p—
TRZ—F— BUIN=TIV—=TLVF TZRARZA\— iy bLUF

(Coy=10) (M4 B, TRB&) (M4 ) (&0 FEEE 10 mm [M6 A 1)
1REEF FES5HLR H—ERTZa7I

(1m X 06mbLlE) (xIVEB) (S/E &)

RNEETIE. PRIOBRZFHALE T, FROFIET 2P ROBRZIT DI ENTELT,

1 RRAZ—F—TCHEL. €L 72— FT7ZRELT,

2 Y TERAA Y F% OFF ICLET,

am.sega.jp




WREZZ— 2vFEvY. Ay ERYYrys 5

3 RUN=TI—=T7xI5@HNL. 7OV PAN-ZRINALEY, TDEE FrERY
hMAID LED Bt LED 77— EfREBIII VK SITERLTIEEL,

BUIN=TIV—T %Y 218
M4 X 20, F. /INRESRS

702 hAHIN—

2VN=TIV=T7%Y 3@
M4 X 20, F. /\RERA
MARBUF D%

4 FSAXD2MEZEN L. Ny 7 1P (LA) ZRUALET,
FrEXRY F2PRIDEEZITOIHEIE. ARV 2EEALET, YRR —F— ke
LT Ny o K77 2P (HA) ZERUALET,

bSRXY (FE) 2@ PSRRXY (B) 218
M4 X 25 M4 X 25
HRARBPES (R) %R HARBPES (R) ZEMA

N K77 1P

FreExy 1P FreExy ~ 2P

am.sega.jp



76

BREZZ—, By FEoH AV RKRYI vy o

5 OX7 B =5 @ZHREET,

Ix74%— 5@
YL4P. SM3P. SM5P. XA12P. XAD26P

6 NARIVE 6 EZENALET,

ANARLVE (B) 61

M6 X 30, F. /\REEH
NABITEEZ R

7 REMZIRICEEETT,

am.sega.jp



77

B— BYFELIY AV RRY D vy

REE

L CTIREM

<

EREE 2 AUUETEZRHLTRAM Yy FAR=XZRIAN L, 2y FE>TEZTI

DEICEEET,

8

-~
-~

fA—kEER Y FEUVYERZERLET,

t=

=]
B8R

9=

2y FLUYER

am.sega.jp



78 waE—4s— yFLoHy. Ay RRYIrys

1 AAYFAR=RZEFvEXY MIRYAHIFET, TDEE FTEDRAUITERELTILEL,
* MY FAR-—AEE MIOMMEZEEDRE TIHIAIK Ty IZEFvERY FD5|oH
FEBICE o DMFTLITELN,
c BERREBRE VL DITERLTLIREL,
C FEPREBVLSITERLTLREL,

Elieralzs:is

1 1 FIE3H5 6 Z2L. WOFIBTERLTILEL,

q D FTREAS v FEONILET.

13 2y FETOMERRZ LET, <U—EAIZ27)V 352y FEUHT M) B8B>

am.sega.jp



BREZZ—. By FEH ANV RRYIv vy

11-2 BREZZ2—ODAE

(g o)
T
= A
@ ERIFEHAVTF VAR YDEMEDMTOTCLLELETW, REGEDRRAE GV ET,
@ EELUNDEFICIEMNGENTLIEEL, KRE, Eig. KKXDRREGZVET,

2 ~/
(¢ o)
A B

e, B . YN LERICIEZREFNGEOXSITSEFRLTLIEEL,
2 ~/
BEFBEICOVWTIRTISHAERICEBEREZITO>TVET., GPHIHRED
EEPAZREUNDARZITOHEVTLILEL, ELLWRRHMTONGEWES
BFE | HYET.
11-2-1 ABERANDT7 7R

AEHEFFrERY P PAITHRALE T, FrExy b 2P RAILEROFIETIEERTEE T,
BERICHELIER, HEH

(B

= =

NAZ—F— TSARSAN—

(M4 )

1 NRAZ—F—THEL. L7 2—FT7ZRELT,

Ly s2—k7

2 B ITERAA Y F%& OFF ICLET,

79




80 wmaE—s— RyFtLIY. AYRKYIryY

FSRXD2EENC. Ny T F7 1P (Ef) ZERYNLET,
FrExy 2P RIDEEETTOHBEIE. FIARY 2EZALET, YRR —F—TChEix
LT Ny o K77 2P (HA) ZERUALET,

FoRXY (B) 218 FSRXY (B) 2@
M4 X 25 M4 X 25
*ARETE: (B) Z%HA *ABETE: (B) ZEH

FreEXxy M1PA

4 O—RoSYT I EEREET, , b

I—Fo>>7 1@

— @/d l- ) ~
’ s B

FrExy FEERA (RER)

5 ABERDY A 2D FEHL T REE
R —HEHLSHBEEREINIALET,

FrExy bEEA (RER)

am.sega.jp



WREZZ—. 2vFEvY. Ay ERYYeys 81

6 EERDERE. /Ny 7 F7 (EA) ZEUALEHROSOIY REIELET,
XEEAHOSRTFyEXY PRI TROMDAET L FrEXxy b 2P AKX TROER
DETI PN REDDVET,

T RE
¥Fv xRy b 2P AllE R

F v Exy FEER

7 SRV 2M@ET /Ny T K7 1P (LA ZERYMITET, CDEE BREREHVE
DITERLTLEEL,
FrEXy b 2P RIDEEZITOHEIF /Ny T F77 2P (LA) ZEUMITET, XAE—
F-ChefeL. FSAXY2ETEAELET,

FSARY (B) 218 FSZAXY (B) 2@
M4 X 25
XARETES (B) ZEH

PRSP

s A

FrEXy 1P FrExy 2P

8 YITEBRAACY FZONICL, RBEZZ—DREZTVET,

am.sega.jp



82 meTE-s—. BuFL Y. AYRRYTrvYs

11-2-2 AR *

BIEHABZT O HEDERNTTRIETAICOVTEHRBLET,

IMENU/ENTER

| Ry - Rgv ) Rey

TAUTOJ RZ >

\ \ / TPOWER] R& >

SNFET

o [8] [8 3] B o
MENU/  _
AUTO ENTER + POWER
SRR
AUTO vl
MENU/ENTER OSD AZ 2 —EEDFRR/BEDRE / X—IWEZ
- BIRGEDRY 2— LB/ LIS/ O PS5 A MEERORT
+ BIRERTEDRY 12— LB/ FICEE/ 724 F X ABEEDRT
POWER CDORZVIFERLEEA.

1 TMENU/ENTER] RE2>%Z# L, OSD X Z1—BEEZXRTLE T,

2 M+1 =1 R2>CHRE/FRELLVWEBZZEIRL. TMENU/ENTER] RE 2V THEZIR
ET &, BRN-DEBICBEVET,

3 |—+J\ |—_J ZRQ)T%LEE@“E%EEJ%LT<T£$L\O

4 AR/ REER. TAUTO) RE2>Z#LTOSD XZa1—EmEhL S5ikiTdE. BREHNRBEEIN

ij_o

am.sega.jp




BREZZ— By FEoH . AV RKRYI vy

BEEE DA
LUMINANCE EEDEX. BAITERARLET,
Contrast BEOBXAZHAELET,
(YEARRESE - 50 ERAEME - 0~ 100)
Brightness BEDOPESEZHAELET,
(FHARRESE © 100 EXAEE : 0~ 100)
IMAGE ADJUST AEETIFFER LE A
COLOR ADJUST EEOBDRFZHELET,
Color Temp BEEHOEREZRHAELET,
(REME : 6500 TFHEALTLZEL,)
Color Adjust AEETIHERLE B A,
SETUP MENU OSD XZ a2 —EEICEAT 5FHEZ LE T,
Language OSD A -1 —EECERATSEHBZERELET,
(BRTEME : English THERAL T EEL,)
OSD H Position OSD X Z a1 —EHEOKEME (H) ZHAELET,
(FIHARRESE © 50 ERXAEME - 0~ 100)
0SD V Position OSD XZ1—EHEDEBMUE (V) ZHELET,
(FHARRESE © 50 EXEE - 0~ 100)
0SD Timer AEETIHERLE B A,
0SD Transparency OSD AZa1—EHDEETZRELET,
(FHEARESE : 0 3R7EfE - 0~ 100)
RECALL AERETITER LE A
INFORMATION AHEFETIFER LEEA
INPUT SELECT AIMEEEZEIRLE T,
(BR7EE : Auto Search TfER LT f2ELN,)
1BRIER

BlELTTZA 2 RFAE (Brightness), OSD KFRT 3 DA (OSD H Position) DIRIESH

EERBNLET, AlzsRL. OEREHRE L TLEL,
B7 54 b X5AE (Brightness)

1 M+ RE2VERLT. 754 bxRABEEZRRLET,

Brightness

100

- <] > ]+

754 bR AHEMH

[+ =1 KRRV TR 12— LfEZREBLTEEND,

FAEER. TAUTO) RV L CEEZACTIIREL,

QN

am.sega.jp

83




84 maTE-s—. 2uFEIH. AYREYTrvYs

B OSD KFRI Y 3 DiFA%E (0SD H Position)

1 MENU/ENTER] RZ > %Z#LC. OSD A1 —EEZXRRLET,

> LUMINANCE
IMAGE ADJUST
COLOR ADJUST
SETUP MENU
RECALL
INFORMATION

INPUT SELECT

sokok fokkk  dokkk X kokskk kokHz

0OSD X — a1 —[@Em

M+ 1. —1 KRR 2T ISETUP MENUJ Z 3R L. TMENU/ENTER] RE2 > Z LT Y 77y
TAZ1—EEZRTLET,

O Language
0SD H Position
0SD V Position
0SD Timer

0SD Transparency

sokk dokkk kkokk X kdokk kokHz

Yy b7y T AZ1—EER

am.sega.jp



WREZZ—. 2vFEvY. Ay ERYIrys 85

3 [+, I'—] /"2 TOSD H Position] #3#ERL. TMENU/ENTER] R~Z &L T, OSD
KFERIYY avEEERRLED,

Language

@ 0SD H Position
0SD V Position
0SD Timer

0SD Transparency

sk X *xkHz

OSD KFERIY Y a3 VEMR

4 T+ T—] REVTRY) 2—LMEEFFARELTLEEL,

@A, TAUTO) K% % 3EIF LT OSD #* — 1 —BIEZRIL T T LY

O

am.sega.jp



86 wmaE-s—. 2uFEUH. AYRKYIrwY

11-3 BREZZ2—D35H:

(¢ o)
A%z
= A
@ ERIFEHAVTF VAR DEMEDMTOTCLLEEWL, REGEDRRE GV ET,
@ ERIFEFZEYV>THOITo>TLLEETL, KRE, Ei&. KXDREREGZVET,
@ EREEDITHVEKSITEELTLILEL, RE. B KKXDFEREEVET,
@ IEEUNDEFICIFNGZNTSEEL, RE, ER. KKORERLEGVET,

A EE
® MIOME. BYUMF, BYS UBICEERENANE S ICERLT LT,

Q@ BRRE-Z—Z2XMLILER BYTEEHABRZITOTCLLEV. BEDF >V F.
EHGEZRBELEFEEELLEVTLREL, FEYGRBOERERIZ. SEKH
HENPHBEEZEDFRAFRZRIIRERLLGY ET,

@ EELTWBT7RAF— (I, Ty b EBEEE) Z2THAT & BB@mETL.
EHORALELGVET. BmZELoWXFLLELS, BELTWS T 7 AT —%

ALTLIEEL,
@ JSRAFY VHEBEDIMYBWSERELTLLEEY, BRHSBIEL MA . EEICK
CTRIETRHEDHIVET,

@ JSRAFy IVHBRODEEDELER, I, Fv MEOKDHMHFBEICEFRELTL
EW, SBaiEEL. WA, EEICK>TaETIHRELHYET,

@ H5AHMBREDEYBMNTEFRLTLIEEL, B@mABIEL, WA, EEICEST
BIET3BaDHYET,

@ H5ARMBRIIEBRDEEFICEHIEHDDETY, BEICIITHNTIY., ZEWMH
HEZEPNMAGENEETVSIEICBEVWYITSL. BETENT, B&ROBAE
ETRIETBHEDHVET.

@ SRS Ry F XL OFBEF>TREL, BERARLLIBNE, 7
LA — & DEEL M5 I ILOREER Y £T.

BE | @ \t0BESICLY ICF— F LOBFBEHMIET 3BNH 5 Y £T. IC K-
REE YIRS B E N S REIC NS5 & DMEETO. SE0HE
BSERBLTL T,

g




BERICHELGTIER, HEHE

BREZZ— By TFLIY AV RRY I vy

87

N\
_ \ I,
C———— \
—— :l::ﬂ:l])
—
RARZ—F— BUIN—=TIW—TLVF TZRARZA/\— iy fLVF
(&) (M4 A, TB&R) (M4, M5 F) CehaEE%E 10 mm [M6 F3 1)
1REEM 21 E5HWLE Y—EARZa7Ib ALLS HX2 ot —ER< =2
(Im X 06mLLE) &%) (TEd) IV (T
1 AAVERAA v F%=OFFICLET,
2 M1-1-2) FE3IHS5ZBBL. BIROFIBTEELTLLIZEEL,

xR —2M@%KEET, TOELE DVI ARV Z2—REERAXVEZEDHTHSHENT
IEEW,

Jx782— 118
VL3P

REEZZ—

Qxs4— 118

DVI

FrExy MEEA (RER)

4 M1-1-2) FE6 15 8 ZBR L. RAHRDFIECTIEELTIIEEL,

5 REMZREET T,

am.sega.jp



88 wmaTr—s— yFLIY. AYRRYIEyY

6 NARIVE4EZENA L. BREEZZ—ZWMINLET, TOEE REBEZXZ—IIMEEE
2ANUETERL, REEZ TICLTREMDLICEWNTLIREL,
WY HF2RIE. ORI 2—DUBELFvEXY FEERAINSRT. GAICKS K SICL
TLEEL,

NARIVE (B) 418
M6 X 30, F. /\REET

7 XV 4EENAL. BRBEZL2—DORBEZAR—T 7 v F 2EZERIALET,

2Y 4@ RETE-4—T7S547v ~ 2@
M5 X 10, . /\‘zrz@ﬁﬁ\ h

BBE—R—
200-6280

FlE2H5 6 ZERB L. EOFIRCTRIET 2 RFE=-2—ZWMI IS BHIITELTL
TEWL,

9 A A VERAAC Yy FZONICLET,

10 BEEOUBRAEZ LET, <U—EAIZa7)V [3-4EZ42—TX ] B8B>

1 1 BEEOBRAEZ LET, <ALLSHX2DH—EANXRZa27)V [3-4EZ2—FT X~ BE>

am.sega.jp



BREEZS— 2vFLrH. Ay ERvIrys 89

1M1-4 2y FE2o91=vy DI

BERICHELGIER, HEH

>
& :l:@
=
IAZ—F— BUIN=TI—=TLVF TZ2ARZTA N~ Viry bLUF
(S/E &) (M4 B. tRE&H) (M4 ) CahDEEEE 10 mm [M6 BB 1)
{REEM ES5HWE H—EZ2AXZaT7 Il
(Tm X 0.6mL) (xIV5B) S/ &)

1 A VERAA Y F%& OFF ICLET,

2 M1-1-2) FIE3 K5 8%ZBRL. AHRDOFIECTIEELTIIEEL,

3 ARV B —=2A%ZHREET,

Jx72— 218
XA2P, XA6P

am.sega.jp



B—. BYFLHY Ay RRYI v vy

REEZ

90

v b ERYALET,

SEENL. Ry FL oY vI4EEZ2YFL YOI

X

~

4

8 1@
M4 X 8, T /\REESAT

xY

2y FeoY Y

£
EN
I
_I._
i
\/
Y]
1/
BN
-

WMIH2yFEYIZy FERIUMSITET,

7'—2
IDEE By FEUHR-FH, AR Z—NRIVANTK B LI LTLREL,

SET. ZvFE v 4{EL

T

~

9)

8 1@
M4 X 8, T, JNRESAT

%

418

N
BN
N
N
A
Y|
L
BN
x

2y FePR—F

v

2y FEH

509-6483

am.sega.jp



BRE=S—. RuFerH. Ay ErvIvvs 91

6 A7 2= 2% LET,

ax04— 2@
XA2P. XAGP
R4y FA—R
7 M1-1-21 FE3IHS 8%ZEBL, HOFIEBTEELTLIZEL,
A VERAAyFEONICLET, -
8 11
9 By F o HOEMEERE LET, <U—EAXRZa27)V 352 yvFLUHFTR ] B>

am.sega.jp



92

BREZZ—, By FEoH AV RKRYI vy o

1-5 Ay FRYI ¥ v I K- FDOXKH

BERICHELGTIR, ERHE

————— :@
YRZ—F— BYIN=TIV—=TLVF TZ2ARTA N~ Y—EXRZaT7 I
(S &) (M4 B, TE&) (M4 8) (NE&)

1 M1-1-2) FIET1H5 3%Z22RL. RAFROFIEBTERLTILEL,

22 ZY4EENL. AY FRY D vy 72y bZERMYALT, X7 2— 1 {EEKREEL T,
CDEENAY RRY TPy 72y MIEREINTVSERZS I DRYBELGVEDIC
ABLTLIEEL,

NY FRY vy o1y b

PH4P

am.sega.jp



BEEZS— 2vFLrH. Ay RRvIrys 93

3 XY AEENCLAY FRY I vy TRIVE—ENY RRY D vy IV R— RERUALET,

Y 4@
M3 X 8, /R JNREESAY

NY RRY D vy IRV —

Ay REY Dby 2R— K
837-20015

4 FIE2 L3 %25 L. WOFIETRIET 2y FRYD v v I R— FERUMIF, #HriL
TELTLREN,

5 2YN=TIV—=TXI5@T. 7Y bAN—FERIFITET, TDEE FrvEXY b
o> LED £4flk. LED 7— 7| BHRZEBZ OBV LIITEFRLTILEL,

BUN=TIV—T7%T 2@
M4 X 20, F. N\REET

70V hAHIN—

BUN=TIV—T %Y 318
M4 X 20, F. /\RESRT
X ARBUEEES %

6 Y TERAACYFZONICLET,

Ny RRYD vy 7leny RRVZ#ER L. EBENMENENTVSHHERLE T,
<HU—EXAIZa7IV 141 RE—H—FT X b1 BE>

= nn

am.sega.jp



2V

12 9%

AEBIF. FrERY M IPRIORZ> 1 THELE T, FERROFIET, DOREZ VEEETELT,

12-1 K&

A EE

O FRBEHAV T TV AIVDEMENMTOTLIEEL, BREGEDRHELVET,
O FRIIEFRZT>THSTo>TLIEEN, KB, Mg, AKDEREGTVET,
@ ERZBEOIHVELSICERELTLRLEL, BRE, B8, KKDRERLLGVET,

S )

BERICHELGTIR, ERE

AN
o
YRZ—F— BYIN=TIV—=TLVF TSRARS AN~ H—EAXZa7Ib
(TE&) (M4 A, 9B&) (M4 ) (/B &)

1 NAZ—F—THEL. LLI7R2—R7ZREELT,

Ly s2—k7

2 T TERAA Y F% OFF ITLE T,



xe>v 95

BYN=TW—=T%T 4@EENL. K221 OEBIDRXA v FHN-ZBRIHALET,
BT BRIE, BRZEHREGEVLDISERLTILREL,

AA v FHIN—

BUN—=TIV—T %D 2@/
M4 X 10, F. /N\RESRT

-

AR

‘1 A—FISVT 1 EZREELT,

RE1

JI—FI527 1@

53 OAX7 2= 1{EZHREET,

RE 1

SM3P

am.sega.jp



96

2

6 XV 4EENA L. R2V1EZRIYALET,

RE1

M4 X 8, T JNREESAT

XY AET, BT BREZVNVZWMIMITET, CDEE A2V 1 ZHRBEZR2—DF

IMCH R TIIAIFTLIEEL,

M4 X 8, T, J\RESAT

8 FIE3H5 5 %2R L EDFIETCRIET H5RZ > 1 ZRIMFEHIITELTLLEL,

9 Y ITERAA Y FZONICLET,

10 REVHEET 2R LET, <U—EAIZ277)b I3-:2 AT A~ BE>

am.sega.jp



"R

12-2 GURT7v 7

e

~

A xE

ASTBVESITERELTLRLEL,
EEDZEIZRITTLIEEL,

® JTURDREICHNDG EXEZRITHAEDHYVET, REFREZFERTBE L.
BEICHNAGEWVESITERLTLREETV., REICMhcEER. KEARBRTHIIC
KO TCLIEEL,

@ JURZRSITHEELNHYET, BHIADEBVSATRIERZITOLHEWVTEEL,

@ JURANBICASEREZRITIHEELHYET ., RERFEZEAIT 5E L, BIC
BICA>fc & EIR FRGKT 15 LULEFREL.

/)

ER

\
Q@ EENT ) RAZFERALTLIEEW, BEUNDT) R ZFER LIIEE. Bk

BHORREGBEBNDSHYET,

@ EEMUNDEFFRICIT T ) AZ BT LEVTLREL., IERRPEMOME

TG EDENDHY ET,

@ JIRT Y TOIEEHEIEHETHLERTY., ¥V
EEEMICTURT Yy TLTLREL,

BLREDEREDHNI.

BERICWELGTIER, HEHE

)
="7)| __D|—o
&=
AL —F— BYN=TIW—=TLVF TSARZAN— 51Uz
(/@) (M4 B, IE&) (M4 F)
REFL

3HRBIC—E. FEEDFIETT VAT Y FLTLIEEL,
T A&, VILRZR b 248 (E@ES 1 090-0070) AERELTLIEEL,

1 M2-1) FIE1H5 6 2B L. EROFIECTHEELTIILEL,

97




98 xs>

2? XV 4EENA L. AA v FRLIVZRIALET, Q)

29 418
M4 X 8. . \FEE

:3 2L FREVERE, NRICT)RABEFANAGSHLS LS ICERLET, TDOLEE,
GVREZEHRLITEGVEDITEBRLTLLRETN, Few £ H—8BICT ) ADMEH RN
EOFBELTLLEETWN, £ —8RIcT ) AHQMTE LTeBEIE. ESHPWHETETNWICH

FEOTLEEL,
INZ
AHRER Y 1) R DRI EEH

21 v FREVEEL. 2T AECRA v FALLERIST 6
=7 %

*xY 41
M4 X 8, T NREEfT

AAyFRE)

am.sega.jp



xg> 99

5 M2-1) FIE3IHS 6 ZBR L. FDOFIBTIERLTILEL,

6 L7 42—F7%ZBAC, IAZ2—F—ThEfe LE I,

LI E2—F7

am.sega.jp



100

AL 72—

Q1L I3 —

-

A sz

@ FRIBEHAVTF VAR VHEMENMTOTLIEEY, REGEDRHERTVET,
@ FRIZEFRZT>THSTo>TLIEEN, FKE, Eig. AKDFEREGTVET,

A &

@ MmO, Y. YA LEICEEZHENGVLRSITEELTLREL,

® ERZYI>cE#IE. A€l y42—Daq7avhA—V L /A FHEERDE
FHEOT, MhEWTLEEL, KEDRREGFVET,
e BRI T7AvHA—V L/ A FHBREITHBHTHEITo>TLEEL,

Wl a4y 7avh—vYL /AR

@ 1MV ELIZ2—DBERIBIERSHOHELEEFEALTLIEEL, FAHDE
WEER, TITKERBBHBEEZITE. BKROTHESHEM> TS
BFE LY (EFFBIPERIIEALGOVTLEEL,

@IVt LIZ2—Z2FANLIRBRBERGERRETERDOI A ZRAL,
EREICE TEERERLTSEEL,

@ IVt 7Z2—3BERETT. FTRABRGIYRWVIZEBREE. EFERO
ERARGEDRREBTVET,

@ Ity 2—Icidiim. 7 RGERERALGEVLTIEEL,

® F77L—b% 90 EULRELGEVTLEEL, 90 EXMEREC L. EVINX
ICEBE AL MDY HEORRETY ET,

@ FEHEENDAEPIBROIM YA L ZTOIEWVWTLIEEL,




arversa— 101

[ 13-1 a1 VAT F |

1DAIC—E, TREBDOHEZRZT>TCLRREL, ERICTAME-RFTO/T7aYH—DT X
FELTLIEEETWD, <U—EXIZ27)V [3-3HA7X ] BE>

O34V A=Z—FERBICATY FTBD7?
OO VIFEBICF vy 2Ry T ATEEBRH?

(HREVRZ > Z R LG SIRA TN VIE T4 ViREAONRNEN DD ?
OEREEUNDEEZRNT 50 ?

)
JA4 &AL //

O VIRHIRZ > /K,/

a4 2RENO /U/

J

AV A—F—
A U A—RZ—FRAENTSC
100MEEZAY > FLET,

am.sega.jp



102

mE S A

13-2 Q1L 2—DEBY AL

BERICHELGTIR, ERHE

————
NAZ—F— RY T ARZA/N\—
(R (rHDEERE 7 mm [M4 A 1)

1 NRAZ—F—THEL. tL 72— FT7ZRELT,

2 Y TERAA Y F%& OFF ICLET,

3 O—FISVT2EEBEELT,

.
a-ks5v7 28

am.sega.jp




i A

4 ARV B—AEZREET,

Ix748— 21@
F205 (2:FH1fAI).F205 (E.F:HRAD

Ix74%— 21@
F110 (&: LMD F110 (& T4

LI E—HIN=

7509ty s 2@
M3.5

FrUvIRILE 2@
M3.5 X 12

6 Fr Uy IRIVE2EET S VI F Y b 2EZAL. DML I 2—ZRMIHNLET,

-

709ty 2@
M3.5

a1/ >elLo2—

FrUvIRILE 2@
M3.5 X 12

am.sega.jp

103




104 - eLos—

13-3 Q1LY 2—DiFHw

BERICWELGIER, HEH

IRZ—F— Ry I ZARZA/\— I7RTL— Kol
(Co1=10) (cHOFPEEE 7 mm M4 B 1)

VINISY Eo5HWE
(RIVER)

1HhBRIC—E. Q1L 72— %FRLTIREL,

1 M3-21 228 L. AROFIBETCIA L7 2—ZRMINLTIEEL,

77— bZEAES. T7ZWEMFT RAVPENZRYBROTLZEY, &8T5
LIBNIEBEDRSDWT S VIR ETRYBRWLTLREL,

3 ES5DWRICKEIFNDEHZ0R LT BB THEENZRHERI £,

4 Horcgld, ZHlERELTaAM VL LI 2 —ZRRATBEELET,

5 M3-2) 28R L. FOFIECIA L7 Z2—ZWIMIFTIIIEL,



arvervs— 105

13-4 a1 V5% Y Ol

BERICHELGIR, HEH

P —
— 1
C—

RARZ—F—
(S/E &)

REALN—=ZFERLTHIM VHRATNGEWEE, YAZ—F—TCHRiEL. LL 72— 7 %ZH
TEY, JMVELIEZ—DF7TL— b 2RV TCEE oA Y ZRYU RO T EEL,

< M3-3] FlE2 &8>
BUBRW IR, ERGDMVZR/RALTOAM LI 2 —DERICE < AREEEL T EEL

<131 &8>



106

JI—RU—=H—=AX*7

O—KY)—4—hA*5

14-1 A—FV—=4—h X521y DX

@ FRIBEHAVTFT VAR VHEMENMTOTLIEEW, REGEDRREBZVET,
® EREERZVI>THSITo>TLIEN, EE. B AKODRERELVET,

@ FRZRE. BRITIHIT. THLERELRERZH OBIBZARLTLE
TV, FRELGHEH D TIIER. BFTORREGVET,

@ HHETOEEFIE. &R BTESIXUXAPFyEXRY MCEBZIDFELE
NTERLTLEEY, ERFRDFRAEBTVET,

@ EREBEITHVXIITERELTLIETL, BE, ER. KKXDREREEGVET,

A xEE

EELTWET7RF— (RI, Fv b, EELEE) 22THAT L BEHVETL. B
BMOBRHREGDET, BmzELoMYZRLLEDS, BELTVWSE T 7AF—ZHALT
CIEEL,

3

BERICHELIER, HEHE

N
=) _D|—m
@’\
RRAZ—F— BYIN—=TIV—=TLVF TSARZA1N— Y—ERIZa7Ib
(B &) (M4 A, 1/Ed) (M3, M4 F) (R

I
b




a-ry—2-nx35 107

AEEHDFHBIE, FrERY FPRIOI—FU—Z—AXSTHELET, BROFET. Fv
Exy b 2P HIBIERTEE T,

1 RRAZ—F—TCHEL. tL 72— FT7ZRELT,

LI E2—F7

2 T ITERAA Y F%& OFF ITLET,

am.sega.jp



108

a-FU—4—h25

BUN=TIW—TxT4@AEN L. €L bREVNNZIVIZ Yy bERYN LT, %7
R—1{EZEKREEXET, TOEE CLIZ FMREZVNNRIVIAZ Y MEFINTWVWBERAE
FIoEVBEEVESITEELTLIEEL,

BZUIN—TIV—T 2T 4R
M4 X 10, F. INRES

LT bREVINZIVIZ Y b

Jx742— 118

am.sega.jp



a-ry—2-nx5 109

xV4EENL. RYFRA—FU—E2—2Zv bERIALT. ORI Z2—2@%ZKE
£, TDEE BYFRHA— R —F—0Zv MEHINTWVWSERES 2RV IBE

BTOESITERELTLIEEL,

2y FRH—K)—4F—2=v |

*xY 418
M4 X 8, . /\REEEfT

Ix7%2— 118
XH7P

Ix7%2— 1@
SM8pP

-

55 O—FISVT1EEBEELT,

J—Fo>>7 1@

am.sega.jp



110 —ru—s—nx5

6 OXV 2= 3@%ZHREET,

L

axve— 1@ B axv48— 218

USBI[1P READER] : | _ YL3P. USB[2P READER]
WA 'Qo

-

*Y 318
M4 X 8, T, I\REET

e 2
J—krU—H-2aZvt V5 ,

axv%— 1@ axv%— 118
SH5P SH5P

XFrERY k2P HELERY B IPA

am.sega.jp



a-ry—2-nx> 111

9 XY 2EEN L. A—FU—H—=hHAZ2 =y b ZBUALET,

*xY 2@
M3 X 20, F. /\RESHT

\ZI— FU—=H—hHAS2Zv b

MMT-1480
M¥FvExy b 1P A

1 0 FIE3 A5 9%ZBRB L. EOFIETRKHMITSIA—F)—L2—AX51 2y bZERYTIF,
HAHIITELTLEEL,

1 1 T TERAA Yy FEONICLET,

12 O— R =2 —DOEEERZITVEY, <U—EAIZa7IV 13-6 hXSTA b BE>

am.sega.jp



112 a—ru—s—nx5

14-2 A X S5 — FOFER

(¢ )
A xE
® T5ZF v BMRBOIMY RNTEE LT LEL, WRAHIEL B, L EICE>
TRIETHBENB Y ET,

@ JSRAFY VHMBRODEEDEER., I, Fv MEOKDHHFBEITEFRERLTLS
£EV, BMmbhiaL. A, EEICK>TEIETSEZELNHYET,

.
@ ZWeERSHhWE (RIVEH) ZERALTENEHEN>TLLEL, BO/EL
H—EHERFEALEVWTLREL,

BER | @k (Lo avmmid@aLEnT AT,

@ JSIURETVEEDEVEDTREZE LY. Floh L el LEWTLE
Ty,

BERICHELGTIR, EEHE

R
=] D—o
=
IRAZ—F— BUIN—=TIW—TLVF TSARZAN— H—EAIZa7Ib
(IB&) (M4 A, 1B (M3, M4 f) (TR )

Eo5H WA
(IVER)




a-ry—2-nx5 113

1 M4-1) FIB1HS 7 ZBR L, EERZTOTILEL,

22 FHWERSDWHET. AASHENI-FZERLET,

TETIA

HASHNI—F HASHNI—F
N E
LT bREZVINRIVRER
3 M4-1) FIBE3 LS 7 BB L. WOFIBETHEEL T 2L,
4 B IEEAA v F&ONICLET,
1= R — A — DEERRETNET, <H—ERT— 27 [36 HASTA | B> 4
5 14

am.sega.jp



114

A—FI> bk

1) —DER

BA—FIYF)—DER

-

A x &

TS5AF v VREBBRDEL) HMNTFELTLLE L, BREABEL AR EEICELD
CTRIETRHZEDHIVET,

TS53RAFy VHBRBOEEDEEIF. XY, v MEDESHMFTBEITEELTK
EW, BaHEL. WA, EEICX>TaEBTIHarHYET,

ER

.
@ ZWeERSHhWE (RIVEH) ZFERALTENEHERM > TLLEL, BOEL
H—EHERFEALEVWTIREEL,

@ FNHVEVNLEER, KERBEIEFZSELLAHZEAK>THESHE
o TLEEL, (EFFRAPERIIFERA LGV TIREEL,

@ ISURETIVGEEDBEVWEDTRAZE 1Y, 5lobW el LEWTLE
TN

BERICHELGTIR, ERHE

(M4 )

—) [

TZARZAN\— IT7RTL— EZ5Hh W

=

(FIVER)

1

S ARD2M@EHNL. A—FIVM)—2Zvy bZRYALET,

Ve

am.sega.jp



A—rzvry—oER 115

22 mMx2 2@ZHNL. Bh—FIV FJ)—ZBWIALET,

mx> () 218 _— ' SN
M4 X 10 | T

h— BRIV hY=T55y b

H—RIVhU—ER—RIVRU—TS4y bOh— RhEMT 2EEERLET.

C A= RIV U= I7RATL—EERALTRIURBNERYBLTIREL,
CH—RIVMU—TShy bE BUEERSHVLE (XU EERLT. BRLTI
rEW,
XABWRELFNAVENE X, KELBBEERESELAER RS THSRE
o T EEL, TOEE, H—RIY b —ITERBENAESHENESISEELTL
fEW,

H— FHEMT 2E%
W ERSH W (RIVER) =&AL TER

H— OS5 E%
IT7RATL—%=ERLTER

A—FIYFIV=T37v b

am.sega.jp



116 »—rIvtv—omR

4 MAxD2MET. A—FIY U —=ZH—FIVb)=TS55 v MEUMITET,

mz> (8) 28 i
M4 X 10 ! T

A—FIV b — :

7

A—RIVhY—3Zvh

M4 X 8
>

am.sega.jp



FLav—nxs 117

BILAv—h*3>

16-1 Ei@

@ LR SHWE (RIVE) AERALTENERER-> TREEL, BOEL
H—EBERFERLEVTREN,
R

@ ENHVEVLER. KERBBZEFZSTEHZEIKOTHLERHE
WMo TLEEL, LFFRFIPRERIIFEALEVTLEL,

@ ISP ETVEEDEVLDTREZE Y. Flob W) LEWTLE
TN

BERICHELGTIR, ERE

ZS5HWE
(xIVE8)

B BR L TLIEEL,

TLAY—HAS

am.sega.jp



118 JL1v—nx>5

16-2 3] FhE&

(¢ o)
A%z
= A
@ ERIIEHAYTFHF VAR VDEMENMTOTLREL, BREGLEDFERLEGZVET,
@ EREEREVI>THSITo>TLIEEL, KRE, TR, KKXDFEREEWVET,
@ EREZEDITHEVESIEELTLIEEL, KE. ER. KKXDFEREEWVET,

S ~/
(¢ o)
A xEE
EELTWET7RF— (RI, +v b, BEhEE) 22TATE BEHVETL, B
BMORREGVET, BRZELoOWZRLEGELS, BELTWS T 7RAF—ZALT

ey,
2 ~/

BERICHELGTIER, EEH

P
——— 1
C—r

RAZ—F—
(IE&)

N
@?)

BUIN—TIV—TLVF
(M4 B. IB&)

—1 ]

TSARZAN—
(M4 /)

Y—EXRZa27)b
(B

1 NAZ—F—THEL., LLIR2—F7ZRELT,

Ly —k7

2 YITERAA Y F%&OFF ICLET,



FLav—nx> 119

:3 XX 2MEEA L. EIVR—FRYy TZ2BRUALET,

FSRXY (B) 218

M4 X 10

EILR—FRy 7

‘1 BYN=TW—=T2 I 2EENL, TLAY—AASZRIA LT, AxT7 42— 2E%Z%k
TET, TDEE TLAV—HASICERENTWAERZS DRVBEGWVKLDITE

BLTLREL,

BYN=TIV—T %I 2{A
M4 X 10, F. N\REET

am.sega.jp



120

TLAY—AX>

XTI 4EEN L. TLAY—HAATR—RERIALET,
T BIE. TUPL OXFITH L. TLAV—AASR—XDEHEOE LO%Z TAllcL
TLEEL,

o) EROHLO

29 418

6 A—FISVT 1 EZREET,
O— RISV TZEET 5E $2cm BEDOHICLTEEL T ZEL,

J—Fro5>7 1@

7 OAX7 2= 1{E%ZHREET,

Jx748— 118
XA3P

am.sega.jp



FLarv—nxs 121

8 XTI A4EENL. TLAY—HXZ2Zy bPZRUALET,

2V 4@
M4 X 8, F. I\REESS

TLAVY—hAAZ2Zv I

9 TLAY—AAZ2Zy Ao ARTZ— 1 EZRELT,

Jx74%— 118
ZH5P

7b4v—ﬁ%51:vh4,///”/’////’///4

MMT-1370

1 0 FIE3IHS5 9 ZLRBL. FDOFIECRHTZTLAV—AXAS Iy bZEEYIS. #H
TTCBELTLREL,

1 1 T IERAAy FEONICLET,

12 TLAY—AASDEERSZITVE T, <U—EXIZa27)V 13-6 XS T A b BE>

am.sega.jp



122

b1 —RXD3HE

t1—XD3EH

FEBIE, £ 1 —XDMINERERZRELTHST2>TLREL, REZBRELGEVWTITS> L. B
Eta1—XHInEd,

(¢ )
8 &
= B[H

@ FREREFHAY T T VAR VHORKMENMTOTLEEL, BREGEDRHAELLVET,

@ EEUNDE 1 —ARMIIFRDREELLEBDT, TOHVTLREEL, FERERE
PADE 1 —ABDRENLNHZHEIF. HRBALTEAELHD TBEVE
bkl FTERLTILEL,

@ EEThIEEROEL 1 —XZFEALTIREEL,
§HE BRE AKDERLEGYWET,

BEDERULDL 1 —X%FEM

@ L1 - XADYNFEERZRYRVTHS, 1 —ADR#|ELTLILEWL., ZDF
EDORETEAZRITEE. AKDRERETVET,
N\ g

BERICHELIER, HEH

m@%@) :@
L>F BEIATARSAN— TSARSAN—
(X0 EERE 24 mm) (M4 )

1 A A VEIRAA Y F% OFFICLET,

D BEI-FEACIYLY PDSRERT

3 TIvAZ—8DDS v b ERED, TI V¥ AZ—=Z EIF T FvAE—8HFizEthE
&I,




ta—zxoxm 123

4 AIREARIC 1.5 m U EDERANR-AZHIRTEDHAlcFrERY M Z2BELET,

5 7V v AR — 8 i REICEMERET,

PSRRY (&) 218
M4 X 25
HARBTPES (R) ZEA

,’(/
NP
& ) ” ),
Ny BT 1P '

A

7 N—=RAZT 1 AZREET,

N—=%XZYJ 1@ = =

am.sega.jp



124 c-—zoxm

8 XY 2MEENL. BV LY FZERYALET, CDEE BRZEDITHLELDIC
ABLTLIEEL,

xY 21@
M4 X 8, T INRESAT

9 BEIATARSAN—%FRL. 2Ly bbb —Xr—XZWMIALET,
E1—XT7—RERIFTBIE. AF Y EBHNBEET. BETELAATLEETL,
Ea1—X7r—2X

S LY N =

BEIATARSAN—%FRT 585

am.sega.jp



ta—zxox 125

1 0 BEXAFTARSAN—ZEAL. L2 —X2@EZWMIALET,

ta—X 21&
514-5176-10000
XARBITHERTOBATY

1 1 FIE2H5 10ZBRB L MOFIBETCRET 5 1 —XZYIMIF MHIITELTLREL,

am.sega.jp



126  ALSHX2 (A=W IAFIvoRY-)

B ALLSHX2 (A —IWRA IAFITVvIRY—)

(¢ )

a 4
= =3

@ FREREHAYTF VAR VHORKMENMT>OTLEEL, BREGEDFRHELVET,
® FEXREERZVI>THSITOTLREEN, KB, ER. AKDERELZVET,

@ ALLS HX2, ZDMDAR— F2EPHICEHLEWTLEL, BRE. HEORREE
BTYVET,

@ HAEEFIC ALLS HX2 [T#EHL R LTV 5 ORI 2 -G AEGRTRER LF A,
FRALTVEVWIRY 2 —ICEREER LAV TIRETL, KKDFEREGTYVET,

@ i, BELETALLS HX2 ZRMYMITETIZGIE. #iiT 2RI Z2—ZR5EW
KOITERLTLIEE L, EiiZRp L. BRE. BER. KKOREREREBWET,

@ IXVR—ZEHEITHEER, IKHAMZHEBLTLLETL, ARV Z—ZEET
BHAIERE>TVET, BEICERELESLELTEFZNITSE ORI Z—P
HFEEGEZRIRL T, BRE. @R KKDFERELGY ET,

A E &
EREOBE. BV B A LB EREN GO L S ISERLTCREE L,

\
O NMEDFHERICELY ICKR— FEDBEFHRALWIET 58/NHH Y ET, 1EE
gilcEE N EREICHNS G EDUVEZTV. BHDOHESZREL TS

BE rEEL,
@ ALLS HX2 23D EIE T 515813, BxPICBIEL VK S ICEREICHREZ L.
ELTLIEE L,

@ EXREHENICY —N—BDA AV ERAALY F%Z OFF 1T BHBRIE. 75147
YERICT L=V DWW EEZRERLTIHSIT>TLREL, XMVER
ALYy FZOFFICT B E, Ry bT—IBEHTELGLHBYVET,

T H—N—HI5147 Y MEDIEICERZANTLZEW, OS5 HY—/\—
BOBRZANS L, [ERARY FT—IDELLEELGWGEDHYET,




ALLSHX2 (F—LR TAFTvorv—) 127

18-1 ALLSHX2 1= FOEY AL

BERICHELIER, HEH

e—— | —=) | ——= )

L>F BEXATARS A\~ TSARZAN—
(RHiZJEERE 24 mm) (M4 )

1 AAVEIRAAYF%ZOFFICLET,

TIvAZ—8DDT v RS, 7I ¥ AZ—T=Z EIF T F¥v RAEZ—8HFizEthE
&I,

+v bk

®&D3
g
il

3 ARAERIC 1.5 m UEDERAR-RZBERTEDHBFAICY 751 F=BEL&ET,

4 TV v AR — 8 i REICEMEREE T,

N

\

d—

N

N
|

\FvrAa2—




128

ALLSHX2 (A —IVA ZTAFIT v I XY —)

9)

FSAXD2@EENLET, XRZ—F—THEEL./\Y 7 F7 2P (M) ZERWALE T,

A

PSRXY B 2@
M4 X 25
HRARBPES (R) %R

Ny 7 BT 2P /\L:

¥

N

¥ K
! N

_____

Ix72—16EZKEET, COELE DVIOXYZ—& D-SUBP a7 Z—IEEEH
KIEFDHTHHIHRNTLEEW, D-SUBP OART Z—lcld. BEIAFTARSTA/N\—%

ERLTIREY,

<

Ix78— 4@

dx748— 218 coas

_________________

=77 =
HDMI, DVI i

q 58

(©)

[e]eYe]
e
00!

Se680
00000®

|
E
OeOOOO©O® E
E

D-SUBOP BE) AT LAZ=ZI v

%7 [SIDE]

3% D-SUB9P |4 [COM2] &£ F. [COM3]
I$BET. [COM4] I E%ER

dxV 42— 3@

AFLAZ=ZTVvvy (318
MEED S [C/W] [FRONT] [REAR] ZfEF

JIx7%— 5@

LAN. USB (4 1&)

LAN R— METE (LANT) Z{ER. USB
R—ME 0] 13AT (1), [USB HUB]
IFAET 2%F).[PCAMERA] IdG5 L 33)
ZfER. [INSTALL] (L (4%) =R

Ix78— 1{@

008 @ ose0
IO50;
050 SoB00
So80 6000
S
6808 90000
OOOO 0000
8080 T
5 | R
19%619% gggee
5980 e
0808 @| L9090
Q080 T
%8 | e
o | 2
[elielere)
T000000000
Comee 0
0500000000
SRS
oo
Sa5e090000| | o=
- BT
00000000800
B | Lumeseess
059 Q90000000000
080 | SRRRRRAREEGS
So8s 00006000000
ODOO @ 000000000000
@Oooe L
Ix9%2— 1@ o

RARR0
00008

SEORK
RO
X

OBo8080808c0080
Seseseoesetesedose s

ORARREEARIEARAAK S
Cogooogg; OE0R000C
& EOROROEORORASC

BORORAEORAREAAROEACO

OB0RORN!

000K

(R0
080

B062R!
0808000888 o
0308080808
O e

O RE R ORORORERERORERERER6:

am.sega.jp

D-SUB9P [COMT]



ALLSHX2 (F—LR T4FTwozv—) 129

7 XV 2M@EN L. ALLSHX2 2=y b ZEERUANLET,

%Y 2@
M4 X 35, F, I\NREEEAT
MARBI SR

ALLSHX2 2= b

am.sega.jp



130

ALLSHX2 (A —IVA ZTAFIT v I XY —)

18-2 ALLS HX2 D57

.
@ 1 FIc—EZfzlE TError0091] A HEEIE. ALLS HX2 ZFR L TLIETLY,

ALLS HX2 POl kU NE S 2 & SSBIET & REAARET BIBNHE Y £,
BE | @Al HQELICHEBEDYT b BELEHBREY ST, BRE. TYH
L+ B2y Mo ALLS HX2 ERLTCREL, BT F4 Ry FEES L.
BERESGERESORRELEY T,

BERICHELGTIR, ERHE

%@@ﬂg@):@

L>F BEAFARSA N\~ TSARSAN— IRRRIE
(ef1ZEBEE 24 mm) (M4 F)

M8-11 Z5R L. ALLSHX2 2= v bZERUA LT ZEL,

XV 4EEHNL. EBET A IVEZ—ZMINLET, XVEFARTZ2—EHORNRICH Y
3

LBttt I,
[ A ARSI
4

EERET A ILE— *xY 4@

M3 X 6. T /\REEA




131

ALLSHX2 (A —JIVA TAFIT v I XY —)

FECIRRLET,

4\
7.

B

3 ALLS HX2 DIRBIRORI EERBE T 1 IV 2 —DEXR%Z R

nnnnnnnnnnnnnnnnnnnnnnn
nnnnnnnnnnnnnnnnnnnnn

ZmEA

T )LE—D

i
A&

.

SERET 1 ILZ—DOKREMA

4

DA AR ERFE CBRLE T, TDEE. BEERESD

(e}
_VA\
_HD||V
SR
H../
S/\
N
<
S i
£ 4
+
N0
N L6
NS
4P
RN

EEIASFTLEEL,

L. BOFIETERT 1 IVE—

|73
(=}
w

L. WDFIET ALLSHX2 2= bZEERIAFIF TS EELY,

73
(=)
(3%

B

&

6 rs-1] =



132  ALSHXQ2 (A=W IAFIvoRY-)

18-3 ALLS HX2 D3g#:

BERICWELGIER, HEH

e | ==y | ——=1 )

L7 BEXATARS A\~ TSARZAN—
(xhi2kBEE 24 mm) (M4 F)

1 M8-1] BB L. ALLSHX2 2= v bZEEWANLTLEEL,

2 F—FUTEREET, TDEE Y ARRLEDSF—F v TZHRENTLREL,

am.sega.jp



ALLSHX2 (F— bR TAFTvozv—) 133

3 XY A4EZHN L. ALLSHX2 2=y b5y T R—XZRIYALE T,

*xY 418
M4 X 16, F. /\REEfHT

ALLS HX2

4 XY S5@EZEN L. ALLSHX2 D55 —LR— KT S5y b ERVALET,

ALLS HX2
849-1004

-
\’f—Lv'J"\‘— K754y b 2@ 29 58
M4 X 8. . \FER(

5 FIE1H5 4%ZER L FEDOFIETRIHET 5 ALLS HX2 ZEX W I F HHAIITE L TLEL,



134

ZEWT ST b

19EZ=]:A L AV

ZENT 7Y b (XTSTv ) ZFERTBEIE. Bt Web 1+ (https://
am.sega.jp/logopop) @ AR—Fr 7+ VA2 FOFBICEAYT 5 TFEL POP
BE | 2o9BRLTIEEL,

FEBIZ. BEVCEHEERTG EDOREFORBZMEINT S, KT Z7 v FOWMYUMIFHICDONT
FRALET, KT ST v MERTHEDICOVTIE, [ERHRAITERL TIREL,

TEEREZE TRV RWET, X757 v bEFBLTIEEW,

i

%

\

BART ST b OEGIICERT 5V EHBEICH L CE—EEZEVHIRET,
BETZ7 v b BIUEFIOEHRZ IOV TRI—IEEZEVLDIRET,

. ik
iz
%

BE P

BT E ) MO DER

CERMET LAV —PF v U D LR OMIBICERE L T EEL,
- EROE TOEOEL S ICHERICEFE LT REL,

Y A%

2V 2{ET. SENTS Ty FERUMIFET.
HFRIE, FrExy b IPAITHELTVET, FrERy b 2P @b, FROBSETRUMGIS
TENTEST,

fERY 5 E8m

SEHT Sy b

- J

Ve

FSRZXY (B) 218

ZENT ST b

am.sega.jp


https://am.sega.jp/logopop
https://am.sega.jp/logopop

FHAL

SIDE COVER OUTER 1P

IR 0O
[=] ;4 =]=]

MMT-0003
SIDE COVER OUTER 2P BILLBOARD POP
MMT-0004 MMT-0008

SIDE COVER INNER 1P

BILLBOARD COVER
MMT-1810-01

MMT-0001
STICKER SPEAKER
SIDE COVER INNER 2P MMT-1802
MMT-0002 CENTER SHEET LOWER
MMT-1030
FRONT COVER SHEET 1P SELECT BUTTON PANEL
MMT-1302 MMT-1452
FRONT COVER SHEET 2P
MNMIT-1601 INSTR SHEET CARD ENTRY
CENTER PLATE UPPER ~_FRONT COVER 2P
MMT-1031 MMT-1610

FRONT COVER 1P
MMT-1310

STICKER CARD ENTRY
MMT-1407

PLAY AREA MAT

MMT-0007

am.sega.jp

135



B A

136

21D

21-1 FvEXRY b

XIEE R

(1) MMT-0000
TOP ASSY MMT

L (2) MMT-1000
ASSY CABINET 1P

[ (25)MMT-1350

(3) MMT-1001
ASSY SUB CABINET 1P

L (5) MMT-1050
AC UNIT

L (6) MMT-1060
ASSY CASH BOX DOOR

L (7) MMT-1070
[—(8) MMT-1100
ASSY LCD

—(9) MMT-1200

ASSYHEADPHONE JACKCOVER

ASSY SW BASE 1P

L (11) MMT-1300

ASSY FRONT COVER 1P

L (13) MMT-1400

ASSY CENTER TOWER

—(21)MMT-4100
ASSY ELEC BD

—(22)610-0963
ASSY DC 12V FAN 120MM

[ (23)MMT-4200
ASSY XFMR

L (24)MMT-6001
ASSY WIRE 1P

ASSY PLAYER CAMERA

(26)MMT-1360

ASSY PLAYER CAMERACOVER

L(Z?)MMT—B?O

PLAYER CAMERA UNIT

L (19)MMT-1470

(4) MMT-1002
CABINET 1P

(10)MMT-2000
ASSY BUTTON SWITCH

(12)MMT-1310
FRONT COVER 1P

(14)MMT-1420
ASSY SELECTOR DOOR

— (15)MMT-1430

ASSY CARD ENTRY

L (16)MMT-1440

ASSY AIME AND VFD

L (17)MMT-1450

ASSY SELECTBUTTON PANEL

[ (18)MMT-1460

SW UNIT

ASSY CODE READER

I—(20)MMT—1480
ASSY CODE READER
CAMERA



[ (28)MMT-1500

Bam) A

ASSY CABINET 2P

(29)MMT-1501

(30)MMT-1502

ASSY SUB CABINET 2P L CABINET 2P
L (7) MMT-1070 (31)MMT-1550

ASSY HEADPHONE JACK COVER ASSY BACK DOOR 2P
L (8) MMT-1100

ASSY LCD
L (32)MMT-1600 (33)MMT-1610

ASSY FRONT COVER 2P FRONT COVER 2P
L (34)MMT-1700 (10)MMT-2000

ASSY SW BASE 2P ASSY BUTTON SWITCH
L (35)MMT-4000

ASSY GAME BD

__(22)610-0963
ASSY DC 12V FAN 120MM

| (36)MMT-6002
ASSY WIRE 2P

[ (37)MMT-1800-01
ASSY BILLBOARD

L (40)MMT-1900
ASSY SIDE COVER BASE 1P

L (41)MMT-1950
ASSY SIDE COVER BASE 2P

(38)MMT-1810-01
BILLBOARD COVER

L (39)MMT-1850
ASSY SPEAKER

137



138 =mmuxt

(1) MMT-0000 (D-1/2)
TOP ASSY MMT

SEE C

AR
A

2

[mmrs} =)
BISZEMEE




Bam) A

(1) MMT-0000 (D-2/2)
TOP ASSY MMT
BABS HEES Ha% e
1 MMT-1000 ASSY CABINET 1P
2 MMT-1350 ASSY PLAYER CAMERA
3 MMT-1500 ASSY CABINET 2P
4 MMT-1800-01 ASSY BILLBOARD
5 MMT-1900 ASSY SIDE COVER BASE 1P
6 MMT-1950 ASSY SIDE COVER BASE 2P
7 MMT-0001 SIDE COVER INNER 1P
8 MMT-0002 SIDE COVER INNER 2P
9 MMT-0003 SIDE COVER OUTER 1P
10 MMT-0004 SIDE COVER OUTER 2P
1 MMT-0005 REAR PLATE BRKT
12 MMT-0006 REAR PLATE
13 MMT-0007 PLAY AREA MAT
14 MMT-0008 BILLBOARD POP
15 MMT-0009 STICKER CABLE AND PANEL
16 SGM-4175 POLY COVER 1200x1200x2000
22 421-14235 INSTR SH MMT SHIPPING 1P
23 421-14236 INSTR SH MMT SHIPPING 2P
201 030-000835-WB HEX BLT W/FS BLK M8x35
202 030-000850-S HEX BLT W/S M8x50
203 068-852216 FLT WSHR 8.5-22 X1.6
204 FAS-080036 TMP PRF SCR PH W/FS STN M4x10
205 000-P00416-W M SCR PH W/FS M4x16
206 050-F00400 FLG NUT M4
207 000-T00416-0B M SCR TH BLK M4x16
208 068-441616-0B FLT WSHR BLK 4.4-16x1.6
209 000-T00425-0B M SCR TH BLK M4x25
210 000-T00408-0B M SCR TH BLK M4x8
301 600-8205 AC CABLE CONNECT TYPE 15A W/E
401 SGM-4111Z KEY BAG
402 220-5793-2-A001 KEY MASTER A001
403 514-5176-10000 FUSE SG5063 5x20 10A 250V
404 600-7269-1000 ASSY LAN CABLE 1000CM
405 610-0880 ASSY TOUCH PANEL TEST TOOL
406 MMT-0010 OPTION BRKT
407 421-14274 INSTR SH MMT OPTION PARTS

139


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1000&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1350&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1500&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1800-01&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1900&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1950&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-0001&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-0002&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-0003&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-0004&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-0005&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-0006&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-0007&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-0008&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-0009&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=SGM-4175&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=421-14235&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=421-14236&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=030-000835-WB&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=030-000850-S&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=068-852216&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=FAS-080036&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-P00416-W&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=050-F00400&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-T00416-0B&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=068-441616-0B&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-T00425-0B&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-T00408-0B&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=600-8205&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=SGM-4111Z&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=220-5793-2-A001&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=514-5176-10000&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=600-7269-1000&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=610-0880&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-0010&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=421-14274&style=D&search.x=1&search.y=1

140 =mzuxt

(2) MMT-1000 (D-1/3)
ASSY CABINET 1P

ik xvny JERADT &,

v — DB FICARBHRICERMA G

(78

102
1

T
QD3 2@DO R &
SN
-
o
BEREEHE

bzl

17208\ (6 Y203V 204




(2) MMT-1000

ASSY CABINET 1P

Bam) A

(D-2/3)

Begs HaES aBan "%
1 MMT-1001 ASSY SUB CABINET 1P
2 MMT-1050 AC UNIT
3 MMT-1060 ASSY CASH BOX DOOR
4 MMT-1070 ASSY HEADPHONE JACK COVER
5 MMT-1100 ASSY LCD
6 MMT-1200 ASSY SW BASE 1P
7 MMT-1300 ASSY FRONT COVER 1P
8 MMT-1400 ASSY CENTER TOWER
9 MMT-4100 ASSY ELEC BD
10 610-0963 ASSY DC 12V FAN 120MM
11 MMT-1020 JOINT PIN 1P BRKT
12 MMT-1021 CABINET EDGE COVER
13 MMT-1022 FRONT LED CONN PLATE
14 MMT-1023 CENTER TOWER CONN BRKT LOWER
15 MMT-1024 CENTER TOWER CONN BRKT MIDDLE
16 MMT-1025 CENTER TOWER CONN BRKT UPPER
17 MMT-1026 COIN METER BRKT
18 MMT-1027 FOOT COVER 1P
19 MMT-1028 FRONT COVER SASH
20 MMT-1029 CENTER PLATE LOWER
21 MMT-1030 CENTER SHEET LOWER
22 MMT-1031 CENTER PLATE UPPER
24 MMT-1033 CABINET INNER REFLECTOR 1P
25 MMT-1034 CABINET INNER REFLECTOR REAR
26 MMT-1035 FRONT LED BRKT LOWER
27 MMT-1036 FRONT LED BRKT UPPER
28 MMT-1037 SIDE COVER REFLECTOR 1P
29 253-5417 CASH BOX LOW
30 253-5460-01 AIR VENT BLACK
31 421-6591-01 STICKER COIN METER
32 421-9107-92-153 STICKER UNIT WEIGHT 153KG
33 421-11416 STICKER CAUTION FORK
34 440-WS0002YJP STICKER W POWER OFF
35 MMT-4200 ASSY XFMR
101 130-5280-01 WOOFER 40HM 80W
102 220-5798-01 MAG CNTR 4P MZ674-DC5V-D41 JC
103 280-8001 CLAMP LWSM-0511 CLEAR NIX
104 390-7244-0525 LED TAPE WHITE M3528W-A 0525MM
105 390-7244-0675 LED TAPE WHITE M3528W-A 0675MM
106 509-6386-V-B SW ROCKER V-B CF-LA-2KZ2-5C
107 280-7892 CORD CLAMP TL-19AN
108 280-6676 CORD CLAMP TL-25A TKK
109 280-5207 HARNESS LUG CC-1005

110

280-5275-SR10

CORD CLAMP SR10

141


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1001&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1050&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1060&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1070&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1100&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1200&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1300&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1400&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-4100&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=610-0963&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1020&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1021&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1022&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1023&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1024&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1025&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1026&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1027&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1028&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1029&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1030&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1031&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1033&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1034&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1035&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1036&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1037&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=253-5417&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=253-5460-01&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=421-6591-01&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=421-9107-92-153&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=421-11416&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=440-WS0002YJP&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-4200&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=130-5280-01&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=220-5798-01&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-8001&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=390-7244-0525&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=390-7244-0675&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=509-6386-V-B&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-7892&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-6676&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-5207&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-5275-SR10&style=D&search.x=1&search.y=1

B A

142

(2) MMT-1000
ASSY CABINET 1P

(D-3/3)

BeEs HaES aBan "%
201 000-T00416-0B M SCR TH BLK M4x16
202 000-P00408-W M SCR PH W/FS M4x8
203 030-000630-WB HEX BLT W/FS BLK M6x30
204 068-652016 FLT WSHR 6.5-20 X1.6
205 FAS-080040 TMP PRF SCR PH W/FS STN M4x20
206 068-441616-0C FLT WSHR CRM 4.4-16x1.6
207 000-P00435-S M SCR PH W/S M4x35
208 000-P00416-W M SCR PH W/FS M4x16
209 011-T03512 TAP SCR TH 3.5x12
210 000-F00412-0B M SCR FH BLK M4x12
211 FAS-110032 TAP SCR PH #1 BLK 4x12
212 011-F00312 TAP SCR #1 FH 3x12
213 000-P0O0308-W M SCR PH W/FS M3x8
214 060-F00400 FLT WSHR M4
215 060-S00400 SPR WSHR M4
216 050-H00400 HEX NUT M4
217 000-P00535-S M SCR PH W/S M5x35
218 068-552016 FLT WSHR 5.5-20 X1.6
301 MMT-6001 ASSY WIRE 1P
303 MMT-60004 WHAC 2
304 MMT-60029 WH EXT WHITE LED 1P
305 MMT-60033 WH EXT FAN 1P
308 600-8206-100 CA USB A-A(FEM) FOR PNL 100CM
309 600-8206-200 CA USB A-A(FEM) FOR PNL 200CM
310 600-8272-100 CA USB3.0 A-A(F) FOR PNL 100CM
311 600-8310-0200 CA HDMI/M TO DVI-D/M L=2M
312 600-8292-050 USB CABLE A-MINI B 050CM K


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-T00416-0B&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-P00408-W&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=030-000630-WB&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=068-652016&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=FAS-080040&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=068-441616-0C&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-P00435-S&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-P00416-W&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=011-T03512&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-F00412-0B&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=FAS-110032&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=011-F00312&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-P00308-W&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=060-F00400&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=060-S00400&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=050-H00400&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-P00535-S&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=068-552016&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-6001&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60004&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60029&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60033&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=600-8206-100&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=600-8206-200&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=600-8272-100&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=600-8310-0200&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=600-8292-050&style=D&search.x=1&search.y=1

(3) MMT-1001
ASSY SUB CABINET 1P

Bam) A

. QODD® ML 21T IN - nET B,

BaE BB S EBeth i"E
1 MMT-1002 CABINET 1P
2 MMT-1007X LEG BRKT
3 MMT-1008 BACK DOOR 1P
4 117-5233-91 PLATE LEG BRACKET BLACK
5 253-5396-91 CABINET HANDLE
101 601-5699X LEG ADJUSTER BOLT M16x75
102 601-11223 CASTER 75 PAU
201 030-000630-WB HEX BLT W/FS BLK M6x30
202 000-T00425-0B M SCR TH BLK M4x25
203 068-441616-0B FLT WSHR BLK 4.4-16x1.6
204 050-H01600-3 HEX NUT TYPE3 M16

143


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1002&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1007X&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1008&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=117-5233-91&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=253-5396-91&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=601-5699X&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=601-11223&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=030-000630-WB&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-T00425-0B&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=068-441616-0B&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=050-H01600-3&style=D&search.x=1&search.y=1

Baal) A b

2]
=]

144

(D-1/2)

(4) MMT-1002

CABINET 1P

"R 2OEH% ¢~ o€ 202) L
‘Y ERE MU RNORTZWHOWT TBRE| 0OF L—LOY¥| TEHY] 9

I8 (XH¥F R800L-LWA S

OB ZVIVSSIH ¥TE L LPL—LONGH Y
R 2QOHEHI0LSIH ¥TH L LPL—LOYFE S

°2 2 QOB E % (FLIHK MONS)08-106d1 J oL —
°2 2 OB E % (30Y18 1000)08

AAO0FSREHRYPE T

-v164] b L —AAOF &PEHYBE L(F

FOEEER
ERIETS -
D. = i ALk
il Ol X |
=R -R . &
] R
a
i 1!
T
- 0L
.. EF S ORIES) R EEEEF
ﬁ \upﬂh\
(CAERE=A=lrE

g

.

NN

AN —LO¥3 HEHEEEE

\\
(EF2LEHEAFZE

EASJEETER

F&

H-H NOI1J3S

@D

Iz 5%

9 Rl

&

NN

a

Q-0 NOI123S

I —

1 EipE 3 EBE

8-8 NOI123s V=Y NOILO3S

a@ 81 4 18



Bam) A

(4) MMT-1002 (D-2/2)
CABINET 1P
REES BaES G izE

1 MMT-1002-A CABINET 1P BLANK
2 MMT-1003 BILLBOARD HOLD BRKT
3 MMT-1004 BILLBOARD CONN PLATE
4 MMT-1005 SIDE COVER BASE CONN BRKT
5 MMT-1006 PLAYER CAMERA CONN BRKT
6 CNI-1008X LOCK BRKT
7 CTF-1104 CASTER NUT PLATE
8 117-5463 NUT PLATE M8

201 011-T03512 TAP SCR TH 3.5x12

202 000-P00416-W M SCR PH W/FS M4x16

203 000-P00425-W

M SCR PH W/FS M4x25

145


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1002-A&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1003&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1004&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1005&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1006&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=CNI-1008X&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=CTF-1104&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=117-5463&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=011-T03512&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-P00416-W&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-P00425-W&style=D&search.x=1&search.y=1

146

B A

(5) MMT-1050
AC UNIT

(12)
205y 204 203 1

[

1 1 1

p = — |

go 0O 0O 000 O OO

(21)

(24)

Mt ¥ 2CXD0/MIF B

BeEsS HaES G "%
1 MMT-1051 AC UNIT BASE
2 ONG-1171 AC PLATE
3 421-8202 STICKER EARTH MARK
4 421-14157-10000 STICKER FUSE SG5063 T 10A
101 270-5179-10 NOISE FILTER FN9280E-10-06
102 514-5176-10000 FUSE SG5063 5x20 10A 250V
201 000-P00408-W M SCR PH W/FS M4x8
202 000-F00308 M SCR FH M3x8
203 060-F00400 FLT WSHR M4
204 060-S00400 SPR WSHR M4
205 050-H00400 HEX NUT M4
206 FAS-600033 FLT WSHR STN M4
207 FAS-600040 SPR WSHR STN M4
208 FAS-000266 M SCR PH STN M4x8
301 MMT-60001 WH AC UNIT
302 MMT-60002 WH AC UNIT EARTH


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1051&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=ONG-1171&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=421-8202&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=421-14157-10000&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=270-5179-10&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=514-5176-10000&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-P00408-W&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-F00308&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=060-F00400&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=060-S00400&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=050-H00400&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=FAS-600033&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=FAS-600040&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=FAS-000266&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60001&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60002&style=D&search.x=1&search.y=1

(6) MMT-1060
ASSY CASH BOX DOOR

Bam) A

I
~ / /
QY
BeEs BaEs et imZ
1 MMT-1061 CASH BOX DOOR
2 DP-1167 TNG LKG

220-5794 CLY LOCK W/KEYS

147



https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1061&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=DP-1167&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=220-5794&style=D&search.x=1&search.y=1

148 =mmuxt

(7) MMT-1070
ASSY HEADPHONE JACK COVER

|
ol [“]o
o ‘ o

(2Ot d 23D IFRIE

BEES HeES GRS "E
1 MMT-1071 HEADPHONE JACK COVER
2 SRA-1903 HEADPHONE JACK HOLDER
3 SRA-1906 HEADPHONE JACK HOLDER CUSHION
4 837-20015 HEADPHONE JACK BD

201 FAS-000159 M SCR PH W/SMALL FS M3x8


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1071&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=SRA-1903&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=SRA-1906&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=837-20015&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=FAS-000159&style=D&search.x=1&search.y=1

(8) MMT-1100

Bam) A

ASSY LCD
= AN il
J\1R
BeH s TR iz%E
1 MMT-1101 LCD BRKT
101 200-6280 LCD DSPL 43 LED 6500K/9300K Y
201 000-P00510-W M SCR PH W/FS M5x10

149



https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1101&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=200-6280&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-P00510-W&style=D&search.x=1&search.y=1

150 =mmuxt

(9) MMT-1200 (D-1/2)
ASSY SW BASE 1P

205 Y 206 V' 207

2

E)1.(D,(B)aEBLSETCRED T &,

(10D R A = 5 RE



(9) MMT-1200

ASSY SW BASE 1P

Bam) A

(D-2/2)

BeE BamEsS Ei S i"E
1 MMT-2000 ASSY BUTTON SWITCH
2 MMT-1201 SW BASE
3 MMT-1202 TOUCH PANEL SPACER
4 MMT-1203 TAPE LED SUPPORT
5 MAI-1203 PANEL SASH
6 MAI-1206X SW COVER
7 253-5748 TAPE LED HOLDER
101 280-5275-SR10 CORD CLAMP SR10
102 280-7892 CORD CLAMP TL-19AN
103 280-7896-05 SPACER WN-05G (HIROSUGI)
104 280-8001 CLAMP LWSM-0511 CLEAR NIX
105 390-7244-0350 LED TAPE WHITE M3528W-A 0350MM
106 390-7244-0525 LED TAPE WHITE M3528W-A 0525MM
107 390-7244-2325 LED TAPE WHITE M3528W-A 2325MM
108 509-6483 TOUCH SENSOR UNIT TPK
109 838-15235-01 LED BD RGB 3x1BLOCK 5050
201 000-P00408-W M SCR PH W/FS M4x8
202 000-F00308 M SCR FH M3x8
203 FAS-000159 M SCR PH W/SMALL FS M3x8
204 FAS-080036 TMP PRF SCR PH W/FS STN M4x10
205 060-F00400 FLT WSHR M4
206 060-S00400 SPR WSHR M4
207 050-H00400 HEX NUT M4
301 MMT-60036 WH SW BASE LED
302 MMT-60037 WH SW BASE SENSOR
303 MMT-60038 WH TOUCH SENSOR
304 MMT-60039 WH BODY LED
305 MMT-60041 WH HEADPHONE JACK

151


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-2000&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1201&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1202&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1203&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MAI-1203&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MAI-1206X&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=253-5748&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-5275-SR10&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-7892&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-7896-05&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-8001&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=390-7244-0350&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=390-7244-0525&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=390-7244-2325&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=509-6483&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=838-15235-01&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-P00408-W&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-F00308&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=FAS-000159&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=FAS-080036&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=060-F00400&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=060-S00400&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=050-H00400&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60036&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60037&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60038&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60039&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60041&style=D&search.x=1&search.y=1

152

B A

(10) MMT-2000
ASSY BUTTON SWITCH

N\

| P———

L N H
DRy RUBADEDI &

2.5 =

GatfthrBEEM

. CODFEAT ML 0. 710.05N - m&F 3,
2.(B)DHE ML 21,520, IN-m&F 3,
3.4 1) ZI£SOLVEST® 248D = &,

BEES eES G "%
1 MAI-2001X SW PLATE
2 MMT-2001 SW SPRING
3 MMT-2002 SW CUSHION
4 MAI-2004X SW BUTTON
5 MAI-2005 SW SHAFT
6 MAI-2006X SW BEZEL
101 370-5359 PHOTO INTERRUPTER 0J-535S-A5
201 FAS-120028 TAP SCR TH #2 3x8
202 000-P00408-W M SCR PH W/FS M4x8
301 MAI-60305 WH SENSOR


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MAI-2001X&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-2001&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-2002&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MAI-2004X&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MAI-2005&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MAI-2006X&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=370-5359&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=FAS-120028&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-P00408-W&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MAI-60305&style=D&search.x=1&search.y=1

mauzt 153

(11) MMT-1300
ASSY FRONT COVER 1P

Ro®S BaBES LR i5E
1 MMT-1310 FRONT COVER 1P
2 MMT-1301 SUB MONITOR PLATE
3 MMT-1302 FRONT COVER SHEET 1P
201 FAS-600033 FLT WSHR STN M4
203 050-C00400-3C CAP NUT TYPE3 CRM M4

204 FAS-080040 TMP PRF SCR PH W/FS STN M4x20


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1310&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1301&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1302&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=FAS-600033&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=050-C00400-3C&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=FAS-080040&style=D&search.x=1&search.y=1

154 =meuxt

(12) MMT-1310
FRONT COVER 1P

BEHEs BaES LR "E
1 MMT-1311 FRONT COVER 1P BLANK
2 MMT-1312 STUD PLATE

3 TX-1029X-A NUT PLATE


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1311&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1312&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=TX-1029X-A&style=D&search.x=1&search.y=1

mauzt 155

(13) MMT-1400 (D-1/2)
ASSY CENTER TOWER

)1.(D,E), @), (Dichatoy 4 &FERDT &,
2.0 E e I THRITIT D Z &

N
M|
S
3
1Q
40l
Es
g
B
H
.A oofp o[ [
q o
7 O B0 | 8
° oo o ) |L—
q
=)
S
= <
ol § <<
SE) £
ol =]
g ll° 2]




156

B A

(13) MMT-1400 (D-2/2)
ASSY CENTER TOWER
BEBE HaBs e Bz
1 MMT-1420 ASSY SELECTOR DOOR
2 MMT-1430 ASSY CARD ENTRY
3 MMT-1440 ASSY AIME AND VFD
4 MMT-1450 ASSY SELECT BUTTON PANEL
5 MMT-1460 SW UNIT
6 MMT-1470 ASSY CODE READER
7 MMT-1401 CENTER TOWER BOX
8 MMT-1402 COIN CHUTE UPPER
9 MMT-1403 COIN CHUTE LOWER
10 MMT-1404 CARD ENTRY PLATE
11 MMT-1405 INSTR SHEET CARD ENTRY
12 MMT-1406 STICKER CAMERA POSITION
13 MMT-1407 STICKER CARD ENTRY
102 280-7892 CORD CLAMP TL-19AN
103 280-7973 REUSE LOCKING CLAMP RLWT-0.5V0
201 000-P00408-W M SCR PH W/FS M4x8
202 000-T00408-0C M SCR TH CRM M4x8
203 FAS-080036 TMP PRF SCR PH W/EFS STN M4x10
204 050-F00400 FLG NUT M4
206 060-F00400 FLT WSHR M4
207 060-S00400 SPR WSHR M4
208 050-H00400 HEX NUT M4
301 MMT-60048 WH AIME VFD
302 MMT-60049 WH EXT SELECT BUTTON
303 MMT-60054 WH EXT COIN 2


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1420&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1430&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1440&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1450&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1460&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1470&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1401&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1402&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1403&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1404&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1405&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1406&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1407&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-7892&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-7973&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-P00408-W&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-T00408-0C&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=FAS-080036&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=050-F00400&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=060-F00400&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=060-S00400&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=050-H00400&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60048&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60049&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60054&style=D&search.x=1&search.y=1

mauzt 157

(14) MMT-1420

ASSY SELECTOR DOOR
(203202201 1 2
1 1 1 1 1/
EARTH \| 8- @
ol
i O
< i
7 ! :
D= \e
\ 0
D B
- X
Sl o
D“&V = _ - - & ] @
@ 1 ). (DRHED XV TR DT &,
3 2. Q02D & DI TG F D &,
o —
= \
i
BEEES BaES B igZ
1 MMT-1421 SELECTOR DOOR
2 RVO-1112 TNG LKG VERT HOLE
3 MAI-1422 SELECTOR COVER
101 220-5793-1-A001 CLY LOCK MASTER W/O KEY A001
102 220-5846-91-01 PFB-730 QL203 12VBK 100
103 280-7892 CORD CLAMP TL-19AN
104 280-5275-SR10 CORD CLAMP SR10
201 060-F00400 FLT WSHR M4
202 060-S00400 SPR WSHR M4
203 050-H00400 HEX NUT M4

301 MMT-60055 WH COIN


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1421&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=RVO-1112&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MAI-1422&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=220-5793-1-A001&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=220-5846-91-01&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-7892&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-5275-SR10&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=060-F00400&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=060-S00400&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=050-H00400&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60055&style=D&search.x=1&search.y=1

158

B A

(15) MMT-1430
ASSY CARD ENTRY

BEEs BaES G i"E
1 MMT-1431 CARD ENTRY
2 MMT-1432 CARD ENTRY BASE
201 000-F00410-0B M SCR FH BLK M4x10


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1431&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1432&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-F00410-0B&style=D&search.x=1&search.y=1

(16) MMT-1440

Bam) A

ASSY AIME AND VFD
(g o)
A B&
= A
VFD ZEXW KRS HEE BT EREZV>T 1 AF > THSEEEITTOTLIEEL, BRE,
ER. AXDFEREBYET,

2 ~/
(g o)
A x B

VFD ZER W k5B EIE. FREFEALTLLEL, EHPTHADRREEGTY FT,
S ~/

REEsS BaES G i"E
1 MMT-1441 AIME AND VFD PLATE
3 610-0959 ASSY VFD W/FILTER
101 280-8004-13 SPACER WN-13D (HIROSUGI)
201 000-P00308-W M SCR PH W/FS M3x8

159



https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1441&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=610-0959&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-8004-13&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-P00308-W&style=D&search.x=1&search.y=1

160 =mmuxt

(17) MMT-1450
ASSY SELECT BUTTON PANEL

202V 201Y 2

BeEs HaES EBE%a "%

1 MMT-1451 SELECT BUTTON BRKT
2 MMT-1452 SELECT BUTTON PANEL

101 509-5970-BL SW PB OBSF-24TR BL

102 509-5970-RE SW PB OBSF-24TR RE

103 280-5275-SR10 CORD CLAMP SR10

201 031-000412-0C CRG BLT CRM M4x12

202 050-F00400 FLG NUT M4

301 MMT-60050 WH SELECT BUTTON


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1451&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1452&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=509-5970-BL&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=509-5970-RE&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-5275-SR10&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=031-000412-0C&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=050-F00400&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60050&style=D&search.x=1&search.y=1

(18) MMT-1460
SW UNIT

/101201

o D o o

| TesT  sERVEE souD voLukE ¢ |

111.7)

B IFREIESHLED I &,

(O3 22 DR IF A B

Bam) A

BEES MaBES iR i"E
1 MMT-1461 SW BRKT
2 421-12136 STICKER SW PANEL LCA
101 838-14548-10 SW & VOL BD
201 000-P00308-W M SCR PH W/FS M3x8
301 MMT-60056 WH SW VOL

161



https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1461&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=421-12136&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=838-14548-10&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-P00308-W&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60056&style=D&search.x=1&search.y=1

162

B A

(19) MMT-1470
ASSY CODE READER

BEES eES G "%
1 MMT-1480 ASSY CODE READER CAMERA
2 MMT-1471 CODE READER BRKT
3 MMT-1472 CODE READER LED BRKT

101 280-5275-SR10 CORD CLAMP SR10

102 838-15235-01 LED BD RGB 3x1BLOCK 5050
103 280-7896-05 SPACER WN-05G (HIROSUGI)
201 000-P00320-W M SCR PH W/FS M3x20

202 000-P00408-W M SCR PH W/FS M4x8

301 MMT-60051 WH CODE READER LED

302 600-8295 USB CABLE A-SHR5


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1480&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1471&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1472&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-5275-SR10&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=838-15235-01&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-7896-05&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-P00320-W&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-P00408-W&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60051&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=600-8295&style=D&search.x=1&search.y=1

(20) MMT-1480
ASSY CODE READER CAMERA

Bam) A

ARV HHE

101y 102 Y 201

 RUEREBICR S Oy I BEDI &

$9)1. 0DD#E M L2120, 11+0.0IN - m& F 3,

BeEs HaES #Banth "%
1 MMT-1481 CODE READER CAMERA BRKT
101 601-13216 USB CAMERA MS-M33NU2AMSH43-S1
102 601-11770-2408 SPACER M2 HIROSUGI C-2008-4
103 280-5247 ONE TOUCH BUSHING
104 280-5248-10 ONE TOUCH COLLAR M3 L=10
201 FAS-000129 M SCR PH W/S M2x16

163


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1481&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=601-13216&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=601-11770-2408&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-5247&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-5248-10&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=FAS-000129&style=D&search.x=1&search.y=1

(D-1/2)

(21) MMT-4100
ASSY ELEC BD

Baal) A b

2]
=]

164

‘2 £ R TREH RIS "L (F

05
2
RENS d10(S) T /
& /
8/9G¥€C1 = L
TTTTTTT] 440 o 28
NO = ‘
N o
s & o
(2 o
w (o1 B
~l o1 w
o1 ©
o1

6T —T0 OO

G9¢
Gve
G6€
06t
0€s
GGG

702 A E0C AVLL APOL



Bam) A

(21) MMT-4100 (D-2/2)
ASSY ELEC BD
BEBS HRES Ha% e
1 MMT-4101 WOODEN BASE ELEC BD
2 MMT-4103 SHIELD SHEET
3 837-15067-02 IC BD USB TO 4SERIAL 232 IF
4 837-15070-04 IC BD LED DRV32CH RS232
5 837-15257-01 /O CONTROL BD 4 FOR USB
6 837-20008 4PORT USB HUB BD MINIB TO A
101 400-5464-01505 SW REGU VS15C-5
102 400-5464-03005 SW REGU VS30C-5
103 400-5489-10012 SW REGU VS100E-12
104 400-5489-15012 SW REGU VS150E-12
105 400-5489-15024 SW REGU VS150E-24
106 838-15228 2.1CH 40W STEREO AMP BD
107 839-1363-01 HEADPHONE AMP BD SHC
108 270-5116 FERRITE CORE TDK ZCAT2032-0930
109 270-5117 FERRITE CORE TDK ZCAT3035-1330
110 601-0460 PLASTIC TIE BELT 100 M/M
111 280-7892 CORD CLAMP TL-19AN
112 280-6676 CORD CLAMP TL-25A TKK
113 280-5207 HARNESS LUG CC-1005
114 280-6681 L-LOCK LT-320PCG
201 011-T03512 TAP SCR TH 3.5x12
202 011-P00325 TAP SCR PH 3x25
203 000-P00308-W M SCR PH W/FS M3x8
204 011-T03516 TAP SCR TH 3.5x16
205 011-F00312 TAP SCR #1 FH 3x12
301 MMT-60009 WH SW REGU AC
302 MMT-60010 WH AMP 24V
303 MMT-60011 WH AMP IN
304 MMT-60012 WH AMP OUT
305 MMT-60013 WH AMP VOLUME
306 MMT-60014 WH H AMP OUT 1P
307 MMT-60015 WH H AMP OUT 2P
308 MMT-60021 WH LED DRV 12V
309 MMT-60022 WH 1/0 BD 5V
310 MMT-60023 WH USB BD 5V
311 MMT-60024 WH LED DRV SERIAL 1P
312 MMT-60025 WH LED DRV SERIAL 2P
313 MMT-60026 WH LED DRV OUT 1P
314 MMT-60027 WH LED DRV OUT 2P
315 MMT-60028 WH 1/0 BD
316 600-8292-050 USB CABLE A-MINI B 050CM K

165


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-4101&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-4103&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=837-15067-02&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=837-15070-04&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=837-15257-01&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=837-20008&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=400-5464-01505&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=400-5464-03005&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=400-5489-10012&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=400-5489-15012&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=400-5489-15024&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=838-15228&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=839-1363-01&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=270-5116&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=270-5117&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=601-0460&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-7892&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-6676&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-5207&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-6681&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=011-T03512&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=011-P00325&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-P00308-W&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=011-T03516&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=011-F00312&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60009&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60010&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60011&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60012&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60013&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60014&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60015&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60021&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60022&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60023&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60024&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60025&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60026&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60027&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60028&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=600-8292-050&style=D&search.x=1&search.y=1

166

B A

(22) 610-0963
ASSY DC 12V FAN 120MM

BeE BmES LR i"E
1 105-5561-92 FAN BRKT
101 260-0154 FAN DC12V 11938KA-12M-EA-03
102 601-12939 FAN GUARD 120 TOA R109-8
102 601-12940 FAN GUARD 120 SANYO 109-019E
102 601-8543 FAN GUARD
201 000-P00312-W M SCR PH W/FS M3x12


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=105-5561-92&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=260-0154&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=601-12939&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=601-12940&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=601-8543&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-P00312-W&style=D&search.x=1&search.y=1

(23) MMT-4200
ASSY XFMR

4- 20

PRIMARY

/101201

1 4

SECONDARY

off / i o

4 I
© @ E T5 @
= i
N W

E - ©
% 5 e

Bam) A

o %
N /)
SE. RHEEECIREIEE T 5,
BEES BeES e igZ
1 MMT-4201 WOODEN BASE XFMR
101 560-5628-V XFMR 100-120V 100V7.5A NCW V
102 280-7892 CORD CLAMP TL-19AN
201 000-P00510-W M SCR PH W/FS M5x10
202 011-F00312 TAP SCR #1 FH 3x12

167



https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-4201&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=560-5628-V&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-7892&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-P00510-W&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=011-F00312&style=D&search.x=1&search.y=1

168

B A

(24) MMT-6001
ASSY WIRE 1P

Z OEBmISERERRICEHDTY, BIKIEH Y EE A,

BEES HeES GRS "E
101 601-0460 PLASTIC TIE BELT 100 M/M
102 MMT-60016 WH EXT HEADPHONE 2P 1
103 MMT-60017 WH EXT AUDIO
104 MMT-60030 WH EXT WHITE LED 2P 1
105 MMT-60031 WH EXT SW BASE SENSOR 2P 1
106 MMT-60032 WH EXT SW BASE LED 2P 1
107 MMT-60040 WH EXT COIN 1
108 MMT-60042 WH EXT BILLBOARD
109 MMT-60045 WH EXT COM & DC
110 MMT-60046 WH EXT PLAYER CAMERA LED

111
112

600-7157-1650
600-7157-2800

WIRE HARN EARTH ID5 40U 1650MM
WIRE HARN EARTH ID5 40U 2800MM


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=601-0460&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60016&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60017&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60030&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60031&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60032&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60040&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60042&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60045&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60046&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=600-7157-1650&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=600-7157-2800&style=D&search.x=1&search.y=1

(25) MMT-1350
ASSY PLAYER CAMERA

Bam) A

REEsS BaES G i"E
1 MMT-1360 ASSY PLAYER CAMERA COVER
2 MMT-1370 PLAYER CAMERA UNIT
3 MMT-1351 PLAYER CAMERA BASE
201 000-P00408-W M SCR PH W/FS M4x8
301 MMT-60047 WH PLAYER CAMERA LED
302 600-8307 USB CABLE A-ZHR5

169



https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1360&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1370&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1351&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-P00408-W&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60047&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=600-8307&style=D&search.x=1&search.y=1

170

B A

(26) MMT-1360
ASSY PLAYER CAMERA COVER

BEES HeES GRS "E

1 MMT-1361 PLAYER CAMERA COVER
2 MMT-1362 PLAYER CAMERA RING COVER
3 MMT-1363 PLAYER CAMERA INNER BASE
4 MMT-1364 PLAYER CAMERA LENS COVER

101 390-7245 LED RING WARM COLOR 21+1

102 280-7896-05 SPACER WN-05G (HIROSUGI)

102 280-7909 SPACER PHI3 L=4.8

201 000-P00308-W M SCR PH W/FS M3x8


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1361&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1362&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1363&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1364&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=390-7245&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-7896-05&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-7909&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-P00308-W&style=D&search.x=1&search.y=1

(27) MMT-1370
PLAYER CAMERA UNIT

ffa, R OY IBRHDI &

)1, (101)DEE ML 2120, 11£0.01N - m& 3 %,

Bam) A

REeEsS BaES G i"E
1 MMT-1371 PLAYER CAMERA BRKT
101 601-13249 CAMERA KBCR-S03MU-HPB2033-C300
102 280-7892 CORD CLAMP TL-19AN
201 FAS-000203 M SCR PH W/S M2x10

171



https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1371&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=601-13249&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-7892&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=FAS-000203&style=D&search.x=1&search.y=1

172  mzuzt

(28) MMT-1500 (D-1/3)
ASSY CABINET 2P

1. OE@OADADIR* YA Y 2 ERAG T &,

73
&) @) & N
’ ‘\‘
&2
EED G T,
, v ) /
A\ VL i
NG




(28) MMT-1500

ASSY CABINET 2P

Bam) A

(D-2/3)

Begs HaES aBan "%
1 MMT-1501 ASSY SUB CABINET 2P
2 MMT-1070 ASSY HEADPHONE JACK COVER
3 MMT-1100 ASSY LCD
4 MMT-1600 ASSY FRONT COVER 2P
5 MMT-1700 ASSY SW BASE 2P
6 MMT-4000 ASSY GAME BD
7 610-0963 ASSY DC 12V FAN 120MM
8 MMT-1520 JOINT PIN 2P BRKT
9 MMT-1021 CABINET EDGE COVER
10 MMT-1022 FRONT LED CONN PLATE
11 MMT-1521 FOOT COVER 2P
12 MMT-1028 FRONT COVER SASH
13 MMT-1525 CABINET INNER REFLECTOR 2P
14 MMT-1034 CABINET INNER REFLECTOR REAR
15 MMT-1035 FRONT LED BRKT LOWER
16 MMT-1036 FRONT LED BRKT UPPER
17 MMT-1526 SIDE COVER REFLECTOR 2P
18 MMT-1522 JOINT CONN BRKT LOWER
19 MMT-1523 JOINT CONN BRKT UPPER
20 MMT-1524 LAN LID
21 105-5639 EARTH PLATE
22 421-9107-92-130 STICKER UNIT WEIGHT 130KG
23 421-11416 STICKER CAUTION FORK
24 421-14237 STICKER GAME BD MMT
25 440-WS0002YJP STICKER W POWER OFF
101 130-5280-01 WOOFER 40HM 80W
102 253-5460-01 AIR VENT BLACK
103 280-8001 CLAMP LWSM-0511 CLEAR NIX
104 390-7244-0525 LED TAPE WHITE M3528W-A 0525MM
105 390-7244-0675 LED TAPE WHITE M3528W-A 0675MM
106 280-7892 CORD CLAMP TL-19AN
107 280-6676 CORD CLAMP TL-25A TKK
108 280-5207 HARNESS LUG CC-1005
109 280-5275-SR10 CORD CLAMP SR10
201 000-P00408-W M SCR PH W/FS M4x8
202 030-000630-WB HEX BLT W/FS BLK M6x30
203 FAS-080040 TMP PRF SCR PH W/FS STN M4x20
204 068-441616-0C FLT WSHR CRM 4.4-16x1.6
205 068-652016 FLT WSHR 6.5-20 X1.6
206 000-P00435-S M SCR PH W/S M4x35
207 000-P00416-W M SCR PH W/FS M4x16
208 011-T03512 TAP SCR TH 3.5x12
209 000-T00416-0B M SCR TH BLK M4x16
210 000-F00412-0B M SCR FH BLK M4x12

21

FAS-110032

TAP SCR PH #1 BLK 4x12

173


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1501&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1070&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1100&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1600&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1700&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-4000&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=610-0963&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1520&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1021&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1022&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1521&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1028&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1525&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1034&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1035&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1036&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1526&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1522&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1523&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1524&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=105-5639&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=421-9107-92-130&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=421-11416&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=421-14237&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=440-WS0002YJP&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=130-5280-01&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=253-5460-01&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-8001&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=390-7244-0525&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=390-7244-0675&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-7892&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-6676&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-5207&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-5275-SR10&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-P00408-W&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=030-000630-WB&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=FAS-080040&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=068-441616-0C&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=068-652016&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-P00435-S&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-P00416-W&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=011-T03512&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-T00416-0B&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-F00412-0B&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=FAS-110032&style=D&search.x=1&search.y=1

174 =mzuxt

308

600-8272-100

(28) MMT-1500 (D-3/3)
ASSY CABINET 2P
&85 BaES G i"E
212 011-F00312 TAP SCR #1 FH 3x12
213 000-P00308-W M SCR PH W/FS M3x8
214 060-F00400 FLT WSHR M4
215 060-S00400 SPR WSHR M4
216 050-H00400 HEX NUT M4
301 MMT-6002 ASSY WIRE 2P
302 MMT-60005 WHAC 3
303 MMT-60006 WH EXT ROUTER AC
304 MMT-60057 WH WOOFER 2P
305 600-8206-100 CA USB A-A(FEM) FOR PNL 100CM
306 600-8245 AC CABLE VL3P 7A W/E
307 600-8248-2000 ASSY CA DVI-D EMC 2000MM KDK

CA USB3.0 A-A(F) FOR PNL 100CM


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=011-F00312&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-P00308-W&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=060-F00400&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=060-S00400&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=050-H00400&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-6002&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60005&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60006&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60057&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=600-8206-100&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=600-8245&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=600-8248-2000&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=600-8272-100&style=D&search.x=1&search.y=1

(29) MMT-1501
ASSY SUB CABINET 2P

Bam) A

91 Q0D ML ENEIN - nE§ 2,

BEEsS HBaES G i"E

1 MMT-1502 CABINET 2P
2 MMT-1550 ASSY BACK DOOR 2P
3 MMT-1007X LEG BRKT
4 117-5233-91 PLATE LEG BRACKET BLACK
5 253-5396-91 CABINET HANDLE

101 601-5699X LEG ADJUSTER BOLT M16x75

102 601-11223 CASTER 75 PAU

201 000-T00425-0B M SCR TH BLK M4x25

202 068-441616-0B FLT WSHR BLK 4.4-16x1.6

203 030-000630-WB HEX BLT W/FS BLK M6x30

204

050-H01600-3

HEX NUT TYPE3 M16

175


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1502&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1550&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1007X&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=117-5233-91&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=253-5396-91&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=601-5699X&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=601-11223&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-T00425-0B&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=068-441616-0B&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=030-000630-WB&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=050-H01600-3&style=D&search.x=1&search.y=1

(D-1/2)

CABINET 2P

(30) MMT-1502

Baal) A b

2]
=]

176

5 o B 4 B 3 BB
Q 2 B2

a0 B

rEB ..

LAY INORTZHEOWT TBHRER) OF L—LOY¥] TEH 9
°[e M XEIE R LGSL-1N°S
CROOBEZYIVSSMH ¥T K S LR L—LOYBE Y
CROQOBBHZI0USHH ETE L LPL—LOYGEC
°2 2O E % (JLIHM NONS)08-10641 » L —4</ 0¥ &REHYBE T
°2 2 OBEZ (Y19 1000)08-vL641 b L—<A0% &PEHYBE | (E

(6r-vr"S0d) (69-v9°S0d)
-8 NOILO3S Y=Y NOILD3S S —
TV T e FEEETERT
SR e )
|
B
m S .
i
HENBE
(YN
A/

0-0 NOILD3S Q-0 NOILO3S

H-H NOI103S

M=) NOILO3S

_Tz NBE RESLRESN




(30) MMT-1502
CABINET 2P

Bam) A

(D-2/2)

BeEs HaES

aBan

"%

MMT-1502-A
MMT-1003
MMT-1005
CTF-1104
117-5098-91
117-5463

oo s WN -

201 011-T03512

CABINET 2P BLANK

BILLBOARD HOLD BRKT

SIDE COVER BASE CONN BRKT
CASTER NUT PLATE

TNG RETAINER PLATE

NUT PLATE M8

TAP SCR TH 3.5x12

177


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1502-A&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1003&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1005&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=CTF-1104&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=117-5098-91&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=117-5463&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=011-T03512&style=D&search.x=1&search.y=1

178

B A

(31) MMT-1550
ASSY BACK DOOR 2P

o

Be®s BaBS GRS "%
1 MMT-1551 BACK DOOR 2P
2 DP-1148X LKG TNG
3 117-0062 PLATE LOCK RETAINER

101 220-5793-1-A001 CLY LOCK MASTER W/O KEY A001


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1551&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=DP-1148X&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=117-0062&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=220-5793-1-A001&style=D&search.x=1&search.y=1

(32) MMT-1600
ASSY FRONT COVER 2P

204 203 Y 201Y 2

Bam) A

Begs SaEsS EBenta =%
1 MMT-1610 FRONT COVER 2P
2 MMT-1301 SUB MONITOR PLATE
3 MMT-1601 FRONT COVER SHEET 2P
201 FAS-600033 FLT WSHR STN M4
203 050-C00400-3C CAP NUT TYPE3 CRM M4
204 FAS-080040 TMP PRF SCR PH W/FS STN M4x20

179


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1610&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1301&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1601&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=FAS-600033&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=050-C00400-3C&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=FAS-080040&style=D&search.x=1&search.y=1

180 =mmuxt

(33) MMT-1610
FRONT COVER 2P

BeEs BaBS G "%
1 MMT-1611 FRONT COVER 2P BLANK
2 MMT-1312 STUD PLATE

3 TX-1029X-A NUT PLATE


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1611&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1312&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=TX-1029X-A&style=D&search.x=1&search.y=1

@z 181

(34) MMT-1700 (D-1/2)
ASSY SW BASE 2P

1.0, (6)aPBLSETCREDT &,

ABREFHEED

2

(1048417 0 = $5 R

207 Y 206 Y 205




182

B A

(34) MMT-1700 (D-2/2)

ASSY SW BASE 2P
BREES BaES G 5%

1 MMT-2000 ASSY BUTTON SWITCH
2 MMT-1201 SW BASE
3 MMT-1202 TOUCH PANEL SPACER
4 MMT-1203 TAPE LED SUPPORT
5 MAI-1203 PANEL SASH
6 MAI-1206X SW COVER
7 253-5748 TAPE LED HOLDER

101
102
103
104
105
106
107
108
109

201
202
203
204
205
206
207

301
302
303
304
305

280-5275-SR10
280-7892
280-7896-05
280-8001
390-7244-0350
390-7244-0525
390-7244-2325
509-6483
838-15235-01

000-P00408-W
000-F00308
FAS-000159
FAS-080036
060-F00400
060-S00400
050-H00400

MMT-60036
MMT-60037
MMT-60038
MMT-60039
MMT-60041

CORD CLAMP SR10

CORD CLAMP TL-19AN

SPACER WN-05G (HIROSUGI)
CLAMP LWSM-0511 CLEAR NIX

LED TAPE WHITE M3528W-A 0350MM
LED TAPE WHITE M3528W-A 0525MM
LED TAPE WHITE M3528W-A 2325MM
TOUCH SENSOR UNIT TPK

LED BD RGB 3x1BLOCK 5050

M SCR PH W/FS M4x8

M SCR FH M3x8

M SCR PH W/SMALL FS M3x8

TMP PRF SCR PH W/FS STN M4x10
FLT WSHR M4

SPR WSHR M4

HEX NUT M4

WH SW BASE LED

WH SW BASE SENSOR
WH TOUCH SENSOR
WH BODY LED

WH HEADPHONE JACK


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-2000&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1201&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1202&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1203&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MAI-1203&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MAI-1206X&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=253-5748&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-5275-SR10&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-7892&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-7896-05&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-8001&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=390-7244-0350&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=390-7244-0525&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=390-7244-2325&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=509-6483&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=838-15235-01&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-P00408-W&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-F00308&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=FAS-000159&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=FAS-080036&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=060-F00400&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=060-S00400&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=050-H00400&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60036&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60037&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60038&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60039&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60041&style=D&search.x=1&search.y=1

(35) MMT-4000
ASSY GAME BD

Bam) A

BAE BaRES G i"E
1 MMT-4001 WOODEN BASE GAME BD
2 849-1004 ASSY CASE ALLS HX2 W HDD
3 105-5689 GAME BD BRKT
201 000-P00408-W M SCR PH W/FS M4x8
202 000-P00416-W M SCR PH W/FS M4x16

183



https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-4001&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=849-1004&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=105-5689&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-P00408-W&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-P00416-W&style=D&search.x=1&search.y=1

184

B A

(36) MMT-6002

ASSY WIRE 2P

Z OEBmISERERRCEHDTY, BIIKIEH Y EE Ao

BEES HeES G i"E
101 601-0460 PLASTIC TIE BELT 100 M/M
102 MMT-60018 WH EXT HEADPHONE 2P 2
103 MMT-60019 WH ALLS AUDIO
104 MMT-60020 WHALLS COM
105 MMT-60034 WH EXT SW BASE SENSOR 2P 2
106 MMT-60035 WH EXT SW BASE LED 2P 2
107 MMT-60052 WH EXT WHITE LED 2P 2
108 MMT-60053 WH ALLS COM4


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=601-0460&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60018&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60019&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60020&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60034&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60035&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60052&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60053&style=D&search.x=1&search.y=1

185

Bam) A

(D-1/2)

(37) MMT-1800-01

ASSY BILLBOARD

BT R(D o>

2n—

T

2OHE %L AO00e2(2)T
CHEBEILAMNE—C—AY "L (F

BTN

-

@0 , Q)

SN xBo-4—-AY



B A

(37) MMT-1800-01 (D-2/2)
ASSY BILLBOARD
BEES BaES TR i"E
1 MMT-1810-01 BILLBOARD COVER
2 MMT-1850 ASSY SPEAKER
3 MMT-1801X BILLBOARD BASE
4 MMT-1802 STICKER SPEAKER
5 421-9107-92-024  STICKER UNIT WEIGHT 24KG
101 390-5768-0950 LED TAPE RGB 16.7 12V 0950MM
102 390-5768-0100 LED TAPE RGB 16.7 12V 0100MM
103 280-8002 CLAMP LWST-0512 CLEAR NIX
104 280-7892 CORD CLAMP TL-19AN
105 280-5275-SR10 CORD CLAMP SR10
201 000-T00408-0C M SCR TH CRM M4x8
202 068-441616-0C FLT WSHR CRM 4.4-16x1.6
203 050-F00400 FLG NUT M4
204 000-T00408-0B M SCR TH BLK M4x8
205 060-F00400 FLT WSHR M4
206 060-S00400 SPR WSHR M4
207 050-H00400 HEX NUT M4
208 068-441616-0B FLT WSHR BLK 4.4-16x1.6

301 MMT-60043

WH BILLBOARD


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1810-01&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1850&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1801X&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1802&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=421-9107-92-024&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=390-5768-0950&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=390-5768-0100&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-8002&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-7892&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-5275-SR10&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-T00408-0C&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=068-441616-0C&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=050-F00400&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-T00408-0B&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=060-F00400&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=060-S00400&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=050-H00400&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=068-441616-0B&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60043&style=D&search.x=1&search.y=1

(38) MMT-1810-01
BILLBOARD COVER

L

L
T Ll

. D
|
|

(1526)

SECTION A-A

:

Bam) A

BeEs MBS &b "E
1 MMT-1811 BILLBOARD COVER BLANK
2 MMT-1815 BILLBOARD COVER SASH
3 MMT-1813 REFLECTION SHEET A
5 TX-1029X-A NUT PLATE

187


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1811&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1815&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1813&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=TX-1029X-A&style=D&search.x=1&search.y=1

188 mmuxt

(39) MMT-1850
ASSY SPEAKER

BeE BaES G "%
1 MMT-1851 SPEAKER BRKT
101 130-5310 SPKR BOX 40HM 40W S010D15104W

102

201
202

280-5275-SR10

012-P00512
060-F00500

CORD CLAMP SR10

TAP SCR #2 PH 5x12
FLT WSHR M5


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1851&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=130-5310&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-5275-SR10&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=012-P00512&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=060-F00500&style=D&search.x=1&search.y=1

(40) MMT-1900
ASSY SIDE COVER BASE 1P

Bam) A

Begs HaES EBeth =%
1 MMT-1901 SIDE COVER BASE 1P
101 280-5275-SR10 CORD CLAMP SR10
102 280-8001 CLAMP LWSM-0511 CLEAR NIX
103 390-7244-0525 LED TAPE WHITE M3528W-A 0525MM
201 060-F00400 FLT WSHR M4
202 060-S00400 SPR WSHR M4
203 050-H00400 HEX NUT M4
301 MMT-60044 WH SIDE HEADPHONE LED

189


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1901&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-5275-SR10&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-8001&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=390-7244-0525&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=060-F00400&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=060-S00400&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=050-H00400&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60044&style=D&search.x=1&search.y=1

190 =mmuxt

(41) MMT-1950
ASSY SIDE COVER BASE 2P

1Y 201Y 202 203

(02ER 4 41 % $5 R
BEEES BaES Bat im&
1 MMT-1951 SIDE COVER BASE 2P
101 280-5275-SR10 CORD CLAMP SR10
102 280-8001 CLAMP LWSM-0511 CLEAR NIX
103 390-7244-0525 LED TAPE WHITE M3528W-A 0525MM
201 060-F00400 FLT WSHR M4
202 060-S00400 SPR WSHR M4
203 050-H00400 HEX NUT M4
301 MMT-60044 WH SIDE HEADPHONE LED


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-1951&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-5275-SR10&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-8001&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=390-7244-0525&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=060-F00400&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=060-S00400&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=050-H00400&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60044&style=D&search.x=1&search.y=1

Bam) A

212 )b—=Z2—Fv b

XIEE R

(1) XKT-2293

ROUTER KIT MMT

(1) XKT-2293

ROUTER KIT MMT

ID1Zy MIFT¥arvFy bERLEY, HUNEHYEEA, <5F

(2) MMT-4300
ASSY ROUTER

=B

Z
=7

Begs HaES #Banta =%
1 MMT-4300 ASSY ROUTER
401 420-7651 OWNERS MANUAL MMT
403 420-7653 SERVICE MANUAL ALLS HX2
404 421-11708 STICKER SERVER
405 540-0006-01 WRENCH M4 TMP SCR
406 600-7269-0100 ASSY LAN CABLE 0100CM
407 600-7269-5000 ASSY LAN CABLE 5000CM
408 068-441616-0C FLT WSHR CRM 4.4-16x1.6
409 000-P00435-S M SCR PH W/S M4x35

191


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-4300&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=420-7651&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=420-7653&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=421-11708&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=540-0006-01&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=600-7269-0100&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=600-7269-5000&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=068-441616-0C&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-P00435-S&style=D&search.x=1&search.y=1

192

B A

(2) MMT-4300
ASSY ROUTER

I

\BHHEADEDZ a@

@i v 20T i E

BeEs HaES #Ban "%

1 MMT-4301 WOODEN BASE ROUTER
2 105-5700 ROUTER HOLDER FOR RTX830
3 421-12471 STICKER WAN AND LAN

101 601-13203-63 ROUTER RTX830 BD MMT

102 400-5464-01505 SW REGU VS15C-5

103 280-6681 L-LOCK LT-320PCG

104 280-5207 HARNESS LUG CC-1005

201 000-P00416-W M SCR PH W/FS M4x16

202 000-P00306-W M SCR PH W/FS M3x6

203 011-T03516 TAP SCR TH 3.5x16

204 011-T03512 TAP SCR TH 3.5x12

301 MMT-60007 WH ROUTER AC

302 MMT-60008 WH ROUTER 5V


https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-4301&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=105-5700&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=421-12471&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=601-13203-63&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=400-5464-01505&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-6681&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=280-5207&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-P00416-W&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=000-P00306-W&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=011-T03516&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=011-T03512&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60007&style=D&search.x=1&search.y=1
https://www.sls-net.co.jp/p-support/shop/goods/search.aspx?item_code=MMT-60008&style=D&search.x=1&search.y=1

AT (D-1/4)

A |

C

| D

E

G

MMT—-0000 HrANGIS Uhier2 | MVT—60006 | MMT-60007
- 270-5179-10 T.F 15(A T.F 15(A ~ i 0 i -
TOP ASSY MMT NOISE FILTER FN9280E-10-06 80% %ﬁ (A) oV oV (A) 1 B AL, AK MIT-6e004 AL ‘1 AL [—WCLPT A 600-7269-5000
oot 2] 102 2| BLI T2 BL I%I B peroovic MMT-60008 T[] iwan
3S[——14 N — (F250) 50% |1 | 110V]|]||100v —BL, BK I
O O—1P g N 3 3 I 80
: —{(SLDR) vams 120V b= PNL | B GND [ 1
AC100YV g 9 E[ HE550) ] 3P ‘ AC102V (N) 5
005201 10~ 02—Luo a L 51 560-5628-V N } } Gge 20 10
- — S Fo] XFMR 100-120V P | ‘
1 AC CABLE CONNECT TYPE FUSE (10A) S e 100V7. 5A NCW V o] Tegt i sv 2ol I |
15A W/E 514-5176-10000 8o T \O \O > } | 7P e
LY VP - RN = i 1 —7260-
gb VISP MMT-4200 ASSY XFMR s o a@ | MMT-1500  {MMT-4300 400-5464-01505 600-7269-1000 .
MMT—1050 AC UNIT 3l ] |°Sg | ASSY CABINET 2% | ASSY ROUTER | SW REGU VS16C-5 6011320363 ——{J ) icLient
w
“D5)3©3©@ ! = i i BD MMIT
M| d l:
AK g ALX3, AK Y ALFET AL MMT-60005
— BK ¢ BLX3, BK N ALFIAL
(END CONN) 43011430
43Ul 143U
| BL 51 BL
__ BLf—&{BL 33
LCD 0SD BD VLEP N'?# > L S S
SPKR L+t MVT-60012 75 PNL Eleleln CD OSD BD =
? OKET2av o SPKR L- 95 HOOE 2
< a2 @ SPKR R+ WAl gL 2lc = plc S
SIX[(END CONN) HB8Kl5 3 JoNp 2 SPKR R- - 91y LBLET3T ac1oav (N) 3 3 BL 1] Ac1a0v (N) ‘
allel = Sos = = 70 |5 43U[—51 EarTH AL 43051 EARTH S
<@ o CNT & 9oL AL AL ©
<5 E S woorers E ’775'5 B AC100V (L) 3 AC100V (L)
o i —t7
MMT—4100 £ WOOFER- = —38 6] 3P0 MMT-1500
ASSY ELEC BD oz B 93 200-6280 200-6280 ASSY CABINET 2P
] NS VOL3 = MMT-60013 200 MMT—1000 LCD DSPL 43 LED LCD DSPL 43 LED
o Vol 100 ASSv CABINET 1P 6600K79300K ¥ _ B500K79300K Y
S % - VOL1 _ (MMT-1100) == (MMT-1100)
— é N N T ‘%
P = s
SOUND = - -
g Qe = EDVI D s ED\/[ D
3 = gl 12 3
5 ; St 3
- LS
400-5489-15024 - SPKR L+ _ 27(@2T5]”5 B1 600-8310-0200 s|Z22 T N _
SW REGU VS150E—24 3 | =KeT0ay o SPKR (- B5X2 @ ©| |w S i
AL Actoov (L) 24v [T BPEAS NEE: 8 SPKR Rt B8] . |
MEE: 24V| 20 18%la s JoNp 2 SPKR R- - i 4-D6 rTTh i
—BLI5 3 |acigev(N) 24v| 3O & VH3P = & L e | i
| B4 24V| 40 = CN1 2 = oM === DVI-D : |
B85 24V | 50 o WOOFER+ — SEJ — i
Gl 5av| & oK L] £ WOOFER- ] MMT-1700 ‘E%‘:‘ LAN1 @: i
CN1 gng? o= % égSY SW BASE S*'S i !
(o] b b “ .
S onp [1 8% S vos { 2 uss-A| v =
2 GND| 2B TS VOL2|| 2 & = ] 2
»é‘ GND| 3O ® = voL1 % i <
GND | 4 O o o = 2 =
4 OND| 50 MMT~-1200 use-a| M 3
GND| B O SOUND = ASSY SW BASE 2
GND |7 o8Ok MINI N 1P - =
VH7P | = 3 =
B N MIT-60014 849-1004 I g
3 400—5464—01505 10 SOUND L WHITE WHITE (5% ASSY CASE ALLS HX2 W HDD i g
o ° = Y RED et REDF 4 =)
] = SWREQU VSTSC-S | et 2 [an SRR SngLD@* HQ SHIELD| UsB-A| M | :
AC100V (L) GND [ 1 0327 WTETC 3 |OND JESP = — |2 USBA ™ 4-g2
GND | 2 o2y 4 |IN L+ N2 = Z
5V 3 0 .~ RED 5 |GND (AIME RW) =
AC100V (N) 5V [ 4 Oy = - t) 6 |INR MMT-60016 2|RXD (RED) r
xHapl” |3 % XHBP WHITE PHS WHITE WHITE ¢S 3| TXD (WHITE) cowt ;E MMT-60020
N2 & = N © = RED *77 5[GND (SHIELD) | p_gggptih 2 RED(®
z 839-1363-01 S H%’SHIELD T31SHIELD SHIELD [3 (=] WHITE |
B o HEADPHONE AMP BD SHC ¢ S SHIELD}
2[RXD (RED) (VED); RED
MMT-60017 3 [ TXD WHITE) f YELLOW
H AP 2P)] WHITE (S WHITE WHITE (S WHITE  MMT-60019 FRONT 5 [GND (BLACK) COM2 ; N BLUE
10 SOUND L WHITE %74 RED RED5T{RED for e MINT JACK 7[RTS (GREEN) | p_gpgptith S GREEN
- 80 5V 25000 R RElD [} SHI%LD F1—ISHIELD SHIELD 51 SHIELDY g 8[CTS (BLUE) [ BLACK
GND SHIELD WHITE | —]WHITE WHITE | +—WHITE = | REAR RED}
SHIELDLS 5 | gy OGN 3 %gaﬂ—mggwﬂ =g MINT JACK (TOUCH SENSOR 1P)
— - IN L+ N2 SHIELD e SHIELD SHIELD o1 SHIELDY g 2]RXD (RED) r F
S 1 rep GND WHITE F>1—{WHITE WHITE > WHITE = i cow 3[TXD WHITE) CoM3 ;% i
S N IN R —QW?«WQ—QW?« RED =P MINT JACK 5[GND BLACK) | p-gupgp™it; 2 PN
i % 6P SHIELD |5 SHIELD SHIELD |51 SHIELD i [
BL g = 1 WHITE [, WHITE WHITE [, WHITE il sipE
839-1363-01 —WF«WQ—QWF« RED g MINT JACK (TOUCH SENSOR 2P)
oA HEADPHONE AMP BD SHC SHIELD |5 SHIELD SHIELD [o1] SHIELDY = 2]RXD (RED) @ MMT-1000
SM1 2P SMiZP CE I 5| TXD (WHITE) coval) ASSY CABINET
0 VHSP ! PNL ! SIGND (BLACK) | p_gpgptir}': 1P
{ ! ! MMT=400@ __ ASSY GAME BD {
Gl T T ot RS J{ AWEIE LIS | - S1KobiEs, 71— DHEEAWHITE. 2 {1 SILOBAREDETY, T4 7 —4R (K) FAWGTS ULI0ISEUET. RED WHITE
SN A , F12: SOKDIBE, 71+ —DHE (BE) FWHITES ), 7148 CKE) HFAWGT8 ULT0T5E % T,
TAV—AZ—l3 BRBICLOTREVE T, BEf%E |3 | YELLOW |9 | GRAY C | BROWN L | AWG20 UL1007 : 5N N = NN iy % 7 TS U0
=g P SBBAABYETDOT = I3 AKDIZE. T4 7 — D (BB ) HPINKE 7R T4 V7 —#R (KE) BAWGT8 UL1015& 750 F T,
ROTERTHLENKEELDHED ~ |4 | GREEN D PURPLE L] AWG22 UL1007 N 3 3 B SIKOEA
SRR LTLREW, 5 WHITE 5 EARTwWiRE 1€ LGLTGREEN 1T | AwGa4 ULioor | 4 ADBE. TA T —DHE (BE) HPINKETZ, T4 7—#R (KE) HBAWG22 UL1007E750E T, : gL

A

B

C

D

E

HaE

(i

193



194 wemsx

(D-2/4)

G

T T
i cip,
MMT-1500 1 2 10
® ASSY CABINET 2¢  (Q) W) | pur o
MMT—1200 | E1 Pt
ASSY SW BASE 1P 1 PNL MMT-1300
- | ASSY SIDE COVER
[ MVT-60029 § L
S B MMT-105@ | (1D5
© = @ 40K
5 ™ |  MMT-1000
Mlojejofiel ASSY CABINET 1P
Ore IM S D D 00 U S
A fefol¢[elols!
X[ | N[N
S| S| LO| O[O
N[N
MMT-60026 WMT-60027 [ ]
(Pl [2P] SHIELDF
270-5117 MVT-60028 Ll MMT—-1200
0 ‘ MMT-60021 ASSY SW BASE 1P
400-5489-15012 — [ um
SW REGU VSTSQE-12 | o S
871 |AC100V (L) 12V[ T BFspy - 837-15070-04 - 837-15070-04 10 OJ—1 sy TEXV —Lj 118
@ B2 12V | 2 O & IC BD LED DRV32CH RS232 & IC BD LED DRV32CH RS232 1010 5 |2y vl 20 ,
83 |AC100V(N) 12V| 30 g cle g cle 80 10 SHIELD
30K = 30k 30 = 30k 30 to 3 |GND 5V| 3 of
13 B4 12v| 4 oS SIET ] 12v 12v g oK 12V 12v (i1 357 801o 4 | o ov| 2 ol1e
B85 12V| 5 & 2 | GND 12V 2 = GND 12V |2 ~ A5 10
Vigp 15v | @ clsek ] 80kl 5 | ano MG [ oK b S ElE 2510 5 BILLBOARD LED L GREEN 5V| 5 O,
s s 5 e g . WEH e 7210 6 |BILLBOARD LED R GREEN 5V | 6 Ofp—
CN51 N12 1oy BT = 2 1oy 57 = 18 O 7 |CAMERA LED WARM 5V| 7 G 0
onD [ 1 o2 = @ @ 216771 1p BoDY LED 12v Fo ] 296571 2p BODY LED 12v [6 AZ[o o [SAMERS LED RED aLic I T
GND | 2 Bteo ] 405 406 2510 2 || 1P BODY CIRCLE LED 12V 7] 2570 2 || 2P BODY CIRCLE LED 12V {7] 481510 [BICLEOARD LED R BLUE anp | 1o0l8e
GND | 3 Btgo ] S = 3 || 1P SIDE COVER LED 12V [8] | — 3 || 2P SIDE COVER LED 12V [8] ] o1 &b | 110182
GND | 4 ot : : b lo 4 12v 8] | = lo4 12V 9] | 012 aND | 120182
GND| 50 g g NH4P 12V fe[ ] g NH4P 12V fig o015 D | 150182
GND| 60| |X - (N8 12v il - CNg 12v [l o1 D | 120188 ;
GND| 70 - 5t 12V fiz ] = 12V fiZ o1s 5t D | 150182 Tt
VH7P — 1234 12v 3l | 1234 12V (3] 1 016 12345678 16080 MMT—-1000
CN52 12v el ] 12v i o R B ASSY CABINET 1P
12v 15| o 12V 15[ o018 180
12V teL 12V boLd 38019 | 12v 1P BUTTON1 [ 190121
@ ,,,,,,,, 600-8292-050 CN11 XADTOP [ 1p] CNTT XADTOP [ 2] 020 2P BUTTON1 | 20012
M A M 1P BUTTONT LED R [1] 122 2P BUTTON1 LED R [1] 143 e o o | Saole2
1-G4 USB-A |2 2 10 1P BUTTONT LED G [2] +52 2P BUTTONT LED G [2] t52 <o
- - 1P BUTTONT LED B [3] 143 2P BUTTONT LED B [3] +4= — 30 5T 1oy o
& & 1P BUTTON2 LED R [4] tyz 2P BUTTON2 LED R [4] 173 3010 5 || 15y o
= = 80 1P BUTTON2 LED G [5] t72 2P BUTTON2 LED G [5] t72 o3 2P SELECT BUTTON| 28 OLES
o 1P BUTTON2 LED B [s] t¢3 2P BUTTON2 LED B f8] fo- 812 2 Il ono 1P SELECT BUTTON| 27 OLED
2 1P BUTTON3 LED R {7] 2 2P BUTTON3 LED R [7] to 8015 & || ano 50
MMT—-4100 @ 1P BUTTON3 LED G (8] &> 2P BUTTON3 LED G re] =5 = Tmee 1P BUTTONZ | 200133
ASSY ELEC BD S = 1P BUTTON3 LED B o[ 1= 2P BUTTON3 LED B [s| 157 ° CN 2P BUTTON3 | 80123 30 (P
8 1P BUTTON4 LED R fig[ += 2P BUTTON4 LED R fio] 1= = b BUTTONA | 51 o154
& 1P BUTTON4 LED G fi1] | 2P BUTTON4 LED G 1] ! o4
S 172 172 o1 @ 2P BUTTON4 | 320
2 1P BUTTON4 LED B {12 t¢f 2P BUTTON4 LED B fiz[ ts¢ o2 3 b BUTTON: | 350157
© 1P BUTTON5 LED R fi3[ | 2P BUTTON5 LED R ff3] | = 9%
: EREr nel ros o3 2P BUTTONS | 340
S 1P BUTTONS LED G 4 too 2P BUTTON5 LED G 12 to- — 8215 4 |l ohp x b BUTToNG | 350158
3 1P BUTTON5 LED B fi5 | 2P BUTTON5 LED B fi5] | 80 i 98
400-5489-10012 \NT-60023 heH heH %o 5 ||GND < 2P BUTTONG | 36012
_ fel ne g :
SW REGU VSTRRE112 | 10, 1P BUTTONG LED R fi7[ 147 2P BUTTONG LED R [i7[ 34 S hHsP S o BTNy S8
81 |ACT00V (L) GND 50 1P BUTTONG LED G {18 ths 2P BUTTONG LED G 18] 157 = <° o BUTToNS | 35015
a2 GND 50 1P BUTTONG LED B 19 t= 2P BUTTONG LED B {19] 157 g 2P BUTTONS | 40 o429
@ B3 |AC100V (N) GND 50 80 1P BUTTON7 LED R [20] to= 2P BUTTON LED R [0 +2= o SERvice S| 41 ol
15 B4 GND 30 = 1P BUTTON LED G [2r] o2 2P BUTTON LED G [21 122 o8 20
05 12V % 1P BUTTON LED B |22 t&3 2P BUTTONT LED B [22[ 123 Te TesT swl 250105
VHGP 12V o0 — = 1P BUTTONS LED R [2[ tes 2P BUTTONS LED R [23[ te3 5 “o
CN1 12V o ol 1P BUTTONS LED G [2¢ te2 2P BUTTONS LED G [2¢ 12 @ = COIN SW| 450132
12V ‘e 1P BUTTON8 LED B [25[ | 2P BUTTONS LED B [25] | eo
VH8P ~__ w WHITE 26 26
CN51 —“Em = —=>TXD| 4 <1 RED — Y 71 470
P o SRS oTeHTE DY |8 =R 28] 489/ g3
S 2 GND | 6 < ol 1 ol 1 10— COIN METER| 48C 2 (610-0913)
400-5464-03005 ~ B 70 = ol ol TllEV 500| 1 L3 00, 260-0154
SW REGU VS30C-5 = XHTP N = ] o 2 |5V BILLBOARD LED L RED |51 Ot5:— XA3P
NG S 5t 51 80 x| FAN DC12V_11938KA
BT ActoaY (L) > g E . o103 [|aNo BILLBOARD LED R RED| 520175~ \MT—60053 FNRER s
a7 4 Ear i o AD33P to 4 || GND COIN LOCKOUT | 53 o1=2L— 0SB0 30
as ~O 20 2 N3 CN3 (oo |N4P 29 31 o
a6 [0 4 |ACToOV(N) GND 8e S 3 lwHITE N7 1P CODE READER LED| SSOp5y 80 lj 80 80
Ll e 80 ta  >TXD| 4 ofper—) To 2P CODE READER LED | 860157 3]
ViEP 5V 10 8L <RXD| 5 O:kSHIELD J 701 15V 12V| 570r5,— L3P Z
CN1 By 10 =N GND| 6 of —s012 2|8V 12V| 88015 ;— S
VITAP 5o 7o 8g ]2 3||GND 12V1 590139 | MMT-1500
2| [vf || 82 8o t© 4 Ll GND 12vieooy | ASSY CABINET 2P
g o [IO NS NH4P RABQP |
N cNe NS 600-8292-050 ‘
MIT-60025 USB MINI-B| M HH = W % @
= i
CN13 2 = s
MMT-60022 o 9 :
= = i
AV —H5—2o0T 1| RED /__{ ORANGE A_{ PINK U | AWGI6 ULIOIS | gy 51kopigay, 7+ —DHIEBAWHITE, 2§41 )LOEAREDE . T+ —i (k&) HFAWGIS UL1015EEIET, RED WHITE
=4 (WARNING) : 2 | BLUE 8 | BLACK B | SKYBLUE K [ AwG18 UL1015 : N N 5 g iy
VARNINC _ , (21 SOKDIBE, 11— DI (85) HBWHITEL A5, 71 ¥ —48 A ) SAWGTS ULT0T5EBUET,
TAV—HZ—E BEICE>TELRVET, BEEExE |3 YELLOW 9 GRAY C BROWN L AWG20 UL1007 . S9N — ot N Fol _ RN St X 7 AWGI8_UL1015
ESTHERTEENSEECDIBANBIETDT. | 4 CREEN D PURPLE =L AWG22 UL1007 I3 AKDHZE. T4 v —DHIE (B ) HPINKE TR T4 —#R (KE) BNAWGT8 UL1015&8750E T,
FCRRLTCEE ) = Bl4: ADBA. 7 T —DHIE (B8) HPINKE AR, 71 7 —HR (KE) HAWG22 ULI007EBYET, i STKDBZS
by 5 | WHITE 43 | EARTHWRRE | E LIGHTGREEN [T [ AWG24 UL1007

A

B

C

D

E




(D-3/4)

D |

G

END CONN END CONN
%130 (END s AT2000 MA1-60305 1048 Mg < MMT—1000 MMT—1500 MMT—1700
232 050TX4 = ?g 51 112V [37@75359) sV ;g AT é? =1 12X ASSY CABINET 1P| ASSY CABINET 2P ASSY SW
B 207o 2 |[ED R 838-15235-01 PHOTQ_ INTERRUPTER YO\ | 5 ST 80T 2180 pic  MMTbeos4 BASE 2P
ek 20T LED BD RGB 0J-5355-A5 G T Iy P 30
5] — 0 4 |LED B 3X1BLOCK 5050 CT3P WP |3 ] 30
91 I PH4P - MMT—-4100 ASSY ELEC BD B 2A
iz _ _ ] 23
% _ord Yy : MA#@?@B@S%L o MMT-1500 ASSY CABINET 2P é 55
= Totlo 5 |12 . 370-5359 vorl 5 S Ter 92 B e
il 40T 15 5 | fp g Co8-19250-01 PHOTO_INTERRUPTER " | 5 o 00T {5180 7]
20T LED BD RGB 0J-5355-A5 BL 17 8 45
0T ~ 0 4 |LED B 3X1BLOCK 5050 CT3P SYG = 51
E = PH4P [1ef =
= g 52
70 MA1-60305 m
heT40T ST (MMT-2000) At TR P 5 i
Ho] 20T 18T 5 [\fp R 370-5359 vouT| 2 o 10115193 >
hel 101 40T 15 3 |[gp g 238719255-01 PHOTQ_INTERRUPTER "oy | 5 o 80T 15180 MMT-60039 55
Epv 20T LED BD RGB 0J-5355-A5 0y = P,
EErs - O 4 |LED B 3X1BLOCK 5850 CTsP SM3P |3 z PC ; 94
50 201 5 = g5 30072442325 12V 122 =
(= PH4P S 92
oy MA1-60305 1= WER R Yabi GND 2422 Al
20T . 30T (MMT-2000) —L tor B0 RN e 28
2 01 |12V 5V[ 1 1 SER >
Al 10T 18T [o 5 [\fp R 370-5359 VouT| 2 o Z0T_t5194 o
PR 40T 5 3 |[fp g 038719255-01 PHOTQ_INTERRUPTER “onpn| 5 o[ 80T 5180 B3
=0T 20T LED BD RGB 0J-5355-A5 L] < 390-7244-0350 P C 3gx2
£ Jes) - © 4 |LED B 3X1BLOCK 5050 CT3P ST 12v ! (1D5) BS
XAD26P B PH4P = LED, TAPE WHITE GND 7151x2 s
PAL = M3526W-A @350WM Vop o s
MA1-60305 -
— 30T J—O T2y (MMT-2000) iy —L1 101 P10, e =
10T 5 |Lep R 570-5359 VOUT| 2 70T 57195 XAD26P
40T 15 5 | gp g Co8-19250-01 PHOTQ_INTERRUPTER “\p | 5 80T 51180 300-7244-0525 19y “130 PNL
o 207[Q 3 |LED G Lep D RGR | | 0J-5355-A5 o Lee | LED_TAPE WHITE GND 242!
0 (= M3528W-A 8525WM _
. 1= PHAP YL2P =
o w MA1-60305
= —ser L (MMT-2000) oy Cal_ler_ (er1e
e 18T 5 [\fp R 370-5359 vouT| 2 o 0T t51—98
< © 40T [ 858-15255-01 PHOTQ_INTERRUPTER "o | 5 ol 80T 5180
w o 2 2072 3 [LED G | ED BD RGB 0J-5355-A5 & . 5
. S — 0 4 |LED B 3X1BLOCK 5050 CT3P SM3P |2 S MMT-60041
nn ¢ = PH4P - 3 837-20015 | EF \év*géTE WHégg @
R - HEADPHONE F17i 4o
<< z sl (NT-2000) T Maleeseg g JACR g0 - RIGH SHIELDF3 1-04
s oswe ST D= I P % O
= 49000 5 |l G [ep on-pag.. | | BIKSsANEERRUPTER anp| 5 of SAT {5 100 ovT-1070)
SES] 120715 4 |(ED B 3X1BLOCK 5050 CT3p S N2 1-D4
T e I PH4P =
L MA1-60305
& — 30T %”— 1y (MVT-2000) 5\/% 107 (%10 MMT—1000 MMT-60043
sS=s 18T [5 5 [\fp & 370-5359 VoUT| 2 ol 10T 51139 ASSY CABINET 1P
40T 15 5 | gp g Co8-19250-01 PHOTQ_INTERRUPTER "5 | 5 80T |-1180 30L St 30x2 — 30 P& 12V 390-5768-0950 — 30 (P& 12V 390-5768-0950
20T15 4 |lep s 3XePack Bgse | | OV O CT3p M |3 SoL [ -90X2 A2 7] B LED_TAPE RGB 48 171 B LED_TAPE RGB
) PHaP = Al s A1X2 ALTS] R T16.7 12V 0950vM 41 T3] R 16.7 12V 0950MM
= fa] X2 A5 e G (BILLBOARD LEFT) 45 ] G (BILLBOARD RIGHT)
A5 3 AS5X2 a V4P a V4P
45 Fet145x2 =L = b
hz SIR my it 12V 390-5768-0100 a2t 1] 12V 390-5768-0100
re| | 2] B LED_TAPE RGB F 2] B LED_TAPE RGB
MMT-60042 Fol | ALT3] R 16.7 12V 0100w 41 5] R 16.7 12V 0100MM
PR T AS 4] G (BILLBOARD LEFT) 45114 G (BILLBOARD RIGHT)
A1l & Swap ] Swap
75121 75 - (MMT-1080) - (MVT-1080)
N—2 L3 ] - -
\ 95k 96 75 S2 78 SP
N 71 ber 71 9515 LEFT 985 LEFT
700 91 F=—{ 91 - )
9oL 78k 78 o 130-5310 N L~ 1130-5310
\_98F5— 98 = SPKR_BOX_40HM N SPKR_BOX 40HM
318 153 40W S@70D15104W ——— 40W S@10D715104W
N2l cP cP
931 93 — 1175 — 73S
40K [ 40K 91 RIGHT 931> RIGHT
200 T,
S0l veaP N (MVT-1080) o weee (MVT—1280)
S S = =
?@ <
(156) (105) MMT-1800-01  ASSY BILLBOARD
MMT-60038 MMT-1050
MMT-4100 (F205)
ASSY ELEC BD ;gt 130-5280-01
MMT=1200 WOOFER 4OHM 8oW
509-6483 ASSY SW BASE 1P (F110)
TOUCH SENSOR UNIT TPK
— [
MMT-1700 Pl
ASSY SW BASE 2P th
MMT-1500 ASSY CABINET 2P
XABP CON3 YL2P  4-F1
| PNL
i
2T : EEBE L oneet . SPL,:(‘ELUE g ANGIE US| 1 SIKOMBE. 7 P DHBAWHITE 2/ 1 SILDBAREDERY, P (£) FAWGTS ULIOTSEGUET, RED WHITE
g _ e BI2: SOKDIZE. T4 7 — D (BE) BWHITES 73, T4 7—#& (KE) HAWG18 UL1015&72VE T,
TAV—HF— & B L OTREYEY, BE%E |3 | YELLOW 9 | GRAY C | BROWN L | AWG20 UL1007 : 5N _ N - _ N = % 7 TSRS
=g s S ZiE A < B3 AKDIZE. T v —DHIE (B) HPINKEG, 74— (KE) HAWGT8 UL1015&75WE T,
ORI DENKELELDBEDDYETDC. |4 [ GREEN D | PURPLE L] AWG22 ULTOO7 | ity im0 s s IRPINKE 75 ). 191 78 (Ao6) AAWG22 UL1007 75t/ % 3 B1: SIKDIRA
SRR CCEE L, 5 | WHITE 43 | EARTHWIRE |E | LIGHTGREEN [T | AWG24 UL1007 : ) s A SIS

A

B

C

D

E

HaE

(i

195



196 weomsm

(D-4/4)

A

T T
390-7244-0525 12y 1 }
LED_TAPE WHITE GND SRED A i
M3528W-A @525M1 MMT—1000 s01-15220 g\i WHITE || 600-8307 — 1+ 5@@—82@5—2@:1 ,,,,,,, ‘ @
- GREEN 1 [ im| : _
390-7244-0525 12V ASSY CABINET 1P CAVERA KBCRS83MU GRE BLACK %% = %sa';’"" o ngngggmg op
LED_TAPE WHITE GND - A SHIELD Y = \ -
1 M3528W-A @525NM GND S i
1 MMT-60057 F205
MMT—1900 } MMT 1350 K 20L e 130-5280-01
ASSY SIDE COVER BASE 1P i MMT-1370 I ASSY PLAYER @ SE 40L WOOFER 40HM 8OW
j VY e PLAYER CAMERA UNIT | ~CAMERA 3-£6 YL2P 110
ASSY PLAYER CAMERA
390-7245 600-8272-100 | ‘
PC. [ 1 : 390-7244-0525
390-7244-0525 12V :Bw EEEOEIE‘? YARM olp WMMT-60047 ;  MMT-60046 u%A = %; @ éi\é LED TAPE WHITE
VR, b GND 2: 12v[T] 50 SIEE 30 z 1-G4 MSB28W-A (525N
P 2-F1 LED WARM [2] 2 2] 12 : =
LED RED}3 t {3 r3] 12V 390-7244-0525
390-7244-0675 12V e XASP XA3P 2765 40K N> ER, TAPE BHAS6y
LED_TAPE WHITE GND :B'z':‘ @ (MMT—1360) i (15| Q
2 M3528W-A 86 75MM Vi > 9([%] MMT—4100 @J MMT—1950
L S ASSY ELEC BD < ‘ ASSY SIDE COVER BASE 2P
<
12V 390-7244-0525
‘ MMT-60049 (F110) el Bl GND - LD IR BTG
i - SW PB OBSF-24TR BL L -
sy T olLeT 10T (=+%10 MMT-60048 10551 10 E5 (S E5 HHES 5580 o cpi et
— | = 0| 2 ol 8er 70T 51— WHITE 101110 E8 1 E8 HoEs 21580 o SELECT
= x| 5 ol AL [ ATHTIRED | 8051180 80 5] 80 15180 ] ‘ 19V 390-7244-0675
=R 90T |, SHIELD 80,1180 80 1 80 180 509-5970-RE N GND  LED TAPE WHITE
= 90T [—BT REDIARED L 147 ~ L 1%] MMT—60050 SW PB OBSF-24TR RE IS} M3528W-A 0675MV
& GNDI 5 Oy TR fwniTerewalTe E% SMAP MMT-1400  SMeP S
w  R0% 8 oreT | ek SHIELDFot{SHIELD OSRRCENTER T MMT-1450  ASSY ENTRY PANEL ‘
= aNo| g ol 98T 80T 5180 RED|51—{RED : &
st 30 (~S1 30 ‘
3 PHEP sMeP BLACK Foot RED(S 30115130
MMT-1440 | GREEN ] %EWWET B
ASSY AIME | o SHIELDI] 80,180 e
AND VFD } SPVNFP el VT%QWE >
' 5
(610-0959) oy o] i WMT—60053 MMT—1700
GND %, J B@:; ASSY SW BASE 2P
=70 RED fg1- RED
— 200-6275 RXD ~%j WL TE ot - MMT-4000 WHITE [
VFD GP1232A02A FUTABA RIS SHIELD ] MMT-1500 ASSY GAME BD BLACK =11 3-AB
“ G0 Sitie  ASSY CABINET 2P oI
GND ‘ PNL PNL
XHTPT MMT—1400 ! sk -
| ASSY CENTER TOWER m% 0 (610-0913)
I 3 260-0154
2
4 MIT-60051  (EnD comy (105) |80 5180 @ FAN DE12y 11938KA
(MMT-14902) = - - 301x2 F57 30 — 600-7157-2800 _4ou[ e U 600-7157-1650 YL3P
838-156235-01 LED R| 2 © ;% 7a 20TX3 121% (23 gl 1955639 481-5568
LED BD RGB _ LED G| 3 opfgr 5] s34 -
3X1BLOCK 5858 | fp B| 4 © §§ PLNELP é MMT=1000 30 (S12; 30 ‘ % MMT—-1420
Prap XS 5 MIT-50045 ASSY CABINET 1P sTRI3T 38 31 fooj30 | ASSY SELECTOR
2o = = (F110)
| 5 & 32 132
(MMT-1490) 1oV —Lq s30T Y MMT=1023 80 [z 1180 coMlo o321y,
838-15236-01 LED R| 2 Or4ll—1_ 00 40K F 40K D (F225)| "~ N
LED BD RGB _ LED G| 3 ojfm VLBP \pT—
3X1BLOCK 5050 [gp g| 4 o401 — (1D5) X| = MMT—-60055 220-5846-91-01
o) onap 33 MMT-60054 PEB-730 QL203 12VBK 100
2P 30 17130
MMT=1470 37 51137
5 ASSY CODE READER 32 %4 32 MMT-1460 SW UNIT
2-G4 D5 105 _
(MMT-1480) 5VTLRED N o 7171 D5={Sps  MMT-60056 838-14548-10
WHITE 600-8295 600-8206-100 80 |+ 80x2 5111 SW & VOL BD
D-| 2 — 1 | - 1 — 6 2
601-13216-01 +| 5 SIGREEN M | F ] — B1 |71 {B1 805180 1. 3K0
M%%N6%§ﬁ4%552 GND| 4 BLACK = USB-A 5 BS rgT1Bb B1rT21B1 : H
50 & =2 B8 r511B8 B5T&1B5
SH5P o o 40K |o40K B8I<1B8
= = MMT—-4100 40K [71—140K @(IDB) SBP TEST SERVICE SOUND
—_ 64
ASSY ELEC BD o2l MMT-1400
(MMT-1480) — e A ASSY CENTER TOWER
SV 7 SliTe {] 602-6295 600-6206-100 50040 PAL
601-13216-01 % o|GREEN —H M | F | — 515181 10057 RED
USB CAVERA MS= 1| - SIBLACK Z USB-A & 8351 BLACK/YELLOW | COIN METER | 220-5798-01
M3 SNU2AMSH4 5-52 50 2 s FST1-BLACK MAG_CNTR 4P MZ674
= 5 o el L TBLACK 999990 -DCBV-D41 " JC
6 A = vL4P YL4P
i
2T : EEBE LAt . SPLTK}E(SLUE g ANGIE U0 | 1 SIKOMBE. 7 P~ DHBAWHITE 2/ 1 SILDBAREDERY, I 71 (£) FAWGTS ULIOTSEGUET, RED WHITE
Db —ho—it. Ml SoTREVET, BEE 3 | VELLOW |9 | GRAY C | BROWN L[ AWG20 uLiooy | P42 SOKDME U1 17— DM (BE) HWHITEL 5, 71142 (K8) DAWGTS UL1015275 V&
EEDTT”E¥?6&)C“%EL%)L%\A?T&Ui@—@r = B3 AKDHZE. T4 v —DHIE (B ) HPINKE R T4 —#R (KE) BNAWGT8 UL1015&8750E T, X z AWG1S ULIOT
s > - T GREEN D PURPLE sl AWG22 L1007 B4 ADBZE Y —DHIE (B) HPINKEEY TR OKE) HAWG22 UL1007&75W G B SIkHE
SRR CCEE L, 5 | WHITE 23 | EARTHWIRE | E_| LGHTGREEN [T | AWG24 ULiooy | P+ ADHS. V17— OB (= AR uL1oo °

A B | C | D F F G



B=EENR:C

avr-libc

Portions of avr-libc are Copyright (c) 1999-2008
‘Werner Boellmann,

Dean Camera,

Pieter Conradie,

Brian Dean,

Keith Gudger,

‘Wouter van Gulik,

Bjoern Haase,

Steinar Haugen,

Peter Jansen,

Reinhard Jessich,

Magnus Johansson,

Harald Kipp,

Carlos Lamas,

CIliff Lawson,

Artur Lipowski,

Marek Michalkiewicz,

Todd C. Miller,
Rich Neswold,
Colin O’Flynn,
Bob Paddock,
Andrey Pashchenko,
Reiner Patommel,
Florin-Viorel Petrov,
Alexander Popov,

Michael Rickman,

Theodore A. Roth,

Juergen Schilling,

Philip Soeberg,

Anatoly Sokolov,

Nils Kristian Strom,

Michael Stumpf,

Stefan Swanepoel,

Helmut Wallner,

Eric B. Weddington,

Joerg Wunsch,

Dmitry Xmelkov,

Atmel Corporation,

egnite Software GmbH,

The Regents of the University of California.
All rights reserved.

Redistribution and use in source and binary forms, with or without
modification, are permitted provided that the following conditions are met:

* Redistributions of source code must retain the above copyright
notice, this list of conditions and the following disclaimer.

* Redistributions in binary form must reproduce the above copyright
notice, this list of conditions and the following disclaimer in

the documentation and/or other materials provided with the
distribution.

* Neither the name of the copyright holders nor the names of
contributors may be used to endorse or promote products derived
from this software without specific prior written permission.

THIS SOFTWARE IS PROVIDED BY THE COPYRIGHT HOLDERS AND CONTRIBUTORS "AS IS"
AND ANY EXPRESS OR IMPLIED WARRANTIES, INCLUDING, BUT NOT LIMITED TO, THE
IMPLIED WARRANTIES OF MERCHANTABILITY AND FITNESS FOR A PARTICULAR PURPOSE
ARE DISCLAIMED. IN NO EVENT SHALL THE COPYRIGHT OWNER OR CONTRIBUTORS BE
LIABLE FOR ANY DIRECT, INDIRECT, INCIDENTAL, SPECIAL, EXEMPLARY, OR
CONSEQUENTIAL DAMAGES (INCLUDING, BUT NOT LIMITED TO, PROCUREMENT OF
SUBSTITUTE GOODS OR SERVICES; LOSS OF USE, DATA, OR PROFITS; OR BUSINESS
INTERRUPTION) HOWEVER CAUSED AND ON ANY THEORY OF LIABILITY, WHETHER IN
CONTRACT, STRICT LIABILITY, OR TORT (INCLUDING NEGLIGENCE OR OTHERWISE)
ARISING IN ANY WAY OUT OF THE USE OF THIS SOFTWARE, EVEN IF ADVISED OF THE
POSSIBILITY OF SUCH DAMAGE.

am.sega.jp

197



198

IW—2— BT B =FMEFFEREC

CSVJSON

Dynatree

Copyright (c) 2014 Aaron Snoswell

Permission is hereby granted, free of charge, to any person
obtaining a copy of this software and associated
documentation files (the "Software"), to deal in the Software
without restriction, including without limitation the

rights to use, copy, modify, merge, publish, distribute,
sublicense, and/or sell copies of the Software, and to

permit persons to whom the Software is furnished to do so,
subject to the following conditions:

The above copyright notice and this permission notice shall
be included in all copies or substantial portions of

the Software.

THE SOFTWARE IS PROVIDED "AS IS", WITHOUT
WARRANTY OF ANY KIND, EXPRESS OR IMPLIED,
INCLUDING BUT NOT LIMITED TO THE
WARRANTIES OF MERCHANTABILITY, FITNESS FOR
A PARTICULAR

PURPOSE AND NONINFRINGEMENT. IN NO EVENT
SHALL THE AUTHORS OR COPYRIGHT HOLDERS BE
LIABLE FOR ANY CLAIM, DAMAGES OR OTHER
LIABILITY, WHETHER IN AN ACTION OF CONTRACT,
TORT

OR OTHERWISE, ARISING FROM, OUT OF OR IN
CONNECTION WITH THE SOFTWARE OR THE USE
OR OTHER

DEALINGS IN THE SOFTWARE.

D3

Copyright 2010-2016 Mike Bostock

All rights reserved.

Redistribution and use in source and binary forms, with or
without modification,

are permitted provided that the following conditions are met:

* Redistributions of source code must retain the above
copyright notice, this

list of conditions and the following disclaimer.

* Redistributions in binary form must reproduce the above
copyright notice,

this list of conditions and the following disclaimer in the
documentation

and/or other materials provided with the distribution.

* Neither the name of the author nor the names of
contributors may be used to

endorse or promote products derived from this software
without specific prior

written permission.

THIS SOFTWARE IS PROVIDED BY THE COPYRIGHT
HOLDERS AND CONTRIBUTORS "AS IS" AND

ANY EXPRESS OR IMPLIED WARRANTIES,
INCLUDING, BUT NOT LIMITED TO, THE IMPLIED

WARRANTIES OF MERCHANTABILITY AND FITNESS
FOR A PARTICULAR PURPOSE ARE

DISCLAIMED. IN NO EVENT SHALL THE COPYRIGHT
OWNER OR CONTRIBUTORS BE LIABLE FOR

ANY DIRECT, INDIRECT, INCIDENTAL, SPECIAL,
EXEMPLARY, OR CONSEQUENTIAL DAMAGES

(INCLUDING, BUT NOT LIMITED TO, PROCUREMENT
OF SUBSTITUTE GOODS OR SERVICES;

LOSS OF USE, DATA, OR PROFITS; OR BUSINESS
INTERRUPTION) HOWEVER CAUSED AND ON

ANY THEORY OF LIABILITY, WHETHER IN
CONTRACT, STRICT LIABILITY, OR TORT

(INCLUDING NEGLIGENCE OR OTHERWISE) ARISING
IN ANY WAY OUT OF THE USE OF THIS

SOFTWARE, EVEN IF ADVISED OF THE POSSIBILITY
OF SUCH DAMAGE.

jquery.dynatree.js

Dynamic tree view control, with support for lazy loading of
branches.

Copyright (c) 2006-2013, Martin Wendt (http://wwWendt.de)
Dual licensed under the MIT or GPL Version 2 licenses.

http://code.google.com/p/dynatree/wiki/LicenseInfo

ExplorerCanvas

Copyright 2006 Google Inc.

Licensed under the Apache License, Version 2.0 (the
"License");

you may not use this file except in compliance with the
License.

You may obtain a copy of the License at
http://www.apache.org/licenses/LICENSE-2.0

Unless required by applicable law or agreed to in writing,
software

distributed under the License is distributed on an "AS IS"
BASIS,

WITHOUT WARRANTIES OR CONDITIONS OF ANY
KIND, either express or implied.

See the License for the specific language governing
permissions and

limitations under the License.

jqcanvas

Copyright (c) 2008 David Kwast <david _dot_kwast _at_
gmail>

Permission is hereby granted, free of charge, to any person
obtaining a copy

of this software and associated documentation files (the
"Software"), to deal

in the Software without restriction, including without
limitation the rights

to use, copy, modify, merge, publish, distribute, sublicense,
and/or sell

copies of the Software, and to permit persons to whom the
Software is

furnished to do so, subject to the following conditions:

The above copyright notice and this permission notice shall
be included in

all copies or substantial portions of the Software.

THE SOFTWARE IS PROVIDED "AS IS", WITHOUT
WARRANTY OF ANY KIND, EXPRESS OR

IMPLIED, INCLUDING BUT NOT LIMITED TO THE
WARRANTIES OF MERCHANTABILITY,

FITNESS FOR A PARTICULAR PURPOSE AND
NONINFRINGEMENT. IN NO EVENT SHALL THE

AUTHORS OR COPYRIGHT HOLDERS BE LIABLE FOR
ANY CLAIM, DAMAGES OR OTHER

LIABILITY, WHETHER IN AN ACTION OF CONTRACT,
TORT OR OTHERWISE, ARISING FROM,

OUT OF OR IN CONNECTION WITH THE SOFTWARE
OR THE USE OR OTHER DEALINGS IN

THE SOFTWARE.

jqPlot

jqPlot

am.sega.jp

Pure JavaScript plotting plugin using jQuery
Version: 1.0.4

Revision: 1121

Copyright (c) 2009-2012 Chris Leonello

jqPlot is currently available for use in all personal or
commercial projects

under both the MIT (http://www.opensource.org/licenses/mit-
license.php) and GPL

version 2.0 (http://www.gnu.org/licenses/gpl-2.0.html)
licenses. This means that you can

choose the license that best suits your project and use it
accordingly.

Although not required, the author would appreciate an email
letting him

know of any substantial use of jqPlot. You can reach the
author at:

chris at jgplot dot com or see http://www.jqplot.com/info.php

If you are feeling kind and generous, consider supporting the
project by

making a donation at: http://www.jqplot.com/donate.php .
sprintf functions contained in jgplot.sprintf.js by Ash Searle:
version 2007.04.27

author Ash Searle
http://hexmen.com/blog/2007/03/printf-sprintf/
http://hexmen.com/js/sprintf.js

The author (Ash Searle) has placed this code in the public
domain:

"This code is unrestricted: you are free to use it however you
like."

jQuery

jQuery JavaScript Library v1.9.1

http://jquery.com/
Includes Sizzle.js
http://sizzlejs.com/

Copyright 2005, 2012 jQuery Foundation, Inc. and other
contributors

Released under the MIT license
http://jquery.org/license

Date: 2013-2-4

jQuery blockUI plugin

Copyright (c) 2007-2013 M. Alsup.

The BlockUI plugin is dual licensed under the MIT and GPL
licenses.

You may use either license. The MIT license is recommended
for most projects because it is simple and easy to

understand and it places almost no restrictions on what you
can do with the plugin.

If the GPL suits your project better you are also free to use
the plugin under that license.

You do not have to do anything special to choose one license
or the other and you don't have to notify anyone

which license you are using. You are free to use the BlockUI
plugin in commercial projects as long as the

copyright header is left intact.



jQuery Cookie Plugin

Copyright 2014 Klaus Hartl

Permission is hereby granted, free of charge, to any person
obtaining

a copy of this software and associated documentation files (the

"Software"), to deal in the Software without restriction,
including

without limitation the rights to use, copy, modify, merge,
publish,

distribute, sublicense, and/or sell copies of the Software, and
to

permit persons to whom the Software is furnished to do so,
subject to

the following conditions:
The above copyright notice and this permission notice shall be
included in all copies or substantial portions of the Software.

THE SOFTWARE IS PROVIDED "AS IS", WITHOUT
WARRANTY OF ANY KIND,

EXPRESS OR IMPLIED, INCLUDING BUT NOT LIMITED
TO THE WARRANTIES OF

MERCHANTABILITY, FITNESS FOR A PARTICULAR
PURPOSE AND

NONINFRINGEMENT. IN NO EVENT SHALL THE
AUTHORS OR COPYRIGHT HOLDERS BE

LIABLE FOR ANY CLAIM, DAMAGES OR OTHER
LIABILITY, WHETHER IN AN ACTION

OF CONTRACT, TORT OR OTHERWISE, ARISING
FROM, OUT OF OR IN CONNECTION

‘WITH THE SOFTWARE OR THE USE OR OTHER
DEALINGS IN THE SOFTWARE.

jQuery DateTimePicker plugin

Copyright (¢) 2013 http://xdsoft.net

Permission is hereby granted, free of charge, to any person
obtaining a copy

of this software and associated documentation files (the
"Software"), to deal

in the Software without restriction, including without
limitation the rights

to use, copy, modify, merge, publish, distribute, sublicense,
and/or sell

copies of the Software, and to permit persons to whom the
Software is

furnished to do so, subject to the following conditions:

The above copyright notice and this permission notice shall be
included in

all copies or substantial portions of the Software.

THE SOFTWARE IS PROVIDED "AS IS", WITHOUT
WARRANTY OF ANY KIND, EXPRESS OR

IMPLIED, INCLUDING BUT NOT LIMITED TO THE
WARRANTIES OF MERCHANTABILITY,

FITNESS FOR A PARTICULAR PURPOSE AND
NONINFRINGEMENT. IN NO EVENT SHALL THE

AUTHORS OR COPYRIGHT HOLDERS BE LIABLE FOR
ANY CLAIM, DAMAGES OR OTHER

LIABILITY, WHETHER IN AN ACTION OF CONTRACT,
TORT OR OTHERWISE, ARISING FROM,

OUT OF OR IN CONNECTION WITH THE SOFTWARE
OR THE USE OR OTHER DEALINGS IN

THE SOFTWARE.

JQuery UI
Copyright jQuery Foundation and other contributors, https://
jquery.org/

This software consists of voluntary contributions made by

many

individuals. For exact contribution history, see the revision
history

available at https://github.com/jquery/jquery-ui

The following license applies to all parts of this software
except as

documented below:

Permission is hereby granted, free of charge, to any person
obtaining

a copy of this software and associated documentation files (the

"Software"), to deal in the Software without restriction,
including

without limitation the rights to use, copy, modify, merge,
publish,

distribute, sublicense, and/or sell copies of the Software, and
to

permit persons to whom the Software is furnished to do so,
subject to

the following conditions:
The above copyright notice and this permission notice shall be
included in all copies or substantial portions of the Software.

THE SOFTWARE IS PROVIDED "AS IS", WITHOUT
WARRANTY OF ANY KIND,

EXPRESS OR IMPLIED, INCLUDING BUT NOT LIMITED
TO THE WARRANTIES OF

MERCHANTABILITY, FITNESS FOR A PARTICULAR
PURPOSE AND

NONINFRINGEMENT. IN NO EVENT SHALL THE
AUTHORS OR COPYRIGHT HOLDERS BE

LIABLE FOR ANY CLAIM, DAMAGES OR OTHER
LIABILITY, WHETHER IN AN ACTION

OF CONTRACT, TORT OR OTHERWISE, ARISING
FROM, OUT OF OR IN CONNECTION

WITH THE SOFTWARE OR THE USE OR OTHER
DEALINGS IN THE SOFTWARE.

Copyright and related rights for sample code are waived via
CCO. Sample

code is defined as all source code contained within the demos
directory.

CCO: http://creativecommons.org/publicdomain/zero/1.0/

All files located in the node_modules and external directories
are

externally maintained libraries used by this software which
have their

own licenses; we recommend you read them, as their terms
may differ from

the terms above.

jQuery UI Touch Punch

jQuery UI Touch Punch 0.2.2

Copyright 2011, Dave Furfero

Dual licensed under the MIT or GPL Version 2 licenses.
Depends:

jquery.ui.widget.js

jquery.ui.mouse.js

JSON

Copyright (¢) 2005 JSON.org

Permission is hereby granted, free of charge, to any person
obtaining a copy

am.sega.jp

of this software and associated documentation files (the
"Software"), to deal

in the Software without restriction, including without
limitation the rights

to use, copy, modify, merge, publish, distribute, sublicense,
and/or sell

copies of the Software, and to permit persons to whom the
Software is

furnished to do so, subject to the following conditions:

The above copyright notice and this permission notice shall be
included in all

copies or substantial portions of the Software.
The Software shall be used for Good, not Evil.

THE SOFTWARE IS PROVIDED "AS IS", WITHOUT
WARRANTY OF ANY KIND, EXPRESS OR

IMPLIED, INCLUDING BUT NOT LIMITED TO THE
WARRANTIES OF MERCHANTABILITY,

FITNESS FOR A PARTICULAR PURPOSE AND
NONINFRINGEMENT. IN NO EVENT SHALL THE

AUTHORS OR COPYRIGHT HOLDERS BE LIABLE FOR
ANY CLAIM, DAMAGES OR OTHER

LIABILITY, WHETHER IN AN ACTION OF CONTRACT,
TORT OR OTHERWISE, ARISING FROM,

OUT OF OR IN CONNECTION WITH THE SOFTWARE
OR THE USE OR OTHER DEALINGS IN THE

SOFTWARE.

Kernel Clock MR&ZED—ER

Copyright (c) 1982, 1986, 1991, 1993

The Regents of the University of California. All rights
reserved.

(c) UNIX System Laboratories, Inc.

All or some portions of this file are derived from material
licensed

to the University of California by American Telephone and
Telegraph

Co. or Unix System Laboratories, Inc. and are reproduced
herein with

the permission of UNIX System Laboratories, Inc.

Redistribution and use in source and binary forms, with or
without

modification, are permitted provided that the following
conditions

are met:

1. Redistributions of source code must retain the above
copyright

notice, this list of conditions and the following disclaimer.

2. Redistributions in binary form must reproduce the above
copyright

notice, this list of conditions and the following disclaimer in
the

documentation and/or other materials provided with the
distribution.

3. All advertising materials mentioning features or use of this
software

must display the following acknowledgement:
This product includes software developed by the University of
California, Berkeley and its contributors.

4. Neither the name of the University nor the names of its
contributors

may be used to endorse or promote products derived from this
software

without specific prior written permission.

THIS SOFTWARE IS PROVIDED BY THE REGENTS
AND CONTRIBUTORS ""AS IS" AND

199



200

ANY EXPRESS OR IMPLIED WARRANTIES,
INCLUDING, BUT NOT LIMITED TO, THE

IMPLIED WARRANTIES OF MERCHANTABILITY AND
FITNESS FOR A PARTICULAR PURPOSE

ARE DISCLAIMED. IN NO EVENT SHALL THE
REGENTS OR CONTRIBUTORS BE LIABLE

FOR ANY DIRECT, INDIRECT, INCIDENTAL, SPECIAL,
EXEMPLARY, OR CONSEQUENTIAL

DAMAGES (INCLUDING, BUT NOT LIMITED TO,
PROCUREMENT OF SUBSTITUTE GOODS

OR SERVICES; LOSS OF USE, DATA, OR PROFITS; OR
BUSINESS INTERRUPTION)

HOWEVER CAUSED AND ON ANY THEORY OF
LIABILITY, WHETHER IN CONTRACT, STRICT

LIABILITY, OR TORT (INCLUDING NEGLIGENCE OR
OTHERWISE) ARISING IN ANY WAY

OUT OF THE USE OF THIS SOFTWARE, EVEN IF
ADVISED OF THE POSSIBILITY OF

SUCH DAMAGE.

libevent

Libevent is available for use under the following license,
commonly known

as the 3-clause (or "modified") BSD license:

Copyright (¢) 2000-2007 Niels Provos <provos@citi.umich.
edu>

Copyright (¢) 2007-2010 Niels Provos and Nick Mathewson

Redistribution and use in source and binary forms, with or
without

modification, are permitted provided that the following
conditions

are met:

1. Redistributions of source code must retain the above
copyright

notice, this list of conditions and the following disclaimer.

2. Redistributions in binary form must reproduce the above
copyright

notice, this list of conditions and the following disclaimer in
the

documentation and/or other materials provided with the
distribution.

3. The name of the author may not be used to endorse or
promote products

derived from this software without specific prior written
permission.

THIS SOFTWARE IS PROVIDED BY THE AUTHOR ""AS
IS" AND ANY EXPRESS OR

IMPLIED WARRANTIES, INCLUDING, BUT NOT
LIMITED TO, THE IMPLIED WARRANTIES

OF MERCHANTABILITY AND FITNESS FOR A
PARTICULAR PURPOSE ARE DISCLAIMED.

IN NO EVENT SHALL THE AUTHOR BE LIABLE FOR
ANY DIRECT, INDIRECT,

INCIDENTAL, SPECIAL, EXEMPLARY, OR
CONSEQUENTIAL DAMAGES (INCLUDING, BUT

NOT LIMITED TO, PROCUREMENT OF SUBSTITUTE
GOODS OR SERVICES; LOSS OF USE,

DATA, OR PROFITS; OR BUSINESS INTERRUPTION)
HOWEVER CAUSED AND ON ANY

THEORY OF LIABILITY, WHETHER IN CONTRACT,
STRICT LIABILITY, OR TORT

(INCLUDING NEGLIGENCE OR OTHERWISE) ARISING
IN ANY WAY OUT OF THE USE OF

THIS SOFTWARE, EVEN IF ADVISED OF THE
POSSIBILITY OF SUCH DAMAGE.

Portions of Libevent are based on works by others, also made
available by

them under the three-clause BSD license above. The copyright
notices are

available in the corresponding source files; the license is as
above. Here's

alist:
log.c:
Copyright (c) 2000 Dug Song <dugsong@monkey.org>

Copyright (c) 1993 The Regents of the University of
California.

strlepy.c:

Copyright (c) 1998 Todd C. Miller <Todd.Miller@courtesan.
com>

win32select.c:

Copyright (¢) 2003 Michael A. Davis <mike@datanerds.net>
evport.c:

Copyright (¢) 2007 Sun Microsystems

ht-internal.h:

Copyright (c) 2002 Christopher Clark

minheap-internal.h:

Copyright (c) 2006 Maxim Yegorushkin <maxim.
yegorushkin@gmail.com>

The arc4module is available under the following, sometimes
called the

"OpenBSD" license:
Copyright (c) 1996, David Mazieres <dm@uun.org>
Copyright (c) 2008, Damien Miller <djm@openbsd.org>

Permission to use, copy, modify, and distribute this software
for any

purpose with or without fee is hereby granted, provided that
the above

copyright notice and this permission notice appear in all
copies.

THE SOFTWARE IS PROVIDED "AS IS" AND THE
AUTHOR DISCLAIMS ALL WARRANTIES

WITH REGARD TO THIS SOFTWARE INCLUDING ALL
IMPLIED WARRANTIES OF

MERCHANTABILITY AND FITNESS. IN NO EVENT
SHALL THE AUTHOR BE LIABLE FOR

ANY SPECIAL, DIRECT, INDIRECT, OR
CONSEQUENTIAL DAMAGES OR ANY DAMAGES

WHATSOEVER RESULTING FROM LOSS OF USE,
DATA OR PROFITS, WHETHER IN AN

ACTION OF CONTRACT, NEGLIGENCE OR OTHER
TORTIOUS ACTION, ARISING OUT OF

OR IN CONNECTION WITH THE USE OR
PERFORMANCE OF THIS SOFTWARE.

Libxml2

Copyright (C) 1998 Bjorn Reese and Daniel Stenberg.

Copyright (C) 2000 Bjorn Reese and Daniel Stenberg.
Copyright (C) 2000 Gary Pennington and Daniel Veillard.
Copyright (C) 2001 Bjorn Reese and Daniel Stenberg.

Copyright (C) 2001 Bjorn Reese <breese@users.sourceforge.
net>

Copyright (C) 2003 Daniel Veillard.

Permission to use, copy, modify, and distribute this software
for any

purpose with or without fee is hereby granted, provided that
the above

copyright notice and this permission notice appear in all

am.sega.jp

copies.

THIS SOFTWARE IS PROVIDED "AS IS" AND WITHOUT
ANY EXPRESS OR IMPLIED

WARRANTIES, INCLUDING, WITHOUT LIMITATION,
THE IMPLIED WARRANTIES OF

MERCHANTIBILITY AND FITNESS FOR A
PARTICULAR PURPOSE. THE AUTHORS AND

CONTRIBUTORS ACCEPT NO RESPONSIBILITY IN
ANY CONCEIVABLE MANNER.

Lua

Copyright (C) 1994-2012 Lua.org, PUC-Rio.

Permission is hereby granted, free of charge, to any person
obtaining a copy of this software and associated

documentation files (the "Software"), to deal in the Software
without restriction, including without limitation the

rights to use, copy, modify, merge, publish, distribute,
sublicense, and/or sell copies of the Software, and to

permit persons to whom the Software is furnished to do so,
subject to the following conditions:

The above copyright notice and this permission notice shall be
included in all copies or substantial portions of

the Software.

THE SOFTWARE IS PROVIDED "AS IS", WITHOUT
WARRANTY OF ANY KIND, EXPRESS OR IMPLIED,
INCLUDING

BUT NOT LIMITED TO THE WARRANTIES OF
MERCHANTABILITY, FITNESS FOR A PARTICULAR
PURPOSE AND

NONINFRINGEMENT. IN NO EVENT SHALL THE
AUTHORS OR COPYRIGHT HOLDERS BE LIABLE FOR
ANY

CLAIM, DAMAGES OR OTHER LIABILITY, WHETHER
IN AN ACTION OF CONTRACT, TORT OR OTHERWISE,

ARISING FROM, OUT OF OR IN CONNECTION WITH
THE SOFTWARE OR THE USE OR OTHER DEALINGS
IN

THE SOFTWARE.

LuaSocket

Copyright (C) 2004-2007 Diego Nehab. All rights reserved.

Permission is hereby granted, free of charge, to any person
obtaining a copy of this software and associated

documentation files (the "Software"), to deal in the Software
without restriction, including without limitation the

rights to use, copy, modify, merge, publish, distribute,
sublicense, and/or sell copies of the Software, and to

permit persons to whom the Software is furnished to do so,
subject to the following conditions:

The above copyright notice and this permission notice shall be
included in all copies or substantial portions of

the Software.

THE SOFTWARE IS PROVIDED "AS IS", WITHOUT
WARRANTY OF ANY KIND, EXPRESS OR IMPLIED,
INCLUDING

BUT NOT LIMITED TO THE WARRANTIES OF
MERCHANTABILITY, FITNESS FOR A PARTICULAR
PURPOSE AND

NONINFRINGEMENT. IN NO EVENT SHALL THE
AUTHORS OR COPYRIGHT HOLDERS BE LIABLE FOR
ANY

CLAIM, DAMAGES OR OTHER LIABILITY, WHETHER
IN AN ACTION OF CONTRACT, TORT OR OTHERWISE,

ARISING FROM, OUT OF OR IN CONNECTION WITH
THE SOFTWARE OR THE USE OR OTHER DEALINGS
IN

THE SOFTWARE.



MT19937

A C-program for MT19937, with initialization improved
2002/2/10.

Coded by Takuji Nishimura and Makoto Matsumoto.

This is a faster version by taking Shawn Cokus's optimization,
Matthe Bellew's simplification, Isaku Wada's real version.
Before using, initialize the state by using init_genrand(seed)
or init_by_array(init_key, key_length).

Copyright (C) 1997 - 2002, Makoto Matsumoto and Takuji
Nishimura,

All rights reserved.

Redistribution and use in source and binary forms, with or
without

modification, are permitted provided that the following
conditions

are met:

1. Redistributions of source code must retain the above
copyright

notice, this list of conditions and the following disclaimer.

2. Redistributions in binary form must reproduce the above
copyright

notice, this list of conditions and the following disclaimer in
the

documentation and/or other materials provided with the
distribution.

3. The names of its contributors may not be used to endorse or
promote

products derived from this software without specific prior
written

permission.

THIS SOFTWARE IS PROVIDED BY THE COPYRIGHT
HOLDERS AND CONTRIBUTORS

"AS IS" AND ANY EXPRESS OR IMPLIED
WARRANTIES, INCLUDING, BUT NOT

LIMITED TO, THE IMPLIED WARRANTIES OF
MERCHANTABILITY AND FITNESS FOR

A PARTICULAR PURPOSE ARE DISCLAIMED. IN NO
EVENT SHALL THE COPYRIGHT OWNER OR

CONTRIBUTORS BE LIABLE FOR ANY DIRECT,
INDIRECT, INCIDENTAL, SPECIAL,

EXEMPLARY, OR CONSEQUENTIAL DAMAGES
(INCLUDING, BUT NOT LIMITED TO,

PROCUREMENT OF SUBSTITUTE GOODS OR
SERVICES; LOSS OF USE, DATA, OR

PROFITS; OR BUSINESS INTERRUPTION) HOWEVER
CAUSED AND ON ANY THEORY OF

LIABILITY, WHETHER IN CONTRACT, STRICT
LIABILITY, OR TORT (INCLUDING

NEGLIGENCE OR OTHERWISE) ARISING IN ANY WAY
OUT OF THE USE OF THIS

SOFTWARE, EVEN IF ADVISED OF THE POSSIBILITY
OF SUCH DAMAGE.

Any feedback is very welcome.
http://www.math.sci.hiroshima-u.ac.jp/~m-mat/MT/emt.html

email: m-mat @ math.sci.hiroshima-u.ac.jp (remove space)

MS-CHAP compatible
implementation

Copyright (¢) 1995 Eric Rosenquist, Strata Software Limited.
http://www.strataware.com/
All rights reserved.

Redistribution and use in source and binary forms are
permitted

provided that the above copyright notice and this paragraph

are
duplicated in all such forms and that any documentation,
advertising materials, and other materials related to such

distribution and use acknowledge that the software was
developed

by Eric Rosenquist. The name of the author may not be used
to

endorse or promote products derived from this software
without

specific prior written permission.

THIS SOFTWARE IS PROVIDED "AS IS" AND WITHOUT
ANY EXPRESS OR

IMPLIED WARRANTIES, INCLUDING, WITHOUT
LIMITATION, THE IMPLIED

WARRANTIES OF MERCHANTIBILITY AND FITNESS
FOR A PARTICULAR PURPOSE.

Net-SNMP

Copyright 1988, 1989, 1991, 1992 by Carnegie Mellon
University

All Rights Reserved

Permission to use, copy, modify, and distribute this software
and its

documentation for any purpose and without fee is hereby
granted,

provided that the above copyright notice appear in all copies
and that

both that copyright notice and this permission notice appear in
supporting documentation, and that the name of CMU not be

used in advertising or publicity pertaining to distribution of
the

software without specific, written prior permission.

CMU DISCLAIMS ALL WARRANTIES WITH REGARD
TO THIS SOFTWARE, INCLUDING

ALL IMPLIED WARRANTIES OF MERCHANTABILITY
AND FITNESS, IN NO EVENT SHALL

CMU BE LIABLE FOR ANY SPECIAL, INDIRECT OR
CONSEQUENTIAL DAMAGES OR

ANY DAMAGES WHATSOEVER RESULTING FROM
LOSS OF USE, DATA OR PROFITS,

WHETHER IN AN ACTION OF CONTRACT,
NEGLIGENCE OR OTHER TORTIOUS ACTION,

ARISING OUT OF OR IN CONNECTION WITH THE USE
OR PERFORMANCE OF THIS

SOFTWARE.

OpenSSH

The licences which components of this software fall under are

as
follows. First, we will summarize and say that all components
are under a BSD licence, or a licence more free than that.
OpenSSH contains no GPL code.

D)

* Copyright (c) 1995 Tatu Ylonen <ylo@cs.hut.fi>, Espoo,
Finland

* All rights reserved

s

* As far as I am concerned, the code I have written for this
software

* can be used freely for any purpose. Any derived versions of
this

* software must be clearly marked as such, and if the derived
work is

* incompatible with the protocol description in the RFC file, it

am.sega.jp

must be
* called by a name other than "ssh" or "Secure Shell".
[Tatu continues]

* However, I am not implying to give any licenses to any
patents or

* copyrights held by third parties, and the software includes
parts that

* are not under my direct control. As far as I know, all
included

* source code is used in accordance with the relevant license
agreements

* and can be used freely for any purpose (the GNU license
being the most

* restrictive); see below for details.

[However, none of that term is relevant at this point in time.
All of

these restrictively licenced software components which he
talks about

have been removed from OpenSSH, i.e.,

- RSA is no longer included, found in the OpenSSL library
- IDEA is no longer included, its use is deprecated

- DES is now external, in the OpenSSL library

- GMP is no longer used, and instead we call BN code from
OpenSSL

- Zlib is now external, in a library

- The make-ssh-known-hosts script is no longer included
- TSS has been removed

- MDS5 is now external, in the OpenSSL library

- RC4 support has been replaced with ARC4 support from
OpenSSL

- Blowfish is now external, in the OpenSSL library
[The licence continues]

Note that any information and cryptographic algorithms used
in this

software are publicly available on the Internet and at any
major

bookstore, scientific library, and patent office worldwide.
More

information can be found e.g. at "http://www.cs.hut.fi/crypto".

The legal status of this program is some combination of all
these

permissions and restrictions. Use only at your own
responsibility.

You will be responsible for any legal consequences yourself; [
am not

making any claims whether possessing or using this is legal or
not in

your country, and I am not taking any responsibility on your
behalf.

NO WARRANTY

BECAUSE THE PROGRAM IS LICENSED FREE OF
CHARGE, THERE IS NO WARRANTY

FOR THE PROGRAM, TO THE EXTENT PERMITTED BY
APPLICABLE LAW. EXCEPT WHEN

OTHERWISE STATED IN WRITING THE COPYRIGHT
HOLDERS AND/OR OTHER PARTIES

PROVIDE THE PROGRAM "AS IS" WITHOUT
WARRANTY OF ANY KIND, EITHER EXPRESSED

OR IMPLIED, INCLUDING, BUT NOT LIMITED TO, THE
IMPLIED WARRANTIES OF

MERCHANTABILITY AND FITNESS FOR A
PARTICULAR PURPOSE. THE ENTIRE RISK AS

TO THE QUALITY AND PERFORMANCE OF THE
PROGRAM IS WITH YOU. SHOULD THE

PROGRAM PROVE DEFECTIVE, YOU ASSUME THE

201



202

COST OF ALL NECESSARY SERVICING,
REPAIR OR CORRECTION.

IN NO EVENT UNLESS REQUIRED BY APPLICABLE
LAW OR AGREED TO IN WRITING

WILL ANY COPYRIGHT HOLDER, OR ANY OTHER
PARTY WHO MAY MODIFY AND/OR

REDISTRIBUTE THE PROGRAM AS PERMITTED
ABOVE, BE LIABLE TO YOU FOR DAMAGES,

INCLUDING ANY GENERAL, SPECIAL, INCIDENTAL
OR CONSEQUENTIAL DAMAGES ARISING

OUT OF THE USE OR INABILITY TO USE THE
PROGRAM (INCLUDING BUT NOT LIMITED

TO LOSS OF DATA OR DATA BEING RENDERED
INACCURATE OR LOSSES SUSTAINED BY

YOU OR THIRD PARTIES OR A FAILURE OF THE
PROGRAM TO OPERATE WITH ANY OTHER

PROGRAMS), EVEN IF SUCH HOLDER OR OTHER
PARTY HAS BEEN ADVISED OF THE

POSSIBILITY OF SUCH DAMAGES.
3)

ssh-keyscan was contributed by David Mazieres under a BSD-
style

license.

* Copyright 1995, 1996 by David Mazieres <dm@]cs.mit.
edu>.

*

* Modification and redistribution in source and binary forms
is

* permitted provided that due credit is given to the author and
the

* OpenBSD project by leaving this copyright notice intact.
4)

The Rijndael implementation by Vincent Rijmen, Antoon
Bosselaers

and Paulo Barreto is in the public domain and distributed
with the following license:
* @version 3.0 (December 2000)

*

* Optimised ANSI C code for the Rijndael cipher (now AES)

*

* @author Vincent Rijmen <vincent.rijmen@esat.kuleuven.
ac.be>

* @author Antoon Bosselaers <antoon.bosselaers@esat.
kuleuven.ac.be>

* @author Paulo Barreto <paulo.barreto@terra.com.br>

%

* This code is hereby placed in the public domain.

5

* THIS SOFTWARE IS PROVIDED BY THE AUTHORS
"AS IS" AND ANY EXPRESS

* OR IMPLIED WARRANTIES, INCLUDING, BUT NOT
LIMITED TO, THE IMPLIED

* WARRANTIES OF MERCHANTABILITY AND
FITNESS FOR A PARTICULAR PURPOSE

* ARE DISCLAIMED. IN NO EVENT SHALL THE
AUTHORS OR CONTRIBUTORS BE

* LIABLE FOR ANY DIRECT, INDIRECT, INCIDENTAL,
SPECIAL, EXEMPLARY, OR

* CONSEQUENTIAL DAMAGES (INCLUDING, BUT
NOT LIMITED TO, PROCUREMENT OF

* SUBSTITUTE GOODS OR SERVICES; LOSS OF USE,
DATA, OR PROFITS; OR

* BUSINESS INTERRUPTION) HOWEVER CAUSED
AND ON ANY THEORY OF LIABILITY,

* WHETHER IN CONTRACT, STRICT LIABILITY, OR
TORT (INCLUDING NEGLIGENCE

* OR OTHERWISE) ARISING IN ANY WAY OUT OF
THE USE OF THIS SOFTWARE,

* EVEN IF ADVISED OF THE POSSIBILITY OF SUCH
DAMAGE.

5)

One component of the ssh source code is under a 3-clause
BSD license,

held by the University of California, since we pulled these
parts from

original Berkeley code.
* Copyright (c) 1983, 1990, 1992, 1993, 1995

* The Regents of the University of California. All rights
reserved.

5

* Redistribution and use in source and binary forms, with or
without

* modification, are permitted provided that the following
conditions

* are met:

* 1. Redistributions of source code must retain the above
copyright

* notice, this list of conditions and the following disclaimer.

* 2. Redistributions in binary form must reproduce the above
copyright

* notice, this list of conditions and the following disclaimer in
the

* documentation and/or other materials provided with the
distribution.

* 3. Neither the name of the University nor the names of its
contributors

* may be used to endorse or promote products derived from
this software

* without specific prior written permission.

5

* THIS SOFTWARE IS PROVIDED BY THE REGENTS
AND CONTRIBUTORS ""AS IS" AND

* ANY EXPRESS OR IMPLIED WARRANTIES,
INCLUDING, BUT NOT LIMITED TO, THE

* IMPLIED WARRANTIES OF MERCHANTABILITY
AND FITNESS FOR A PARTICULAR PURPOSE

* ARE DISCLAIMED. IN NO EVENT SHALL THE
REGENTS OR CONTRIBUTORS BE LIABLE

* FOR ANY DIRECT, INDIRECT, INCIDENTAL,
SPECIAL, EXEMPLARY, OR CONSEQUENTIAL

* DAMAGES (INCLUDING, BUT NOT LIMITED TO,
PROCUREMENT OF SUBSTITUTE GOODS

* OR SERVICES; LOSS OF USE, DATA, OR PROFITS; OR
BUSINESS INTERRUPTION)

* HOWEVER CAUSED AND ON ANY THEORY OF
LIABILITY, WHETHER IN CONTRACT, STRICT

* LIABILITY, OR TORT (INCLUDING NEGLIGENCE OR
OTHERWISE) ARISING IN ANY WAY

* OUT OF THE USE OF THIS SOFTWARE, EVEN IF
ADVISED OF THE POSSIBILITY OF

* SUCH DAMAGE.
6)

Remaining components of the software are provided under a
standard

2-term BSD licence with the following names as copyright
holders:

Markus Fried!
Theo de Raadt
Niels Provos

Dug Song

am.sega.jp

Aaron Campbell
Damien Miller
Kevin Steves
Daniel Kouril
Wesley Griffin
Per Allansson
Nils Nordman
Simon Wilkinson

* Redistribution and use in source and binary forms, with or
without

* modification, are permitted provided that the following
conditions

* are met:

* 1. Redistributions of source code must retain the above
copyright

* notice, this list of conditions and the following disclaimer.

* 2. Redistributions in binary form must reproduce the above
copyright

* notice, this list of conditions and the following disclaimer in
the

* documentation and/or other materials provided with the
distribution.

5

* THIS SOFTWARE IS PROVIDED BY THE AUTHOR
AS IS" AND ANY EXPRESS OR

* IMPLIED WARRANTIES, INCLUDING, BUT NOT
LIMITED TO, THE IMPLIED WARRANTIES

* OF MERCHANTABILITY AND FITNESS FOR A
PARTICULAR PURPOSE ARE DISCLAIMED.

*IN NO EVENT SHALL THE AUTHOR BE LIABLE FOR
ANY DIRECT, INDIRECT,

* INCIDENTAL, SPECIAL, EXEMPLARY, OR
CONSEQUENTIAL DAMAGES (INCLUDING, BUT

*NOT LIMITED TO, PROCUREMENT OF SUBSTITUTE
GOODS OR SERVICES; LOSS OF USE,

* DATA, OR PROFITS; OR BUSINESS INTERRUPTION)
HOWEVER CAUSED AND ON ANY

* THEORY OF LIABILITY, WHETHER IN CONTRACT,
STRICT LIABILITY, OR TORT

* (INCLUDING NEGLIGENCE OR OTHERWISE)
ARISING IN ANY WAY OUT OF THE USE OF

* THIS SOFTWARE, EVEN IF ADVISED OF THE
POSSIBILITY OF SUCH DAMAGE.

OpenSSL

LICENSE ISSUES

The OpenSSL toolkit stays under a double license, i.e. both
the conditions of

the OpenSSL License and the original SSLeay license apply
to the toolkit.

See below for the actual license texts.

OpenSSL License

* Copyright (c) 1998-2002 The OpenSSL Project. All rights
reserved.

*

* Redistribution and use in source and binary forms, with or
without

* modification, are permitted provided that the following
conditions

* are met:



* 1. Redistributions of source code must retain the above
copyright

* notice, this list of conditions and the following disclaimer.

*

* 2. Redistributions in binary form must reproduce the above
copyright

* notice, this list of conditions and the following disclaimer in
* the documentation and/or other materials provided with the
* distribution.

%

* 3. All advertising materials mentioning features or use of
this

* software must display the following acknowledgment:

* "This product includes software developed by the OpenSSL
Project

* for use in the OpenSSL Toolkit. (http://www.openssl.org/)"

%

* 4. The names "OpenSSL Toolkit" and "OpenSSL Project”
must not be used to

* endorse or promote products derived from this software
without

* prior written permission. For written permission, please
contact

* openssl-core@openssl.org.

%

* 5. Products derived from this software may not be called
"OpenSSL"

* nor may "OpenSSL" appear in their names without prior
written

* permission of the OpenSSL Project.

%

* 6. Redistributions of any form whatsoever must retain the
following

* acknowledgment:

* "This product includes software developed by the OpenSSL
Project

* for use in the OpenSSL Toolkit (http://www.openssl.org/)"

%

* THIS SOFTWARE IS PROVIDED BY THE OpenSSL
PROJECT "AS IS" AND ANY

* EXPRESSED OR IMPLIED WARRANTIES,
INCLUDING, BUT NOT LIMITED TO, THE

* IMPLIED WARRANTIES OF MERCHANTABILITY
AND FITNESS FOR A PARTICULAR

* PURPOSE ARE DISCLAIMED. IN NO EVENT SHALL
THE OpenSSL PROJECT OR

* TS CONTRIBUTORS BE LIABLE FOR ANY DIRECT,
INDIRECT, INCIDENTAL,

* SPECIAL, EXEMPLARY, OR CONSEQUENTIAL
DAMAGES (INCLUDING, BUT

* NOT LIMITED TO, PROCUREMENT OF SUBSTITUTE
GOODS OR SERVICES;

* LOSS OF USE, DATA, OR PROFITS; OR BUSINESS
INTERRUPTION)

* HOWEVER CAUSED AND ON ANY THEORY OF
LIABILITY, WHETHER IN CONTRACT,

* STRICT LIABILITY, OR TORT (INCLUDING
NEGLIGENCE OR OTHERWISE)

* ARISING IN ANY WAY OUT OF THE USE OF THIS
SOFTWARE, EVEN IF ADVISED

* OF THE POSSIBILITY OF SUCH DAMAGE.

*

* This product includes cryptographic software written by
Eric Young

* (eay@cryptsoft.com). This product includes software
written by Tim

* Hudson (tjh@cryptsoft.com).

*

*/

Original SSLeay License

/* Copyright (C) 1995-1998 Eric Young (cay@cryptsoft.com)
* All rights reserved.

*

* This package is an SSL implementation written

* by Eric Young (eay@cryptsoft.com).

* The implementation was written so as to conform with
Netscapes SSL.

5

* This library is free for commercial and non-commercial use
as long as

* the following conditions are aheared to. The following
conditions

* apply to all code found in this distribution, be it the RC4,
RSA,

* lhash, DES, etc., code; not just the SSL code. The SSL
documentation

* included with this distribution is covered by the same
copyright terms

* except that the holder is Tim Hudson (tjh@cryptsoft.com).

s

* Copyright remains Eric Young's, and as such any Copyright
notices in

* the code are not to be removed.

* If this package is used in a product, Eric Young should be
given attribution

* as the author of the parts of the library used.

* This can be in the form of a textual message at program
startup or

* in documentation (online or textual) provided with the
package.

s

* Redistribution and use in source and binary forms, with or
without

* modification, are permitted provided that the following
conditions

* are met:
* 1. Redistributions of source code must retain the copyright
* notice, this list of conditions and the following disclaimer.

* 2. Redistributions in binary form must reproduce the above
copyright

* notice, this list of conditions and the following disclaimer in
the

* documentation and/or other materials provided with the
distribution.

* 3. All advertising materials mentioning features or use of
this software

* must display the following acknowledgement:
* "This product includes cryptographic software written by
* Eric Young (eay@cryptsoft.com)"

* The word 'cryptographic' can be left out if the rouines from
the library

* being used are not cryptographic related :-).

* 4. If you include any Windows specific code (or a derivative

am.sega.jp

203

thereof) from

* the apps directory (application code) you must include an
acknowledgement:

* "This product includes software written by Tim Hudson
(th@cryptsoft.com)"

5

* THIS SOFTWARE IS PROVIDED BY ERIC YOUNG "AS
IS" AND

* ANY EXPRESS OR IMPLIED WARRANTIES,
INCLUDING, BUT NOT LIMITED TO, THE

* IMPLIED WARRANTIES OF MERCHANTABILITY
AND FITNESS FOR A PARTICULAR PURPOSE

* ARE DISCLAIMED. IN NO EVENT SHALL THE
AUTHOR OR CONTRIBUTORS BE LIABLE

* FOR ANY DIRECT, INDIRECT, INCIDENTAL,
SPECIAL, EXEMPLARY, OR CONSEQUENTIAL

* DAMAGES (INCLUDING, BUT NOT LIMITED TO,
PROCUREMENT OF SUBSTITUTE GOODS

* OR SERVICES; LOSS OF USE, DATA, OR PROFITS; OR
BUSINESS INTERRUPTION)

* HOWEVER CAUSED AND ON ANY THEORY OF
LIABILITY, WHETHER IN CONTRACT, STRICT

* LIABILITY, OR TORT (INCLUDING NEGLIGENCE OR
OTHERWISE) ARISING IN ANY WAY

* OUT OF THE USE OF THIS SOFTWARE, EVEN IF
ADVISED OF THE POSSIBILITY OF

* SUCH DAMAGE.

*

* The licence and distribution terms for any publically
available version or

* derivative of this code cannot be changed. i.e. this code
cannot simply be

* copied and put under another distribution licence
* [including the GNU Public Licence.]

*/

PCRE

PCRE is a library of functions to support regular expressions
whose syntax

and semantics are as close as possible to those of the Perl 5
language.

‘Written by Philip Hazel

Copyright (¢) 1997-2010 University of Cambridge

Redistribution and use in source and binary forms, with or
without

modification, are permitted provided that the following
conditions are met:

* Redistributions of source code must retain the above
copyright notice,

this list of conditions and the following disclaimer.

* Redistributions in binary form must reproduce the above
copyright

notice, this list of conditions and the following disclaimer in
the

documentation and/or other materials provided with the
distribution.

* Neither the name of the University of Cambridge nor the
names of its

contributors may be used to endorse or promote products
derived from

this software without specific prior written permission.

THIS SOFTWARE IS PROVIDED BY THE COPYRIGHT
HOLDERS AND CONTRIBUTORS "AS IS"



204

AND ANY EXPRESS OR IMPLIED WARRANTIES,
INCLUDING, BUT NOT LIMITED TO, THE

IMPLIED WARRANTIES OF MERCHANTABILITY AND
FITNESS FOR A PARTICULAR PURPOSE

ARE DISCLAIMED. IN NO EVENT SHALL THE
COPYRIGHT OWNER OR CONTRIBUTORS BE

LIABLE FOR ANY DIRECT, INDIRECT, INCIDENTAL,
SPECIAL, EXEMPLARY, OR

CONSEQUENTIAL DAMAGES (INCLUDING, BUT NOT
LIMITED TO, PROCUREMENT OF

SUBSTITUTE GOODS OR SERVICES; LOSS OF USE,
DATA, OR PROFITS; OR BUSINESS

INTERRUPTION) HOWEVER CAUSED AND ON ANY
THEORY OF LIABILITY, WHETHER IN

CONTRACT, STRICT LIABILITY, OR TORT (INCLUDING
NEGLIGENCE OR OTHERWISE)

ARISING IN ANY WAY OUT OF THE USE OF THIS
SOFTWARE, EVEN IF ADVISED OF THE

POSSIBILITY OF SUCH DAMAGE.

PowerTip

Copyright (c) 2013 Steven Benner (http://stevenbenner.com/)

Permission is hereby granted, free of charge, to any person
obtaining

a copy of this software and associated documentation files (the

"Software"), to deal in the Software without restriction,
including

without limitation the rights to use, copy, modify, merge,
publish,

distribute, sublicense, and/or sell copies of the Software, and
to

permit persons to whom the Software is furnished to do so,
subject to

the following conditions:
The above copyright notice and this permission notice shall be
included in all copies or substantial portions of the Software.

THE SOFTWARE IS PROVIDED "AS IS", WITHOUT
WARRANTY OF ANY KIND,

EXPRESS OR IMPLIED, INCLUDING BUT NOT LIMITED
TO THE WARRANTIES OF

MERCHANTABILITY, FITNESS FOR A PARTICULAR
PURPOSE AND

NONINFRINGEMENT. IN NO EVENT SHALL THE
AUTHORS OR COPYRIGHT HOLDERS BE

LIABLE FOR ANY CLAIM, DAMAGES OR OTHER
LIABILITY, WHETHER IN AN ACTION

OF CONTRACT, TORT OR OTHERWISE, ARISING
FROM, OUT OF OR IN CONNECTION

WITH THE SOFTWARE OR THE USE OR OTHER
DEALINGS IN THE SOFTWARE.

PPP DRED—ER

Copyright (c) 1989 Carnegie Mellon University.

All rights reserved.

Redistribution and use in source and binary forms are
permitted

provided that the above copyright notice and this paragraph
are

duplicated in all such forms and that any documentation,
advertising materials, and other materials related to such

distribution and use acknowledge that the software was
developed

by Carnegie Mellon University. The name of the

University may not be used to endorse or promote products
derived

from this software without specific prior written permission.

THIS SOFTWARE IS PROVIDED "AS IS" AND WITHOUT
ANY EXPRESS OR

IMPLIED WARRANTIES, INCLUDING, WITHOUT
LIMITATION, THE IMPLIED

WARRANTIES OF MERCHANTIBILITY AND FITNESS
FOR A PARTICULAR PURPOSE.

Copyright (c) 1989 Regents of the University of California.
All rights reserved.

Redistribution and use in source and binary forms are
permitted

provided that the above copyright notice and this paragraph
are

duplicated in all such forms and that any documentation,
advertising materials, and other materials related to such

distribution and use acknowledge that the software was
developed

by the University of California, Berkeley. The name of the

University may not be used to endorse or promote products
derived

from this software without specific prior written permission.

THIS SOFTWARE IS PROVIDED "AS IS" AND WITHOUT
ANY EXPRESS OR

IMPLIED WARRANTIES, INCLUDING, WITHOUT
LIMITATION, THE IMPLIED

WARRANTIES OF MERCHANTIBILITY AND FITNESS
FOR A PARTICULAR PURPOSE.

Van Jacobson (van@helios.ee.Ibl.gov), Dec 31, 1989:
- Initial distribution.

Modified June 1993 by Paul Mackerras, paulus@cs.anu.edu.
au,

so that the entire packet being decompressed doesn't have

to be in contiguous memory (just the compressed header).

Copyright (c) 1991 Gregory M. Christy.
All rights reserved.

Redistribution and use in source and binary forms are
permitted

provided that the above copyright notice and this paragraph
are

duplicated in all such forms and that any documentation,
advertising materials, and other materials related to such

distribution and use acknowledge that the software was
developed

by Gregory M. Christy. The name of the author may not be
used to

endorse or promote products derived from this software
without

specific prior written permission.

THIS SOFTWARE IS PROVIDED "AS IS" AND WITHOUT
ANY EXPRESS OR

IMPLIED WARRANTIES, INCLUDING, WITHOUT
LIMITATION, THE IMPLIED

WARRANTIES OF MERCHANTIBILITY AND FITNESS
FOR A PARTICULAR PURPOSE.

Copyright (¢) 1993 The Australian National University.

All rights reserved.

am.sega.jp

Redistribution and use in source and binary forms are
permitted

provided that the above copyright notice and this paragraph
are

duplicated in all such forms and that any documentation,
advertising materials, and other materials related to such

distribution and use acknowledge that the software was
developed

by the Australian National University. The name of the
University

may not be used to endorse or promote products derived from
this

software without specific prior written permission.

THIS SOFTWARE IS PROVIDED "AS IS" AND WITHOUT
ANY EXPRESS OR

IMPLIED WARRANTIES, INCLUDING, WITHOUT
LIMITATION, THE IMPLIED

WARRANTIES OF MERCHANTIBILITY AND FITNESS
FOR A PARTICULAR PURPOSE.

Copyright (¢) 1995 ?rp?d Magoss?nyi
All rights reserved.
Copyright (c) 1999 Tim Hockin, Cobalt Networks Inc.

Redistribution and use in source and binary forms are
permitted

provided that the above copyright notice and this paragraph
are

duplicated in all such forms and that any documentation,
advertising materials, and other materials related to such

distribution and use acknowledge that the software was
developed

by Pedro Roque Marques. The name of the author may not be
used to

endorse or promote products derived from this software
without

specific prior written permission.

THIS SOFTWARE IS PROVIDED "AS IS" AND WITHOUT
ANY EXPRESS OR

IMPLIED WARRANTIES, INCLUDING, WITHOUT
LIMITATION, THE IMPLIED

WARRANTIES OF MERCHANTIBILITY AND FITNESS
FOR A PARTICULAR PURPOSE.

SHA2 7)Lb31) X LDRED—ER

FILE: sha2.c

AUTHOR: Aaron D. Gifford
http://www.aarongifford.com/computers/sha.html
Copyright (¢) 2000-2003, Aaron D. Gifford

All rights reserved.

Redistribution and use in source and binary forms, with or
without

modification, are permitted provided that the following
conditions

are met:

1. Redistributions of source code must retain the above
copyright

notice, this list of conditions and the following disclaimer.

2. Redistributions in binary form must reproduce the above
copyright

notice, this list of conditions and the following disclaimer in
the

documentation and/or other materials provided with the
distribution.



3. Neither the name of the copyright holder nor the names of
contributors

may be used to endorse or promote products derived from this
software

without specific prior written permission.

THIS SOFTWARE IS PROVIDED BY THE AUTHOR AND
CONTRIBUTOR(S) "AS IS" AND

ANY EXPRESS OR IMPLIED WARRANTIES,
INCLUDING, BUT NOT LIMITED TO, THE

IMPLIED WARRANTIES OF MERCHANTABILITY AND
FITNESS FOR A PARTICULAR PURPOSE

ARE DISCLAIMED. IN NO EVENT SHALL THE
AUTHOR OR CONTRIBUTOR(S) BE LIABLE

FOR ANY DIRECT, INDIRECT, INCIDENTAL, SPECIAL,
EXEMPLARY, OR CONSEQUENTIAL

DAMAGES (INCLUDING, BUT NOT LIMITED TO,
PROCUREMENT OF SUBSTITUTE GOODS

OR SERVICES; LOSS OF USE, DATA, OR PROFITS; OR
BUSINESS INTERRUPTION)

HOWEVER CAUSED AND ON ANY THEORY OF
LIABILITY, WHETHER IN CONTRACT, STRICT

LIABILITY, OR TORT (INCLUDING NEGLIGENCE OR
OTHERWISE) ARISING IN ANY WAY

OUT OF THE USE OF THIS SOFTWARE, EVEN IF
ADVISED OF THE POSSIBILITY OF

SUCH DAMAGE.

SNMP Development Kit

Written by James R. Davin

Advanced Network Architecture group

M.LT Laboratory for Computer Science

545 Technology Square

Cambridge, MA 02139

Copyright 1988, 1989 Massachusetts Institute of Technology

Permission to use, copy, modify, and distribute this software
for any

purpose and without fee is hereby granted, provided that this

copyright and permission notice appear on all copies and
supporting

documentation, the name of M.L.T. not be used in advertising
or

publicity pertaining to distribution of the program without
specific

prior permission, and notice be given in supporting
documentation that

copying and distribution is by permission of M.L.T. M.L.T.
makes no

representations about the suitability of this software for any
purpose. It is provided "as is" without express or implied

‘warranty.

TCP MRED—EB

Copyright 1979, 1980, 1983, 1986, 1988, 1989, 1991, 1992,
1993, 1994

The Regents of the University of California. All rights
reserved.

Redistribution and use in source and binary forms, with or
without modification, are permitted provided that the

following conditions are met:

1. Redistributions of source code must retain the above
copyright notice, this list of conditions and the

following disclaimer.

2. Redistributions in binary form must reproduce the above
copyright notice, this list of conditions and the

following disclaimer in the documentation and/or other
materials provided with the distribution.

3. All advertising materials mentioning features or use of this
software must display the following

acknowledgement:

This product includes software developed by the University of
California, Berkeley and its contributors.

4. Neither the name of the University nor the names of its
contributors may be used to endorse or promote

products derived from this software without specific prior
written permission.

THIS SOFTWARE IS PROVIDED BY THE REGENTS
AND CONTRIBUTORS "AS IS" AND ANY EXPRESS OR

IMPLIED WARRANTIES, INCLUDING, BUT NOT
LIMITED TO, THE IMPLIED WARRANTIES OF
MERCHANTABILITY

AND FITNESS FOR A PARTICULAR PURPOSE ARE
DISCLAIMED. IN NO EVENT SHALL THE REGENTS

OR CONTRIBUTORS BE LIABLE FOR ANY DIRECT,
INDIRECT, INCIDENTAL, SPECIAL, EXEMPLARY, OR

CONSEQUENTIAL DAMAGES (INCLUDING, BUT NOT
LIMITED TO, PROCUREMENT OF SUBSTITUTE GOODS

OR SERVICES; LOSS OF USE, DATA, OR PROFITS; OR
BUSINESS INTERRUPTION) HOWEVER CAUSED AND
ON

ANY THEORY OF LIABILITY, WHETHER IN
CONTRACT, STRICT LIABILITY, OR TORT (INCLUDING
NEGLIGENCE

OR OTHERWISE) ARISING IN ANY WAY OUT OF THE
USE OF THIS SOFTWARE, EVEN IF ADVISED OF THE

POSSIBILITY OF SUCH DAMAGE.

The Institute of Electrical and Electronics Engineers and the
American National Standards Committee X3, on

Information Processing Systems have given us permission to
reprint portions of their documentation.

In the following statement, the phrase "this text" refers to
portions of the system documentation.

Portions of this text are reprinted and reproduced in electronic
form in the second BSD Networking Software

Release, from IEEE Std 1003.1-1988, IEEE Standard Portable
Operating System Interface for Computer

Environments (POSIX), copyright C 1988 by the Institute of
Electrical and Electronics Engineers, Inc. In the

event of any discrepancy between these versions and the
original IEEE Standard, the original IEEE Standard is

the referee document.

In the following statement, the phrase "This material" refers to
portions of the system documentation.

This material is reproduced with permission from American
National Standards Committee X3, on Information

Processing Systems. Computer and Business Equipment
Manufacturers Association (CBEMA), 311 First St.,

NW, Suite 500, Washington, DC 20001-2178. The
developmental work of Programming Language C was

completed by the X3J11 Technical Committee.

The views and conclusions contained in the software and
documentation are those of the authors and should

not be interpreted as representing official policies, either
expressed or implied, of the Regents of the University

of California.

NOTE: The copyright of UC Berkeley's Berkeley Software
Distribution "BSD") source has been updated. The

copyright addendum may be found at ftp://ftp.cs.berkeley.edu/
pub/4bsd/README.Impt.License.Change and is

included below.
July 22, 1999
To All Licensees, Distributors of Any Version of BSD:

As you know, certain of the Berkeley Software Distribution

am.sega.jp

205

("BSD") source code files require that further

distributions of products containing all or portions of the
software, acknowledge within their advertising

materials that such products contain software developed by
UC Berkeley and its contributors.

Specifically, the provision reads:

" * 3. All advertising materials mentioning features or use of
this software

* must display the following acknowledgement:

* This product includes software developed by the University
of

* California, Berkeley and its contributors."

Effective immediately, licensees and distributors are no longer
required to include the acknowledgement within

advertising materials. Accordingly, the foregoing paragraph of
those BSD Unix files containing it is hereby

deleted in its entirety.
William Hoskins
Director, Office of Technology Licensing

University of California, Berkeley

Copyright (c) 1982, 1986, 1989, 1990, 1991, 1993

The Regents of the University of California. All rights
reserved.

Copyright (¢) 2000
Poul-Henning Kamp. All rights reserved.
(c) UNIX System Laboratories, Inc.

All or some portions of this file are derived from material
licensed

to the University of California by American Telephone and
Telegraph

Co. or Unix System Laboratories, Inc. and are reproduced
herein with

the permission of UNIX System Laboratories, Inc.

Redistribution and use in source and binary forms, with or
without

modification, are permitted provided that the following
conditions

are met:

1. Redistributions of source code must retain the above
copyright

notice, this list of conditions and the following disclaimer.

2. Redistributions in binary form must reproduce the above
copyright

notice, this list of conditions and the following disclaimer in
the

documentation and/or other materials provided with the
distribution.

3. All advertising materials mentioning features or use of this
software

must display the following acknowledgement:
This product includes software developed by the University of
California, Berkeley and its contributors.

4. Neither the name of the University nor the names of its
contributors

may be used to endorse or promote products derived from this
software

without specific prior written permission.

THIS SOFTWARE IS PROVIDED BY THE REGENTS
AND CONTRIBUTORS "AS IS" AND

ANY EXPRESS OR IMPLIED WARRANTIES,
INCLUDING, BUT NOT LIMITED TO, THE

IMPLIED WARRANTIES OF MERCHANTABILITY AND



206

FITNESS FOR A PARTICULAR PURPOSE

ARE DISCLAIMED. IN NO EVENT SHALL THE
REGENTS OR CONTRIBUTORS BE LIABLE

FOR ANY DIRECT, INDIRECT, INCIDENTAL, SPECIAL,
EXEMPLARY, OR CONSEQUENTIAL

DAMAGES (INCLUDING, BUT NOT LIMITED TO,
PROCUREMENT OF SUBSTITUTE GOODS

OR SERVICES; LOSS OF USE, DATA, OR PROFITS; OR
BUSINESS INTERRUPTION)

HOWEVER CAUSED AND ON ANY THEORY OF
LIABILITY, WHETHER IN CONTRACT, STRICT

LIABILITY, OR TORT (INCLUDING NEGLIGENCE OR
OTHERWISE) ARISING IN ANY WAY

OUT OF THE USE OF THIS SOFTWARE, EVEN IF
ADVISED OF THE POSSIBILITY OF

SUCH DAMAGE.

Copyright (c) 1982, 1986, 1989, 1990, 1993

The Regents of the University of California. All rights
reserved.

sendfile(2) and related extensions:
Copyright (c) 1998, David Greenman. All rights reserved.

Redistribution and use in source and binary forms, with or
without

modification, are permitted provided that the following
conditions

are met:

1. Redistributions of source code must retain the above
copyright

notice, this list of conditions and the following disclaimer.

2. Redistributions in binary form must reproduce the above
copyright

notice, this list of conditions and the following disclaimer in
the

documentation and/or other materials provided with the
distribution.

3. All advertising materials mentioning features or use of this
software

must display the following acknowledgement:
This product includes software developed by the University of
California, Berkeley and its contributors.

4. Neither the name of the University nor the names of its
contributors

may be used to endorse or promote products derived from this
software

without specific prior written permission.

THIS SOFTWARE IS PROVIDED BY THE REGENTS
AND CONTRIBUTORS "AS IS" AND

ANY EXPRESS OR IMPLIED WARRANTIES,
INCLUDING, BUT NOT LIMITED TO, THE

IMPLIED WARRANTIES OF MERCHANTABILITY AND
FITNESS FOR A PARTICULAR PURPOSE

ARE DISCLAIMED. IN NO EVENT SHALL THE
REGENTS OR CONTRIBUTORS BE LIABLE

FOR ANY DIRECT, INDIRECT, INCIDENTAL, SPECIAL,
EXEMPLARY, OR CONSEQUENTIAL

DAMAGES (INCLUDING, BUT NOT LIMITED TO,
PROCUREMENT OF SUBSTITUTE GOODS

OR SERVICES; LOSS OF USE, DATA, OR PROFITS; OR
BUSINESS INTERRUPTION)

HOWEVER CAUSED AND ON ANY THEORY OF
LIABILITY, WHETHER IN CONTRACT, STRICT

LIABILITY, OR TORT (INCLUDING NEGLIGENCE OR
OTHERWISE) ARISING IN ANY WAY

OUT OF THE USE OF THIS SOFTWARE, EVEN IF

ADVISED OF THE POSSIBILITY OF

SUCH DAMAGE.

Copyright (c) 1988, 1992, 1993

The Regents of the University of California. All rights
reserved.

Copyright (c) 1996
Matt Thomas <matt@3am-software.com>

Redistribution and use in source and binary forms, with or
without

modification, are permitted provided that the following
conditions

are met:

1. Redistributions of source code must retain the above
copyright

notice, this list of conditions and the following disclaimer.

2. Redistributions in binary form must reproduce the above
copyright

notice, this list of conditions and the following disclaimer in
the

documentation and/or other materials provided with the
distribution.

3. All advertising materials mentioning features or use of this
software

must display the following acknowledgement:
This product includes software developed by the University of
California, Berkeley and its contributors.

4. Neither the name of the University nor the names of its
contributors

may be used to endorse or promote products derived from this
software

without specific prior written permission.

THIS SOFTWARE IS PROVIDED BY THE REGENTS
AND CONTRIBUTORS "AS IS" AND

ANY EXPRESS OR IMPLIED WARRANTIES,
INCLUDING, BUT NOT LIMITED TO, THE

IMPLIED WARRANTIES OF MERCHANTABILITY AND
FITNESS FOR A PARTICULAR PURPOSE

ARE DISCLAIMED. IN NO EVENT SHALL THE
REGENTS OR CONTRIBUTORS BE LIABLE

FOR ANY DIRECT, INDIRECT, INCIDENTAL, SPECIAL,
EXEMPLARY, OR CONSEQUENTIAL

DAMAGES (INCLUDING, BUT NOT LIMITED TO,
PROCUREMENT OF SUBSTITUTE GOODS

OR SERVICES; LOSS OF USE, DATA, OR PROFITS; OR
BUSINESS INTERRUPTION)

HOWEVER CAUSED AND ON ANY THEORY OF
LIABILITY, WHETHER IN CONTRACT, STRICT

LIABILITY, OR TORT (INCLUDING NEGLIGENCE OR
OTHERWISE) ARISING IN ANY WAY

OUT OF THE USE OF THIS SOFTWARE, EVEN IF
ADVISED OF THE POSSIBILITY OF

SUCH DAMAGE.

Copyright (c) 1988 University of Utah.
Copyright (c) 1982, 1990, 1992, 1993

The Regents of the University of California. All rights
reserved.

This code is derived from software contributed to Berkeley by

the Systems Programming Group of the University of Utah
Computer

Science Department and Ralph Campbell.

Redistribution and use in source and binary forms, with or

am.sega.jp

without

modification, are permitted provided that the following
conditions

are met:

1. Redistributions of source code must retain the above
copyright

notice, this list of conditions and the following disclaimer.

2. Redistributions in binary form must reproduce the above
copyright

notice, this list of conditions and the following disclaimer in
the

documentation and/or other materials provided with the
distribution.

3. All advertising materials mentioning features or use of this
software

must display the following acknowledgement:
This product includes software developed by the University of
California, Berkeley and its contributors.

4. Neither the name of the University nor the names of its
contributors

may be used to endorse or promote products derived from this
software

without specific prior written permission.

THIS SOFTWARE IS PROVIDED BY THE REGENTS
AND CONTRIBUTORS "AS IS" AND

ANY EXPRESS OR IMPLIED WARRANTIES,
INCLUDING, BUT NOT LIMITED TO, THE

IMPLIED WARRANTIES OF MERCHANTABILITY AND
FITNESS FOR A PARTICULAR PURPOSE

ARE DISCLAIMED. IN NO EVENT SHALL THE
REGENTS OR CONTRIBUTORS BE LIABLE

FOR ANY DIRECT, INDIRECT, INCIDENTAL, SPECIAL,
EXEMPLARY, OR CONSEQUENTIAL

DAMAGES (INCLUDING, BUT NOT LIMITED TO,
PROCUREMENT OF SUBSTITUTE GOODS

OR SERVICES; LOSS OF USE, DATA, OR PROFITS; OR
BUSINESS INTERRUPTION)

HOWEVER CAUSED AND ON ANY THEORY OF
LIABILITY, WHETHER IN CONTRACT, STRICT

LIABILITY, OR TORT (INCLUDING NEGLIGENCE OR
OTHERWISE) ARISING IN ANY WAY

OUT OF THE USE OF THIS SOFTWARE, EVEN IF
ADVISED OF THE POSSIBILITY OF

SUCH DAMAGE.

Copyright (c) 1988 Stephen Deering.
Copyright (¢) 1992, 1993

The Regents of the University of California. All rights
reserved.

This code is derived from software contributed to Berkeley by
Stephen Deering of Stanford University.

Redistribution and use in source and binary forms, with or
without

modification, are permitted provided that the following
conditions

are met:

1. Redistributions of source code must retain the above
copyright

notice, this list of conditions and the following disclaimer.

2. Redistributions in binary form must reproduce the above
copyright

notice, this list of conditions and the following disclaimer in
the

documentation and/or other materials provided with the
distribution.



3. All advertising materials mentioning features or use of this
software

must display the following acknowledgement:
This product includes software developed by the University of
California, Berkeley and its contributors.

4. Neither the name of the University nor the names of its
contributors

may be used to endorse or promote products derived from this
software

without specific prior written permission.

THIS SOFTWARE IS PROVIDED BY THE REGENTS
AND CONTRIBUTORS "AS IS" AND

ANY EXPRESS OR IMPLIED WARRANTIES,
INCLUDING, BUT NOT LIMITED TO, THE

IMPLIED WARRANTIES OF MERCHANTABILITY AND
FITNESS FOR A PARTICULAR PURPOSE

ARE DISCLAIMED. IN NO EVENT SHALL THE
REGENTS OR CONTRIBUTORS BE LIABLE

FOR ANY DIRECT, INDIRECT, INCIDENTAL, SPECIAL,
EXEMPLARY, OR CONSEQUENTIAL

DAMAGES (INCLUDING, BUT NOT LIMITED TO,
PROCUREMENT OF SUBSTITUTE GOODS

OR SERVICES; LOSS OF USE, DATA, OR PROFITS; OR
BUSINESS INTERRUPTION)

HOWEVER CAUSED AND ON ANY THEORY OF
LIABILITY, WHETHER IN CONTRACT, STRICT

LIABILITY, OR TORT (INCLUDING NEGLIGENCE OR
OTHERWISE) ARISING IN ANY WAY

OUT OF THE USE OF THIS SOFTWARE, EVEN IF
ADVISED OF THE POSSIBILITY OF

SUCH DAMAGE.

Copyright 1994, 1995 Massachusetts Institute of Technology

Permission to use, copy, modify, and distribute this software
and

its documentation for any purpose and without fee is hereby
granted, provided that both the above copyright notice and this
permission notice appear in all copies, that both the above
copyright notice and this permission notice appear in all

supporting documentation, and that the name of M.L.T. not be
used

in advertising or publicity pertaining to distribution of the

software without specific, written prior permission. M.L.T.
makes

no representations about the suitability of this software for any
purpose. It is provided "as is" without express or implied
warranty.

THIS SOFTWARE IS PROVIDED BY M.LT. "ASIS". M.L.T.
DISCLAIMS

ALL EXPRESS OR IMPLIED WARRANTIES WITH
REGARD TO THIS SOFTWARE,

INCLUDING, BUT NOT LIMITED TO, THE IMPLIED
WARRANTIES OF

MERCHANTABILITY AND FITNESS FOR A
PARTICULAR PURPOSE. INNO EVENT

SHALL M.LT. BE LIABLE FOR ANY DIRECT,
INDIRECT, INCIDENTAL,

SPECIAL, EXEMPLARY, OR CONSEQUENTIAL
DAMAGES (INCLUDING, BUT NOT

LIMITED TO, PROCUREMENT OF SUBSTITUTE GOODS
OR SERVICES; LOSS OF

USE, DATA, OR PROFITS; OR BUSINESS
INTERRUPTION) HOWEVER CAUSED AND

ON ANY THEORY OF LIABILITY, WHETHER IN
CONTRACT, STRICT LIABILITY,

OR TORT (INCLUDING NEGLIGENCE OR OTHERWISE)
ARISING IN ANY WAY OUT

OF THE USE OF THIS SOFTWARE, EVEN IF ADVISED
OF THE POSSIBILITY OF

SUCH DAMAGE.

Copyright (C) 1995, 1996, 1997, 1998 and 1999 WIDE
Project.

All rights reserved.

Redistribution and use in source and binary forms, with or
without

modification, are permitted provided that the following
conditions

are met:

1. Redistributions of source code must retain the above
copyright

notice, this list of conditions and the following disclaimer.

2. Redistributions in binary form must reproduce the above
copyright

notice, this list of conditions and the following disclaimer in
the

documentation and/or other materials provided with the
distribution.

3. Neither the name of the project nor the names of its
contributors

may be used to endorse or promote products derived from this
software

without specific prior written permission.

THIS SOFTWARE IS PROVIDED BY THE PROJECT AND
CONTRIBUTORS "AS IS" AND

ANY EXPRESS OR IMPLIED WARRANTIES,
INCLUDING, BUT NOT LIMITED TO, THE

IMPLIED WARRANTIES OF MERCHANTABILITY AND
FITNESS FOR A PARTICULAR PURPOSE

ARE DISCLAIMED. IN NO EVENT SHALL THE
PROJECT OR CONTRIBUTORS BE LIABLE

FOR ANY DIRECT, INDIRECT, INCIDENTAL, SPECIAL,
EXEMPLARY, OR CONSEQUENTIAL

DAMAGES (INCLUDING, BUT NOT LIMITED TO,
PROCUREMENT OF SUBSTITUTE GOODS

OR SERVICES; LOSS OF USE, DATA, OR PROFITS; OR
BUSINESS INTERRUPTION)

HOWEVER CAUSED AND ON ANY THEORY OF
LIABILITY, WHETHER IN CONTRACT, STRICT

LIABILITY, OR TORT (INCLUDING NEGLIGENCE OR
OTHERWISE) ARISING IN ANY WAY

OUT OF THE USE OF THIS SOFTWARE, EVEN IF
ADVISED OF THE POSSIBILITY OF

SUCH DAMAGE.

Copyright (c) 1996, 1997 Berkeley Software Design, Inc. All
rights reserved.

Redistribution and use in source and binary forms, with or
without

modification, are permitted provided that the following
conditions

are met:

1. Redistributions of source code must retain the above
copyright

notice, this list of conditions and the following disclaimer.

2. Redistributions in binary form must reproduce the above
copyright

notice, this list of conditions and the following disclaimer in
the

documentation and/or other materials provided with the

am.sega.jp

207

distribution.

3. Berkeley Software Design Inc's name may not be used to
endorse or

promote products derived from this software without specific
prior

written permission.

THIS SOFTWARE IS PROVIDED BY BERKELEY
SOFTWARE DESIGN INC "AS IS" AND

ANY EXPRESS OR IMPLIED WARRANTIES,
INCLUDING, BUT NOT LIMITED TO, THE

IMPLIED WARRANTIES OF MERCHANTABILITY AND
FITNESS FOR A PARTICULAR PURPOSE

ARE DISCLAIMED. IN NO EVENT SHALL BERKELEY
SOFTWARE DESIGN INC BE LIABLE

FOR ANY DIRECT, INDIRECT, INCIDENTAL, SPECIAL,
EXEMPLARY, OR CONSEQUENTIAL

DAMAGES (INCLUDING, BUT NOT LIMITED TO,
PROCUREMENT OF SUBSTITUTE GOODS

OR SERVICES; LOSS OF USE, DATA, OR PROFITS; OR
BUSINESS INTERRUPTION)

HOWEVER CAUSED AND ON ANY THEORY OF
LIABILITY, WHETHER IN CONTRACT, STRICT

LIABILITY, OR TORT (INCLUDING NEGLIGENCE OR
OTHERWISE) ARISING IN ANY WAY

OUT OF THE USE OF THIS SOFTWARE, EVEN IF
ADVISED OF THE POSSIBILITY OF

SUCH DAMAGE.

Copyright (C) 1992-1994,2001 by Joerg Wunsch, Dresden
All rights reserved.

Redistribution and use in source and binary forms, with or
without

modification, are permitted provided that the following
conditions

are met:

1. Redistributions of source code must retain the above
copyright

notice, this list of conditions and the following disclaimer.

2. Redistributions in binary form must reproduce the above
copyright

notice, this list of conditions and the following disclaimer in
the

documentation and/or other materials provided with the
distribution.

THIS SOFTWARE IS PROVIDED BY THE AUTHOR(S)
"AS IS" AND ANY

EXPRESS OR IMPLIED WARRANTIES, INCLUDING,
BUT NOT LIMITED TO, THE

IMPLIED WARRANTIES OF MERCHANTABILITY AND
FITNESS FOR A PARTICULAR

PURPOSE ARE DISCLAIMED. IN NO EVENT SHALL
THE AUTHOR(S) BE LIABLE

FOR ANY DIRECT, INDIRECT, INCIDENTAL, SPECIAL,
EXEMPLARY, OR

CONSEQUENTIAL DAMAGES (INCLUDING, BUT NOT
LIMITED TO, PROCUREMENT

OF SUBSTITUTE GOODS OR SERVICES; LOSS OF USE,
DATA, OR PROFITS; OR

BUSINESS INTERRUPTION) HOWEVER CAUSED AND
ON ANY THEORY OF

LIABILITY, WHETHER IN CONTRACT, STRICT
LIABILITY, OR TORT

(INCLUDING NEGLIGENCE OR OTHERWISE) ARISING
IN ANY WAY OUT OF THE

USE OF THIS SOFTWARE, EVEN IF ADVISED OF THE
POSSIBILITY OF SUCH



208

DAMAGE.

Copyright (c) 1994, Henrik Vestergaard Draboel
All rights reserved.

Redistribution and use in source and binary forms, with or
without

modification, are permitted provided that the following
conditions

are met:

1. Redistributions of source code must retain the above
copyright

notice, this list of conditions and the following disclaimer.

2. Redistributions in binary form must reproduce the above
copyright

notice, this list of conditions and the following disclaimer in
the

documentation and/or other materials provided with the
distribution.

3. All advertising materials mentioning features or use of this
software

must display the following acknowledgement:
This product includes software developed by (name).

4. The name of the author may not be used to endorse or
promote products

derived from this software without specific prior written
permission.

THIS SOFTWARE IS PROVIDED BY THE AUTHOR AND
CONTRIBUTORS "AS IS" AND

ANY EXPRESS OR IMPLIED WARRANTIES,
INCLUDING, BUT NOT LIMITED TO, THE

IMPLIED WARRANTIES OF MERCHANTABILITY AND
FITNESS FOR A PARTICULAR PURPOSE

ARE DISCLAIMED. IN NO EVENT SHALL THE
AUTHOR OR CONTRIBUTORS BE LIABLE

FOR ANY DIRECT, INDIRECT, INCIDENTAL, SPECIAL,
EXEMPLARY, OR CONSEQUENTIAL

DAMAGES (INCLUDING, BUT NOT LIMITED TO,
PROCUREMENT OF SUBSTITUTE GOODS

OR SERVICES; LOSS OF USE, DATA, OR PROFITS; OR
BUSINESS INTERRUPTION)

HOWEVER CAUSED AND ON ANY THEORY OF
LIABILITY, WHETHER IN CONTRACT, STRICT

LIABILITY, OR TORT (INCLUDING NEGLIGENCE OR
OTHERWISE) ARISING IN ANY WAY

OUT OF THE USE OF THIS SOFTWARE, EVEN IF
ADVISED OF THE POSSIBILITY OF

SUCH DAMAGE.

Copyright (¢) 1996 Matthew R. Green
All rights reserved.

Redistribution and use in source and binary forms, with or
without

modification, are permitted provided that the following
conditions

are met:

1. Redistributions of source code must retain the above
copyright

notice, this list of conditions and the following disclaimer.

2. Redistributions in binary form must reproduce the above
copyright

notice, this list of conditions and the following disclaimer in
the

documentation and/or other materials provided with the
distribution.

3. The name of the author may not be used to endorse or
promote products

derived from this software without specific prior written
permission.

THIS SOFTWARE IS PROVIDED BY THE AUTHOR ""AS
IS" AND ANY EXPRESS OR

IMPLIED WARRANTIES, INCLUDING, BUT NOT
LIMITED TO, THE IMPLIED WARRANTIES

OF MERCHANTABILITY AND FITNESS FOR A
PARTICULAR PURPOSE ARE DISCLAIMED.

IN NO EVENT SHALL THE AUTHOR BE LIABLE FOR
ANY DIRECT, INDIRECT,

INCIDENTAL, SPECIAL, EXEMPLARY, OR
CONSEQUENTIAL DAMAGES (INCLUDING,

BUT NOT LIMITED TO, PROCUREMENT OF
SUBSTITUTE GOODS OR SERVICES;

LOSS OF USE, DATA, OR PROFITS; OR BUSINESS
INTERRUPTION) HOWEVER CAUSED

AND ON ANY THEORY OF LIABILITY, WHETHER IN
CONTRACT, STRICT LIABILITY,

OR TORT (INCLUDING NEGLIGENCE OR OTHERWISE)
ARISING IN ANY WAY

OUT OF THE USE OF THIS SOFTWARE, EVEN IF
ADVISED OF THE POSSIBILITY OF

SUCH DAMAGE.

Copyright (c) 1997 Peter Wemm <peter@freebsd.org>
All rights reserved.

Redistribution and use in source and binary forms, with or
without

modification, are permitted provided that the following
conditions

are met:

1. Redistributions of source code must retain the above
copyright

notice, this list of conditions and the following disclaimer.

2. Redistributions in binary form must reproduce the above
copyright

notice, this list of conditions and the following disclaimer in
the

documentation and/or other materials provided with the
distribution.

3. The name of the author may not be used to endorse or
promote products

derived from this software without specific prior written
permission.

THIS SOFTWARE IS PROVIDED BY THE AUTHOR AND
CONTRIBUTORS "AS IS" AND

ANY EXPRESS OR IMPLIED WARRANTIES,
INCLUDING, BUT NOT LIMITED TO, THE

IMPLIED WARRANTIES OF MERCHANTABILITY AND
FITNESS FOR A PARTICULAR PURPOSE

ARE DISCLAIMED. IN NO EVENT SHALL THE
AUTHOR OR CONTRIBUTORS BE LIABLE

FOR ANY DIRECT, INDIRECT, INCIDENTAL, SPECIAL,
EXEMPLARY, OR CONSEQUENTIAL

DAMAGES (INCLUDING, BUT NOT LIMITED TO,
PROCUREMENT OF SUBSTITUTE GOODS

OR SERVICES; LOSS OF USE, DATA, OR PROFITS; OR
BUSINESS INTERRUPTION)

HOWEVER CAUSED AND ON ANY THEORY OF
LIABILITY, WHETHER IN CONTRACT, STRICT

LIABILITY, OR TORT (INCLUDING NEGLIGENCE OR
OTHERWISE) ARISING IN ANY WAY

OUT OF THE USE OF THIS SOFTWARE, EVEN IF
ADVISED OF THE POSSIBILITY OF

SUCH DAMAGE.

am.sega.jp

Copyright (c) 1997, 1998, 2000 Doug Rabson
All rights reserved.

Redistribution and use in source and binary forms, with or
without

modification, are permitted provided that the following
conditions

are met:

1. Redistributions of source code must retain the above
copyright

notice, this list of conditions and the following disclaimer.

2. Redistributions in binary form must reproduce the above
copyright

notice, this list of conditions and the following disclaimer in
the

documentation and/or other materials provided with the
distribution.

THIS SOFTWARE IS PROVIDED BY THE AUTHOR AND
CONTRIBUTORS "AS IS" AND

ANY EXPRESS OR IMPLIED WARRANTIES,
INCLUDING, BUT NOT LIMITED TO, THE

IMPLIED WARRANTIES OF MERCHANTABILITY AND
FITNESS FOR A PARTICULAR PURPOSE

ARE DISCLAIMED. IN NO EVENT SHALL THE
AUTHOR OR CONTRIBUTORS BE LIABLE

FOR ANY DIRECT, INDIRECT, INCIDENTAL, SPECIAL,
EXEMPLARY, OR CONSEQUENTIAL

DAMAGES (INCLUDING, BUT NOT LIMITED TO,
PROCUREMENT OF SUBSTITUTE GOODS

OR SERVICES; LOSS OF USE, DATA, OR PROFITS; OR
BUSINESS INTERRUPTION)

HOWEVER CAUSED AND ON ANY THEORY OF
LIABILITY, WHETHER IN CONTRACT, STRICT

LIABILITY, OR TORT (INCLUDING NEGLIGENCE OR
OTHERWISE) ARISING IN ANY WAY

OUT OF THE USE OF THIS SOFTWARE, EVEN IF
ADVISED OF THE POSSIBILITY OF

SUCH DAMAGE.

Copyright (c) 1998 HD Associates, Inc.
All rights reserved.
contact: dufault@hda.com

Redistribution and use in source and binary forms, with or
without

modification, are permitted provided that the following
conditions

are met:

1. Redistributions of source code must retain the above
copyright

notice, this list of conditions and the following disclaimer.

2. Redistributions in binary form must reproduce the above
copyright

notice, this list of conditions and the following disclaimer in
the

documentation and/or other materials provided with the
distribution.

THIS SOFTWARE IS PROVIDED BY THE AUTHOR AND
CONTRIBUTORS "AS IS" AND

ANY EXPRESS OR IMPLIED WARRANTIES,
INCLUDING, BUT NOT LIMITED TO, THE

IMPLIED WARRANTIES OF MERCHANTABILITY AND
FITNESS FOR A PARTICULAR PURPOSE

ARE DISCLAIMED. IN NO EVENT SHALL THE
AUTHOR OR CONTRIBUTORS BE LIABLE



FOR ANY DIRECT, INDIRECT, INCIDENTAL, SPECIAL,
EXEMPLARY, OR CONSEQUENTIAL

DAMAGES (INCLUDING, BUT NOT LIMITED TO,
PROCUREMENT OF SUBSTITUTE GOODS

OR SERVICES; LOSS OF USE, DATA, OR PROFITS; OR
BUSINESS INTERRUPTION)

HOWEVER CAUSED AND ON ANY THEORY OF
LIABILITY, WHETHER IN CONTRACT, STRICT

LIABILITY, OR TORT (INCLUDING NEGLIGENCE OR
OTHERWISE) ARISING IN ANY WAY

OUT OF THE USE OF THIS SOFTWARE, EVEN IF
ADVISED OF THE POSSIBILITY OF

SUCH DAMAGE.

Copyright (c) 1998-2000 Luigi Rizzo, Universita' di Pisa
Portions Copyright (c) 2000 Akamba Corp.
All rights reserved

Redistribution and use in source and binary forms, with or
without

modification, are permitted provided that the following
conditions

are met:

1. Redistributions of source code must retain the above
copyright

notice, this list of conditions and the following disclaimer.

2. Redistributions in binary form must reproduce the above
copyright

notice, this list of conditions and the following disclaimer in
the

documentation and/or other materials provided with the
distribution.

THIS SOFTWARE IS PROVIDED BY THE AUTHOR AND
CONTRIBUTORS "AS IS" AND

ANY EXPRESS OR IMPLIED WARRANTIES,
INCLUDING, BUT NOT LIMITED TO, THE

IMPLIED WARRANTIES OF MERCHANTABILITY AND
FITNESS FOR A PARTICULAR PURPOSE

ARE DISCLAIMED. IN NO EVENT SHALL THE
AUTHOR OR CONTRIBUTORS BE LIABLE

FOR ANY DIRECT, INDIRECT, INCIDENTAL, SPECIAL,
EXEMPLARY, OR CONSEQUENTIAL

DAMAGES (INCLUDING, BUT NOT LIMITED TO,
PROCUREMENT OF SUBSTITUTE GOODS

OR SERVICES; LOSS OF USE, DATA, OR PROFITS; OR
BUSINESS INTERRUPTION)

HOWEVER CAUSED AND ON ANY THEORY OF
LIABILITY, WHETHER IN CONTRACT, STRICT

LIABILITY, OR TORT (INCLUDING NEGLIGENCE OR
OTHERWISE) ARISING IN ANY WAY

OUT OF THE USE OF THIS SOFTWARE, EVEN IF
ADVISED OF THE POSSIBILITY OF

SUCH DAMAGE.

Copyright (¢) 1999 Luoqi Chen <luogi@freebsd.org>
All rights reserved.

Redistribution and use in source and binary forms, with or
without

modification, are permitted provided that the following
conditions

are met:

1. Redistributions of source code must retain the above
copyright

notice, this list of conditions and the following disclaimer.

2. Redistributions in binary form must reproduce the above

copyright

notice, this list of conditions and the following disclaimer in
the

documentation and/or other materials provided with the
distribution.

THIS SOFTWARE IS PROVIDED BY THE AUTHOR AND
CONTRIBUTORS "AS IS" AND

ANY EXPRESS OR IMPLIED WARRANTIES,
INCLUDING, BUT NOT LIMITED TO, THE

IMPLIED WARRANTIES OF MERCHANTABILITY AND
FITNESS FOR A PARTICULAR PURPOSE

ARE DISCLAIMED. IN NO EVENT SHALL THE
AUTHOR OR CONTRIBUTORS BE LIABLE

FOR ANY DIRECT, INDIRECT, INCIDENTAL, SPECIAL,
EXEMPLARY, OR CONSEQUENTIAL

DAMAGES (INCLUDING, BUT NOT LIMITED TO,
PROCUREMENT OF SUBSTITUTE GOODS

OR SERVICES; LOSS OF USE, DATA, OR PROFITS; OR
BUSINESS INTERRUPTION)

HOWEVER CAUSED AND ON ANY THEORY OF
LIABILITY, WHETHER IN CONTRACT, STRICT

LIABILITY, OR TORT (INCLUDING NEGLIGENCE OR
OTHERWISE) ARISING IN ANY WAY

OUT OF THE USE OF THIS SOFTWARE, EVEN IF
ADVISED OF THE POSSIBILITY OF

SUCH DAMAGE.

Copyright (c) 1999 Marcel Moolenaar
All rights reserved.

Redistribution and use in source and binary forms, with or
without

modification, are permitted provided that the following
conditions

are met:

1. Redistributions of source code must retain the above
copyright

notice, this list of conditions and the following disclaimer
in this position and unchanged.

2. Redistributions in binary form must reproduce the above
copyright

notice, this list of conditions and the following disclaimer in
the

documentation and/or other materials provided with the
distribution.

3. The name of the author may not be used to endorse or
promote products

derived from this software without specific prior written
permission.

THIS SOFTWARE IS PROVIDED BY THE AUTHOR "AS
IS" AND ANY EXPRESS OR

IMPLIED WARRANTIES, INCLUDING, BUT NOT
LIMITED TO, THE IMPLIED WARRANTIES

OF MERCHANTABILITY AND FITNESS FOR A
PARTICULAR PURPOSE ARE DISCLAIMED.

IN NO EVENT SHALL THE AUTHOR BE LIABLE FOR
ANY DIRECT, INDIRECT,

INCIDENTAL, SPECIAL, EXEMPLARY, OR
CONSEQUENTIAL DAMAGES (INCLUDING, BUT

NOT LIMITED TO, PROCUREMENT OF SUBSTITUTE
GOODS OR SERVICES; LOSS OF USE,

DATA, OR PROFITS; OR BUSINESS INTERRUPTION)
HOWEVER CAUSED AND ON ANY

THEORY OF LIABILITY, WHETHER IN CONTRACT,
STRICT LIABILITY, OR TORT

(INCLUDING NEGLIGENCE OR OTHERWISE) ARISING
IN ANY WAY OUT OF THE USE OF

am.sega.jp

209

THIS SOFTWARE, EVEN IF ADVISED OF THE
POSSIBILITY OF SUCH DAMAGE.

Copyright (¢) 1999 Michael Smith <msmith@freebsd.org>
All rights reserved.

Redistribution and use in source and binary forms, with or
without

modification, are permitted provided that the following
conditions

are met:

1. Redistributions of source code must retain the above
copyright

notice, this list of conditions and the following disclaimer.

2. Redistributions in binary form must reproduce the above
copyright

notice, this list of conditions and the following disclaimer in
the

documentation and/or other materials provided with the
distribution.

THIS SOFTWARE IS PROVIDED BY THE AUTHOR AND
CONTRIBUTORS "AS IS" AND

ANY EXPRESS OR IMPLIED WARRANTIES,
INCLUDING, BUT NOT LIMITED TO, THE

IMPLIED WARRANTIES OF MERCHANTABILITY AND
FITNESS FOR A PARTICULAR PURPOSE

ARE DISCLAIMED. IN NO EVENT SHALL THE
AUTHOR OR CONTRIBUTORS BE LIABLE

FOR ANY DIRECT, INDIRECT, INCIDENTAL, SPECIAL,
EXEMPLARY, OR CONSEQUENTIAL

DAMAGES (INCLUDING, BUT NOT LIMITED TO,
PROCUREMENT OF SUBSTITUTE GOODS

OR SERVICES; LOSS OF USE, DATA, OR PROFITS; OR
BUSINESS INTERRUPTION)

HOWEVER CAUSED AND ON ANY THEORY OF
LIABILITY, WHETHER IN CONTRACT, STRICT

LIABILITY, OR TORT (INCLUDING NEGLIGENCE OR
OTHERWISE) ARISING IN ANY WAY

OUT OF THE USE OF THIS SOFTWARE, EVEN IF
ADVISED OF THE POSSIBILITY OF

SUCH DAMAGE.

Copyright (c) 1999 John D. Polstra
Copyright (c) 1999,2001 Peter Wemm <peter@FreeBSD.org>
All rights reserved.

Redistribution and use in source and binary forms, with or
without

modification, are permitted provided that the following
conditions

are met:

1. Redistributions of source code must retain the above
copyright

notice, this list of conditions and the following disclaimer.

2. Redistributions in binary form must reproduce the above
copyright

notice, this list of conditions and the following disclaimer in
the

documentation and/or other materials provided with the
distribution.

THIS SOFTWARE IS PROVIDED BY THE AUTHOR AND
CONTRIBUTORS "AS IS" AND

ANY EXPRESS OR IMPLIED WARRANTIES,
INCLUDING, BUT NOT LIMITED TO, THE

IMPLIED WARRANTIES OF MERCHANTABILITY AND
FITNESS FOR A PARTICULAR PURPOSE



210

ARE DISCLAIMED. IN NO EVENT SHALL THE
AUTHOR OR CONTRIBUTORS BE LIABLE

FOR ANY DIRECT, INDIRECT, INCIDENTAL, SPECIAL,
EXEMPLARY, OR CONSEQUENTIAL

DAMAGES (INCLUDING, BUT NOT LIMITED TO,
PROCUREMENT OF SUBSTITUTE GOODS

OR SERVICES; LOSS OF USE, DATA, OR PROFITS; OR
BUSINESS INTERRUPTION)

HOWEVER CAUSED AND ON ANY THEORY OF
LIABILITY, WHETHER IN CONTRACT, STRICT

LIABILITY, OR TORT (INCLUDING NEGLIGENCE OR
OTHERWISE) ARISING IN ANY WAY

OUT OF THE USE OF THIS SOFTWARE, EVEN IF
ADVISED OF THE POSSIBILITY OF

SUCH DAMAGE.

Copyright (c) 1999, 2000, 2001 Robert N. M. Watson
All rights reserved.

Redistribution and use in source and binary forms, with or
without

modification, are permitted provided that the following
conditions

are met:

1. Redistributions of source code must retain the above
copyright

notice, this list of conditions and the following disclaimer.

2. Redistributions in binary form must reproduce the above
copyright

notice, this list of conditions and the following disclaimer in
the

documentation and/or other materials provided with the
distribution.

THIS SOFTWARE IS PROVIDED BY THE AUTHOR AND
CONTRIBUTORS "AS IS" AND

ANY EXPRESS OR IMPLIED WARRANTIES,
INCLUDING, BUT NOT LIMITED TO, THE

IMPLIED WARRANTIES OF MERCHANTABILITY AND
FITNESS FOR A PARTICULAR PURPOSE

ARE DISCLAIMED. IN NO EVENT SHALL THE
AUTHOR OR CONTRIBUTORS BE LIABLE

FOR ANY DIRECT, INDIRECT, INCIDENTAL, SPECIAL,
EXEMPLARY, OR CONSEQUENTIAL

DAMAGES (INCLUDING, BUT NOT LIMITED TO,
PROCUREMENT OF SUBSTITUTE GOODS

OR SERVICES; LOSS OF USE, DATA, OR PROFITS; OR
BUSINESS INTERRUPTION)

HOWEVER CAUSED AND ON ANY THEORY OF
LIABILITY, WHETHER IN CONTRACT, STRICT

LIABILITY, OR TORT (INCLUDING NEGLIGENCE OR
OTHERWISE) ARISING IN ANY WAY

OUT OF THE USE OF THIS SOFTWARE, EVEN IF
ADVISED OF THE POSSIBILITY OF

SUCH DAMAGE.

Copyright (¢) 1999,2000,2001 Jonathan Lemon <jlemon@
FreeBSD.org>

All rights reserved.

Redistribution and use in source and binary forms, with or
without

modification, are permitted provided that the following
conditions

are met:

1. Redistributions of source code must retain the above
copyright

notice, this list of conditions and the following disclaimer.

2. Redistributions in binary form must reproduce the above
copyright

notice, this list of conditions and the following disclaimer in
the

documentation and/or other materials provided with the
distribution.

THIS SOFTWARE IS PROVIDED BY THE AUTHOR AND
CONTRIBUTORS "AS IS" AND

ANY EXPRESS OR IMPLIED WARRANTIES,
INCLUDING, BUT NOT LIMITED TO, THE

IMPLIED WARRANTIES OF MERCHANTABILITY AND
FITNESS FOR A PARTICULAR PURPOSE

ARE DISCLAIMED. IN NO EVENT SHALL THE
AUTHOR OR CONTRIBUTORS BE LIABLE

FOR ANY DIRECT, INDIRECT, INCIDENTAL, SPECIAL,
EXEMPLARY, OR CONSEQUENTIAL

DAMAGES (INCLUDING, BUT NOT LIMITED TO,
PROCUREMENT OF SUBSTITUTE GOODS

OR SERVICES; LOSS OF USE, DATA, OR PROFITS; OR
BUSINESS INTERRUPTION)

HOWEVER CAUSED AND ON ANY THEORY OF
LIABILITY, WHETHER IN CONTRACT, STRICT

LIABILITY, OR TORT (INCLUDING NEGLIGENCE OR
OTHERWISE) ARISING IN ANY WAY

OUT OF THE USE OF THIS SOFTWARE, EVEN IF
ADVISED OF THE POSSIBILITY OF

SUCH DAMAGE.

Copyright (¢) 2000 Brian Somers <brian@Awfulhak.org>
All rights reserved.

Redistribution and use in source and binary forms, with or
without

modification, are permitted provided that the following
conditions

are met:

1. Redistributions of source code must retain the above
copyright

notice, this list of conditions and the following disclaimer.

2. Redistributions in binary form must reproduce the above
copyright

notice, this list of conditions and the following disclaimer in
the

documentation and/or other materials provided with the
distribution.

THIS SOFTWARE IS PROVIDED BY THE AUTHOR AND
CONTRIBUTORS "AS IS" AND

ANY EXPRESS OR IMPLIED WARRANTIES,
INCLUDING, BUT NOT LIMITED TO, THE

IMPLIED WARRANTIES OF MERCHANTABILITY AND
FITNESS FOR A PARTICULAR PURPOSE

ARE DISCLAIMED. IN NO EVENT SHALL THE
AUTHOR OR CONTRIBUTORS BE LIABLE

FOR ANY DIRECT, INDIRECT, INCIDENTAL, SPECIAL,
EXEMPLARY, OR CONSEQUENTIAL

DAMAGES (INCLUDING, BUT NOT LIMITED TO,
PROCUREMENT OF SUBSTITUTE GOODS

OR SERVICES; LOSS OF USE, DATA, OR PROFITS; OR
BUSINESS INTERRUPTION)

HOWEVER CAUSED AND ON ANY THEORY OF
LIABILITY, WHETHER IN CONTRACT, STRICT

LIABILITY, OR TORT (INCLUDING NEGLIGENCE OR
OTHERWISE) ARISING IN ANY WAY

OUT OF THE USE OF THIS SOFTWARE, EVEN IF
ADVISED OF THE POSSIBILITY OF

SUCH DAMAGE.

am.sega.jp

Copyright (c) 2000 Mark R. V. Murray
All rights reserved.

Redistribution and use in source and binary forms, with or
without

modification, are permitted provided that the following
conditions

are met:

1. Redistributions of source code must retain the above
copyright

notice, this list of conditions and the following disclaimer
in this position and unchanged.

2. Redistributions in binary form must reproduce the above
copyright

notice, this list of conditions and the following disclaimer in
the

documentation and/or other materials provided with the
distribution.

THIS SOFTWARE IS PROVIDED BY THE AUTHOR "AS
IS" AND ANY EXPRESS OR

IMPLIED WARRANTIES, INCLUDING, BUT NOT
LIMITED TO, THE IMPLIED WARRANTIES

OF MERCHANTABILITY AND FITNESS FOR A
PARTICULAR PURPOSE ARE DISCLAIMED.

IN'NO EVENT SHALL THE AUTHOR BE LIABLE FOR
ANY DIRECT, INDIRECT,

INCIDENTAL, SPECIAL, EXEMPLARY, OR
CONSEQUENTIAL DAMAGES (INCLUDING, BUT

NOT LIMITED TO, PROCUREMENT OF SUBSTITUTE
GOODS OR SERVICES; LOSS OF USE,

DATA, OR PROFITS; OR BUSINESS INTERRUPTION)
HOWEVER CAUSED AND ON ANY

THEORY OF LIABILITY, WHETHER IN CONTRACT,
STRICT LIABILITY, OR TORT

(INCLUDING NEGLIGENCE OR OTHERWISE) ARISING
IN ANY WAY OUT OF THE USE OF

THIS SOFTWARE, EVEN IF ADVISED OF THE
POSSIBILITY OF SUCH DAMAGE.

Copyright (¢) 2000, 2001 Jake Burkholder <jake@freebsd.
org>.

All rights reserved.

Redistribution and use in source and binary forms, with or
without

modification, are permitted provided that the following
conditions

are met:

1. Redistributions of source code must retain the above
copyright

notice, this list of conditions and the following disclaimer.

2. Redistributions in binary form must reproduce the above
copyright

notice, this list of conditions and the following disclaimer in
the

documentation and/or other materials provided with the
distribution.

THIS SOFTWARE IS PROVIDED BY THE AUTHOR AND
CONTRIBUTORS "AS IS" AND

ANY EXPRESS OR IMPLIED WARRANTIES,
INCLUDING, BUT NOT LIMITED TO, THE

IMPLIED WARRANTIES OF MERCHANTABILITY AND
FITNESS FOR A PARTICULAR PURPOSE

ARE DISCLAIMED. IN NO EVENT SHALL THE
AUTHOR OR CONTRIBUTORS BE LIABLE

FOR ANY DIRECT, INDIRECT, INCIDENTAL, SPECIAL,
EXEMPLARY, OR CONSEQUENTIAL

DAMAGES (INCLUDING, BUT NOT LIMITED TO,



PROCUREMENT OF SUBSTITUTE GOODS

OR SERVICES; LOSS OF USE, DATA, OR PROFITS; OR
BUSINESS INTERRUPTION)

HOWEVER CAUSED AND ON ANY THEORY OF
LIABILITY, WHETHER IN CONTRACT, STRICT

LIABILITY, OR TORT (INCLUDING NEGLIGENCE OR
OTHERWISE) ARISING IN ANY WAY

OUT OF THE USE OF THIS SOFTWARE, EVEN IF
ADVISED OF THE POSSIBILITY OF

SUCH DAMAGE.

Copyright (¢) 2001
Bosko Milekic <bmilekic@FreeBSD.org>. All rights reserved.

Redistribution and use in source and binary forms, with or
without

modification, are permitted provided that the following
conditions

are met:

1. Redistributions of source code must retain the above
copyright

notice, this list of conditions and the following disclaimer.

2. Redistributions in binary form must reproduce the above
copyright

notice, this list of conditions and the following disclaimer in
the

documentation and/or other materials provided with the
distribution.

3. The name of the author may not be used to endorse or
promote products

derived from this software without specific prior written
permission.

THIS SOFTWARE IS PROVIDED BY THE AUTHOR AND
CONTRIBUTORS "AS IS" AND

ANY EXPRESS OR IMPLIED WARRANTIES,
INCLUDING, BUT NOT LIMITED TO, THE

IMPLIED WARRANTIES OF MERCHANTABILITY AND
FITNESS FOR A PARTICULAR PURPOSE

ARE DISCLAIMED. IN NO EVENT SHALL THE
AUTHOR OR CONTRIBUTORS BE LIABLE

FOR ANY DIRECT, INDIRECT, INCIDENTAL, SPECIAL,
EXEMPLARY, OR CONSEQUENTIAL

DAMAGES (INCLUDING, BUT NOT LIMITED TO,
PROCUREMENT OF SUBSTITUTE GOODS

OR SERVICES; LOSS OF USE, DATA, OR PROFITS; OR
BUSINESS INTERRUPTION)

HOWEVER CAUSED AND ON ANY THEORY OF
LIABILITY, WHETHER IN CONTRACT, STRICT

LIABILITY, OR TORT (INCLUDING NEGLIGENCE OR
OTHERWISE) ARISING IN ANY WAY

OUT OF THE USE OF THIS SOFTWARE, EVEN IF
ADVISED OF THE POSSIBILITY OF

SUCH DAMAGE.

TELNET OR&ZED—&R

Copyright (c) 1983 Regents of the University of California.

All rights reserved.
Copyright (c) 1985 Regents of the University of California.
All rights reserved.

Copyright (c) 1989 The Regents of the University of
California.

All rights reserved.

Copyright (c) 1991 The Regents of the University of
California.

All rights reserved.

Redistribution and use in source and binary forms are
permitted

provided that: (1) source distributions retain this entire
copyright

notice and comment, and (2) distributions including binaries
display

the following acknowledgement: **This product includes
software

developed by the University of California, Berkeley and its
contributors"

in the documentation or other materials provided with the
distribution

and in all advertising materials mentioning features or use of
this

software. Neither the name of the University nor the names of
its

contributors may be used to endorse or promote products
derived

from this software without specific prior written permission.

THIS SOFTWARE IS PROVIDED "AS IS" AND WITHOUT
ANY EXPRESS OR

IMPLIED WARRANTIES, INCLUDING, WITHOUT
LIMITATION, THE IMPLIED

WARRANTIES OF MERCHANTABILITY AND FITNESS
FOR A PARTICULAR PURPOSE.

TFTP DRED—ER

Copyright (c) 1983 Regents of the University of California.
All rights reserved.

Redistribution and use in source and binary forms are
permitted

provided that the above copyright notice and this paragraph
are

duplicated in all such forms and that any documentation,
advertising materials, and other materials related to such

distribution and use acknowledge that the software was
developed

by the University of California, Berkeley. The name of the

University may not be used to endorse or promote products
derived

from this software without specific prior written permission.

THIS SOFTWARE IS PROVIDED "AS IS" AND WITHOUT
ANY EXPRESS OR

IMPLIED WARRANTIES, INCLUDING, WITHOUT
LIMITATION, THE IMPLIED

WARRANTIES OF MERCHANTIBILITY AND FITNESS
FOR A PARTICULAR PURPOSE.

am.sega.jp

211



212

MEMO



I ES I

fKEEH £ A H
!|S B LM BH OYRF1OIP-ER

Sega Logistics Service Co., Ltd.

HRAZIYR— b

55 RS % TEL B Y E
T PEHFEI—F ( )
£ Fr
K%k TEL HigEYE
T HFEHRI—F ( )
* FR
HHm SER # B W %
EARAE - [EBE - &% - KRB - FHATEHEE - T ( )]

IT5—&S

Io5—Avtv—o

ALL.Net SEAH

[EliRtER] B~ LwY [JISDN

EAR SER # AN
HEEZ A = B H ARZIY R — MBI
_ _ TEL FAX
EEE *{5 H )—4
{ERRIESTEE = = Y 7U=F1wi 0120-412-159 | 0120-492-041
52 s1E BIEOMKFEIL., KERRONEFIEZEA L.

FAX CxfELTLIEELY,

HONM CHEFETDEED HNIE. FHICHED
TBHIENTEXT,

IR HHMD> ) 7))V F > N— (SER #) (34
FERALTLIEEL,
BERERBEDEETIV T7HELGDHEIE.
B CXOWELE T,

REDABIC £ > CEBROFES & TETFOD
BERIAAE T,

am.sega.jp

19A9



am.sega.jp



Y—ERE

FAX 1 0120-011-422

BEVNELERO (2EHBT ) —41+¥)l) 0120-412-159

San X E
#EE &£ A 8

!|S Bt 2 H B OURF1OIY-ER

Sega Logistics Service Co., Ltd.

HRAZITR—k

BHEIXES
PR T FFR T
BYES ! BYES !

TEL : ( ) TEL : ( )

FAX : ( ) FAX : ( )

BRI —F: — FREI— R —
FRICERRBSIX. SBARNOGVELSICLTLIETL,

¥ E 4 MEmES m W % HE s =

FiX75k B ol - 5] (B )| % -
HREFER ! F A H
SCHNSRAE -

SLS RAJHEZE

19A10

am.sega.jp



am.sega.jp



xELHL - ¥

HHEEE

((EEES

X LEEDZE T HIREZE AL THA TLIEEL,

FAX 1 0120-011-422

BEVWEDERO  (2EHBT ) —41V)L) 0120-412-159

KEEH £ A H
!|S BAaH B OURAF1OIP-ER

Sega Logistics Service Co., Ltd.

HRZIYPR—k

ARDREEREZ2 LA L. FAX TIREL T EEL,

BRI PR
5 2%
FPR T FPR T
HYEH HYEH
TEL : () FAX : C ) TEL : « ) FAX : C )
s - 7 — L% BIEaLERS (1) 7)1V No.) % B H

ANXAA - R
OBF&HL @EIRGEES )

mmE S W m % M= fis =z
1
2
3
4
5

W BIRBNERS (V) 7)IVFVIIN—) ERFTERALTLEEL,

SEALGVE, REEFENTH 2 THE

ERWN<GRHEEDH Y ET,

i FHEEE 1600 LIBOSF 13915, BEERICHELET,

X BHmHEROT ¥ U IVETEE A, FAXABRZERSED L. XELTLLEL,

SLS f£ 1R
IVh)—IE8H
e H oa £ =44 No. | HEE fim =
1
2
3
4
5

19A11

am.sega.jp



am.sega.jp



SEVEHLEE

et - 122597147

A T141-0033 HRHL/IIXERII—TE1HE1S5ERFHERGH—T 2T —

PERARFEES T 141-0033 HRHFG/IIXER)I—TB1HE15 EFRABEAGH—T 2T —
TEL : 03-6864-6974

A&ttt hH - AR T VA —ER

ARZIYR—F (F—LEICEAT SEER0O)

oJ]. 0120-412-159 zmsum

BEARZMEE FH 9:00~12:00,13:00~18:30
K BRSOV TIE, FRERTRITMIITITVET,
X #mEE. PHS OO LFATELT,

SHEHMEIEDIKIE

FAX : 0120-492-041 cmstm)
MRBOEY - 8 L L OIS

FAX 1 0120-011-422 @it

% BEEX. KELELOLBHERT 16:00

% mE. M. IRFEEEE. ZOMERICET SEREAF LIEVGEIESLS e-TF 1k
M P-support /N\—YHR— b NET) ZFB L TLEE W, BfR CERmE SR CEEX T,
<URL> http://www.sls-net.co.jp/e-site/ C¥BRIETRNNETT )

55 1 hR

19A13



am.sega.jp



	保証について
	ALL.Net利用手続きと営業使用許諾について
	マニュアルの紹介
		警告表示についての説明
		店舗メンテナンスマン、技術者（サービスマン）の定義
		本書の表記について
		使用する工具について
		部品リストの見方
		キーチップについて

	目次
		1	製品仕様
	1-1  仕様
	1-2  各部の名称
	1-3  製品製造番号と電気仕様表示

		2	取り扱い上の注意
		3	設置場所の注意
	3-1  使用条件
	3-2  運営面積の制限

		4	運営時の注意
	4-1  運営上の注意
	4-2  お客様への注意

		5	付属部品
		6	設置
	6-1  キャビネットの組み立て
	6-1-1  キャビネット1Pとキャビネット2Pの連結
	6-1-2  プレイヤーカメラの取り付け
	6-1-3  ビルボードの取り付け
	6-1-4  サイドカバーとビルボードポップの取り付け
	6-1-5  キーチップの取り付け
	6-1-6  ルーターユニットの取り付け

	6-2  設置場所への固定
	6-3  LANケーブルの接続
	6-3-1  1台で稼働する場合
	6-3-2  2台で稼働する場合
	6-3-2-A  サーバー機
	6-3-2-B  クライアント機


	6-4  電源、アースの接続
	6-5  ソフトインストール
	6-5-1  1台で稼働する場合
	6-5-2  2台で稼働する場合
	6-5-2-A  サーバー機
	6-5-2-B  クライアント機



		7	セットアップ
	7-1  設置直後のセットアップ
	7-1-1  電源投入
	7-1-2  ソフトの各種設定
	7-1-3  動作確認
	7-1-4  音量調整

	7-2  毎日のセットアップ

		8	移動時の注意
		9	定期点検
		10	トラブルシューティング
		11	液晶モニター、タッチセンサ、ヘッドホンジャック
	11-1  清掃
	11-1-1  タッチセンサ表面の清掃
	11-1-2  タッチセンサ裏面と液晶モニター表面の清掃

	11-2  液晶モニターの調整
	11-2-1  調整基板へのアクセス
	11-2-2  調整方法

	11-3  液晶モニターの交換
	11-4  タッチセンサユニットの交換
	11-5  ヘッドホンジャックボードの交換

		12	ボタン
	12-1  交換方法
	12-2  グリスアップ

		13	コインセレクター
	13-1  コイン投入テスト
	13-2  コインセレクターの取り外し
	13-3  コインセレクターの清掃
	13-4  コイン詰まりの対処

		14	コードリーダーカメラ
	14-1  コードリーダーカメラユニットの交換
	14-2  カメラ識別コードの清掃

		15	カードエントリーの清掃
		16	プレイヤーカメラ
	16-1  清掃
	16-2  交換方法

		17	ヒューズの交換
		18	ALLS HX2（オールス エイチエックスツー）
	18-1  ALLS HX2ユニットの取り外し
	18-2  ALLS HX2の清掃
	18-3  ALLS HX2の交換

		19	多目的ブラケット
		20	デザイン部品
		21	部品リスト
	21-1  キャビネット
	21-2  ルーターキット

		22	総合配線図
	第三者権利表記
	訪問作業依頼書
	サービス部品注文書
	先貸し出し・現物修理　依頼書
	お問い合わせ先



